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S°D @860 } wond A—B=
(a){A,S,0,C,LTN} (b){A,S,0,C.LT,E} (c){N} (d){E}
(37) A={ x: x 3586 ASSISTANCE %0 5° 9860 }, B={ x: x o5& ASSISTANT ¢
S°D 880 } o0
(aA)AUB=B(h))ANB=B (c)AUB=¢ (d)AcB
(38) BETTER &9 H¢%0 &5°Q evgoee) ardee 8o
(a){B,E,TR} (b){B,E} (c){B.ER} (d){B,E,T}
(39) A ={5,10,15,20,25,30},B = {15,30,45,60} eowd n(AUB)=
(a)6 (b)4 (c)8 (d)2
(40) A,B en dosng Hoden wdosw A UB ={2,3,5,8,13,21,34},A = {3,13,21,34}
€900 B=
(a){2,3,5.8} (b){2,5.8} (c) ¢ (d) A
(41) A,B oo {oé)y;‘avi)l HEOIDCITNOD) PO
(a)AUB () ANB (¢) A-B (d)B-A
(42) A,B 20800 36 D000 GrosrT
(a)AUB () ANB (¢) A-B (d)B-A
(43) A,B 20800 B8ty D000 ol
(a)AUB ())ANB (c) A-B (d)Bc A
(44) A c B @00 AUB

(@A (B)B ()¢ (d) u
(45)Bc A o AUB

(@)A O)B (c)¢ (d) u
(46) A c B @0 AN B

(@A (D)B (c) ¢ (d) u
16
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(47) Bc A ®a0nd ANB

(@)A (b)B (c) ¢ (d) n
(48)ANng=¢gN A=

(@A D)u (o) ¢ (d) JdgowosSdmw
(AANpu=unA=

(@A D)p ()¢ (d) dgowowsdan
(50)A < B @0 A—B

(@A (BB (c) ¢ (d) 1
(51) A c B 8o B A =

(a)A=B (b)A=B (¢) AUB=¢ (d)ANnB=¢
(52) (A—B)N(B—A) =

(@)AuB (D)u (c) ¢ (d) AnB
(53)(A—B)U(B—A) =

(@)AUB ())ANB (c) ¢ (d) AAB
(54){x:xcAS> xcB} =

(A)AUB (h))A-B (¢)B-A (d) AnB
(55{x:xe AdodasvxeB} =

(A)AUB (h))A-B (¢)B-A (d) AnB
(56){x:xe A 08050 x¢B} =

(@)AUB (H)A-B (¢)B-A (d) AnB
(57){x:xg A 803w xeB} =

(@)AUB (P)A-B (c)B-A (d) ANB
(58{x:xeA= xeB} =

(a)AUB ())AcB (¢)Bc A (d) AnB
(59) n(A UB)=14,n(A) = 8,n(A N B)=4 esand n(B)=

(a)18 ()22 ()10 (d)12

(60) A UA=ANA=
(@A D)u ()¢ (d) dgowowsdan

ANSWERS
1. (A) 2. (B) 3. (D) 4. (D) 5. (C) 6. (A) 7. (B) 8. (C) 9. (D) 10. (C) 11.
(B) 12. (B) 13. (C) 14. (A) 15. (D) 16. (C) 17. (C) 18. (C) 19. (D) 20.
(C) 21. (C) 22. (D) 23. (C) 24. (A) 25. (A) 26. (D) 27. (B) 28. (B) 29.
(C) 30. (D) 31. (B) 32. (B) 33. (A) 34. (B) 35. (B) 36. (C) 37. (B) 38. (A)
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39. (C) 40. (B) 41. (A) 42. (B) 43. (C) 44. (B) 45. (A) 46. (A) 47. (B) 48.

(C) 49. (B) 50. (C) 51. (A) 52. (C) 53. (D) 54. (A) 55. (D) 56. (B) 57.
(C) 58. (B) 59. (C) 60. (A)
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3. 2TPVD

DOVDA: X w8 FVT°I, 1 28 SO Y Vo] BB 4, a,,d,, s, ..., @, QO QB0
(TP Dogew) WAND [ (x) = ax" +ax"™ +a,x" 7 +ax"” + ...+ a,, B0 SOTI x
S*HDA 90tID.

GO 3x’ —4x+1, x° =1, 2x+1, 5 e e53P0hEen.

2TV AIE); BEHD: 25TVNO S 2wE DD eaeésas Pt EOAD €8 HIPGHVRD €8
DITVDE CADE) SEHA (DB 00) oD,

H0DE: 1. “0” S6HA T o TVIA D ?86 2ISTPVDE €90C0.

ii. “1” SOHD T° (10 23TV D BHAD LZTVHE oEID.

11l “27 S6AS T (0 XD I DY LZTVDG oot

V. “3” S804 ™ (10 LITVIA D DO LITVIO Yo

V. “4” 66D ™ (0 TVDO &Sbséoﬁ DY TN VoD,

VI, f(x) 208 033000 00030 o 2.8 Do Rof O PO Doy @, f(¥)W x=a
H¢ e30B00R0 B3 B Dewsd f ()

BTV AE), AP 08 T°YD VoY o A WIVDE S(x) cB0g); 358 weH
f(a)=0 5°080.

ABODE: 1. “n” SBAB T (10 LTVDO S 1 BTHFDeNHL &0t aD.

ii. 2§ A0 M AEFDE DocidaPew LTVDE X- WK D0 L) PGotBoE WD,
iii. a08as0 fen O VDO f(x)=ax’ +bx+c G0E BrdgDenDe WOND

a+p=-L soecsoap=<.
a a

V. a, 208050 y e R DO [f(x) = ax’ +bx’ +cx +d B BRIDUID VoD

a+ﬁ+7/=—é, aﬂ+ﬂ7+7/a=£ aﬁoéoﬁooaﬁyzi.

a a a
V. @ 08030 [ e 3Rd5Denden M o O¢ LoD f(x) =x’ —(a + f)x+af
VI, @, f Q00050 7 20 BRIV I (10 00 TN

f()=x"~(a+B+y)x" +(af+ Py +ye)x—afy
Fragd dgrodo: f(x) BAIL g(x) e TVDOL &BOID g(x) # 0, oD

S () =g(x)q(x)+r(x) &TV0E g(x) 00030 r(x) @& r(x)=0 TE B4 r(x) <
SGHD g(x) and r(x) = 0.
IR dgrodo: f(x) A0 x—a D oS Sy Fo f(a).
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F QoD DBDJeN:
QDR (1) 52008 x° —3x* +2x—1 G3E); DOEFBVD0

@l D)2 ()3 (d)4
Jocsy: PTVDO B, (18 BGAB 3, PR LTV X' =3x7 +2x—1 3o HOEFL0B0

3

DATGERH0: Do (0)

R0 (2) 000 3x” +2x -1 ding), ArdEDensen
@-15 G)-1-3 (@3- @-3-1

FesS: a S00a3 fen f(x)=ax’+bx+ec, WBoog); BRIV esoo.)eéa+,8=—2
° a
208030 aff = <.

a

o =—130605 f3 =%
DATEEHo: PySo (a)

D201g: (3) The sum of zeroes of the 200G 3x* +2x—1is
2 4
(a)—g (b)—g ()2 (d)-4
Jecsn: 1 @ 00080 S 006 f(x) = ax® + bx + ¢, Gog), BrdgDeRID WOND
a+p=-L ssecsoap=<.
a a
1
@ =100k fi=
2
La+f=—-=
p 3

DATEH0: DySo(a)
MULTIPLE CHOICE QUESTIONS

(1) 808 T°IS° 570N A&

(@)xX*+\2x+4 D)X +2x+4  (0) ¥ +2x—2 ()2 ¥*+2x+4
(2) 808 T°IS° LETVHE IS

(@)2x> +4x> +5 (b)% +AX +4x+9 () 230 +4xX° +5Vx +9 (d)2x 7 +4x> +5
X

(3) 4x° =5x*+x—1 ABo0g), DOFFBVH0

(@l (D)2 ()3 (d)4
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(4) «Dg EAYOLOYeTAY 033396 DO A0
(@l (B2 (03 (d)4
(5) 200 ZTVHE B0 DOETVD
(@l ()2 ()3 (d)4
(6) BDOH e3ZTVDO a X +b A, BT Dewsd

a a b b
(a) b (b) S () P (d)—;
(7) p(x)=x"=5x-10 ®ond p(-2)B0E), Ded
(a)l )2 ()3 (d)4
(8) p(x)=x"-3x+1 ewond p(1)+ p(-1) =
(a)-1 B0 (05 (d)4
9) p(x)=x"+kx-8 A0, 2EBPI[0 4 WOND k =
(a)l b2 (o)-1 (d)-2
(10) e300 x* -9 dIg), Hrarged
(a)£3 ()29 (¢)0,9 (d)£81
(11) 372058 x> —2x—3 ) BTTge
(@3,1  (B)-3,-1 (©)3,-1 (d)-3,1
(12) a8 x” = 54/2x +12 Bwg), sormrien
@232,3V2  (0)-242,-3V2  (0)-242,32  (d)2V2,-32
(13) p(x)=x"—10x+25 Boog) 30Dy Dewd

(a)5 b6  (c)=5 (d) 4

(14) o000 x'—x’ ding) rarge
(a)0,-3 »)0,-1  (c)0,1 (d)1,-1
(15) exd0dd x° —4x AB0E), BTy
(a)O,i\E 5)0,+1 (¢)0,£4 (d)0,£2
2 1
(16) &35P0Ds x +gx—2 B0 B0

3 4 3 4 3 4 3 4
_)_ b__ﬂ_ _7__ d__7__
@23 O-2.7 ©3-3 (@-3,-3

(17) 2 &0d6asw —3 e BPTFROT (0 HY TVDO

(@) x*—x—6 (b)) x*+x-6 (c)x"+x+6 (d)x"—x+6
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1
(18) Z 00odw —1 ew BT (10 OY TVDG

(@)4x* +3x+1  (b) 4x° =3x+1 (c)4x*-3x—1 (d)4x*+3x-1
(19) B0 Qoo —3  Hodasw B[R OO —10 ™ do écg 2TVDO
(a)x* +3x+10 (b)) x> =3x+10 (c) x*=3x-10 (d) x*+3x-10
(20) ax’+bx+c 5TVHO Goog), HTTR 2o - oD
(@) a=0 (b) b=0 (¢) c=0 (d)a=c
(21) ax’+bx+c e0O0 AC0E); FT°[O VO 0 e9000
(@) a=0 (b) b=0 (¢) c=0 (d)a=c
(22) X* —4x+3 25006 C0E), FFRRgL Dwgo
(@3 ()4 ()-3 (d)-4
(23) x> —4 235006 W) BT§L Do
(@2 (b)) -2 ()4 (@O0
(24) 0 206050 /5 &0 FrRT§ROT o IY LD
(a)x2+\/§x (b)xz—\/gx (c) x*=5x (d) x*+5x
(25) a,f eo x'—x—6 LTVHO CR0E) ARG wand o+ f=
(@l (0)2 () 6 (d) -1
(26) @, e X°+2x—8 exX0d ABo0E); BRI WO a’f+apf’ =
()-8 (b)-2 (c) 16 (d) —16
(27) a,f X2 =3x 42 X006 B0 BIPR°GRD 90D a3+ﬂ3:

(@1 ()3 (¢) 6 (d)9

(28) a,f e 3x7+12x—12 exzodd CR0E), BPT/HRD 9AND
(@) a+p=af GB)a+p<af (¢c) a+p>af () a+p=—af

(29) a,f e 6x° —5x +1 253000 ABo0E), BTG 9O l+l =
a

5 1
— b) — 5 (d) -5
(a) 6 (b) 6 ()5 (d)
(30) Ax® —(k+1)x =3 3006 GBE), 3rrge Dowdo % ad k dewd

(a) 7 ()6 (¢) =7 (d)-6
(31) X’ +(a+Dx+b exz0dd Boog), BTgen 3 0Bos» 4 od a,b denden

(@) 8,12 (b)8,~12 (c) -8,12 (d)-8,-12
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(32) x*—2kx+8 G3008), WEHTH0 2 oD k =
(a)3 B2 (0)-4 (d)4

(33) 2x° +kx’ —14x +8 33000 o), BPT§R Dwdo % 9000 k Dewd
(@7 (b)=2 (o) =7 (d)-5

(34) @B,y o X' +4x" +5x 2 xT0dd dhog) FrTjen WS aff + By +ya =
(@5 (B)=5 (c)4 (d) -4

(35) a,fB,7 o 2x° +8x” —6x—2 e3XT0HO B0, BT°ge0 VO A+ f+y =
(@5 (0)=5 ()4 (d) -4

(36) @, B,y e X’ +5x7 + kx +4 dhog) 3rarien 2060k aff+ By +ya =0 eond k

DD

(@2 B)-2 ()0 (@) -1

(37) @, B,y &0 X’ +3x" —x—2 e3XT0H0 WBo0E); BT ge0 VoD affy =
(@2 (b)=2 ()3 (d) -1

(38) p(x)=g(x)q(x)+7r(x) & p(x) HDOArea0 = g(x) HBAIEI0 oD g(X) DORAEI0
(@) 0 (b)) 1(c) 2(d) 3

(39) ax’ +bx’ +cx+d e50H0 G0, Tocd HTTPERD 0 0D TP ATHIDD

b b
@= B)=-= (= (d) -=
a a a a
(40) p(x)=x"—5x+6,g(x) =x—2 06050 r(x)=0 ond g(x)=
(@) x-3 (b) x—4 (¢)x+2(d) x+3
(41) p(x)=5x"-x"+6x-7 ABooE); DOETBOH[D
(@l D)2 ()3 (d)4
(42) p(x)=5x"-6x"+7x-6 & x° theago
(@5 ()6 (c)-6 (d)7
(43) f’gd QTVDE AIE); DOEFLOBD
(@l ()2 ()3 (d)0
(44) BDODH TVDG G0, DOETBO[0

(@l ()2 ()3 (d)0
(45) BDOL LVDO p(x) = 2x — 5 CIVE), BPdg Dewsd

2 2 5 5
(@) g (b) —g (¢) E (d)—z

(46) 1 0603w 3 ew BoeTfOT™ e bg 2TVDA
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(a) x> +4x+3 (b)) X’ —4x+3 (¢)x*—4x-3 (d) x*+4x-3
(47) X* +7x+10 e300 g, HTT[R dwdo
(a7 ()10 (¢) -7 (d)-10
(48) x*—2x-15 G0, 2EBPH[0 -3 AW Tocisd HPVDeND
(a)3 b5 (=3 (d)-5
(49) x* —3x—4 5850 X e.o:sm‘i)‘l&podoii DocHS’ 2,88 (—1,0) wod 8E Do
(@) (=4,0) (b) (4.0) (o) (=3,0) (d) (3,0)
(50) x*+6x+ pdgsn X eomd) w8 Dot G Do p Dewd
(@9 B) -9 (o 3 (d)-3
(51) p(x) 5000 CIE) AL DOEFAVDD 119AD p(X) S Horo Qogg (1030
(a) 2n (b) n (¢) n+1 (d) n-1
(52) /3 208080 —/3 en Brmegenre o 96 e
(@) x*+3 () x*=3 (¢)x*+9 (d)x*-9
(53) 4x’—4x+k &8 w8 350 $90 08 k Ded
(a)3 »2 (ol (@d)-1
(54) 08 5000 dBog); DEo X e.o:sm‘i)‘l&podoé s:og DotvsHv 203
(a)3 b2 (ol (d)0
(55) 00 3T0DH B, Do X @?bla)o&oé (1053 Dot Qo
(a)3 b2 (ol ()0
(56) QoGS0 S°00DD 0D LETVDE Cog), BTGV VYO
(a) 0 b) 1 (02 (d) JdsgosSan
(57) a,f,7 e X’ +4x> —5x—2 ez B0, BPgeD WAd aff+ By +ya =
(@5 (0)-5 ()2 (d) -4

(58) a,fB,y e» X +4x7 —5x -2 000 G30E); BIT°FRD AN LJrLJrL:

af  pr ra
@2 B)-2 ©4 @-3
(59) x° —5x%+6x TVHO C30E), Tocdd HIPRTHRD 2,3 900 DuPed HPdDend
(@) 0 0)-2 ()1 (d) -3
(60) (x—1)(x* —x—6) 3706 BN, Tockd FPTTRD — 2,3 000D BUTeDd FIPIDeD

(@0 D2 ()1 (d) -3
(61) x Do S°oDD 1Y LVDE g, BPTgR 0o
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@0 ()1 ()2 (d) gDosTaw

(62) a,B.,y e ax’ +bx’ +cx+d e3s3oHe WBoog); BP0 WAd aff+ Py +ya =
b b c d
(@= B)-— (= (@) —
a a a a

1 1
(63) a,f e X2 =5x+4 o0 B0 BTR°JL0 YOS —+— =
a

@-2 ®F©F @ -3
(64) x7 Do S°0DD DD LIV CRVE), HFRP§L AGo
@0 ()1 ()2 (d) dogowdaw
(65) p(x)=g(x)g(x)+7(x) S p(x) 905705 S0BOEL g(x) DBBTe0 3 wod g(xX)
DO
(@) 0 b) 1 (c) 2(d) 3
(66) p(x)=g(x)q(x)+7r(x) & g(x) BDOH VDO HBAWL g(x) DOD LTV YOV
P(x) 6630
(@) 5 (b) 4 (c) 2(d) 3
(67) p(x)=g(x)q(x)+7(x) & g(x), p(x) & SOEPoLH WAND 7(x) =
(@)0 (b)1 (c) x (d) g(x)
(68) p(x)=x"—10x+k & (x—1) & &fodrr Sy $0 0 oD k Dewd
(a)43 (b)7 (©)9 (d)5
(69) ax’ +bx> +cx+d 200 5TVHAD Lrdomreotd a,b,c € R 00050
(@) a=0 (B)b=0 (¢) a#0 (d) d#0
(70) 3x* =5x% —11x =3 D0 5006 ooE); BTR"§L V&0

5 5 11
(a)g (b)—g (C)—? (d)1

(71) 0,1 0Bosw —1 ew BPTHROT (0 23TV00
(@) ¥ =x*+1 (b) X’ +x* ()X’ —x> (d)x —x
(72) \/§+1 Feblolovttl \/E—lw BTLOTT (0 23TV00
(@) x> +2V2x+1 (b) x> =22x—1 (¢) x¥* =2V2x+1 (d) x> +22x—1

(73) 2 &H06adw —5 ew BPTHOT (10 2ITVOO

(a) x* =3x-10 (b) x> +3x-10 (¢) x*=2x-5 (d) x* +2x+5
(74) 3x*—10x+ J AL OB‘DSZ; BT 0 3335ébs&3°w 90D p Dewd
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(@) 10 ()3 (c)% (d) -3

(75)  p(x) =(x =1)(x = 2)(x =3) 3TVDH CIE), FTe0 @, f, ) &0 9ad a+ By =

(@)9  (5)27 (c)35 (d)36
ANSWERS

1. (B) 2. (C) 3. (C) 4. (B) 5. (C) 6. (D) 7. (D) 8. (D) 9. (D) 10. (A) 11.
(C) 12. (A) 13. (A) 14. (C) 15. (D) 16. (B) 17. (B) 18. (D) 19. (D) 20.
(B) 21. (C) 22. (B) 23. (D) 24. (B) 25. (A) 26. (C) 27. (D) 28. (A) 29.
(C) 30. (B) 31. (C) 32. (A) 33. (D) 34. (A) 35. (D) 36. (C) 37. (A) 38.
(A) 39. (B) 40. (A) 41. (C) 42. (C) 43. (D) 44. (A) 45. (C) 46. (B) 47.
(C) 48. (B) 49. (B) 50. (A) 51. (C) 52. (B) 53. (C) 54. (C) 55. (A) 56.
(A) 57. (B) 58. (B) 59. (A) 60. (C) 61. (A) 62. (C) 63. (C) 64. (A) 65.
(C) 66. (B) 67. (A) 68. (C) 69. (C) 70. (D) 71. (C)72. (C) 73. (B) 74. (B)
75. (D)
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4. 3ot 6 oIS’ Db HAEGErY 2

DE°T°0T°W :

L ax+by+c=0 o SEFI) X, y o Tod 6 TRVS TP wauEb0 Tor DOV
DAEGE0 WL [E& a, b 00050 ¢ ID TR Rogen oo 4, b e {ooajlé
AP0 S°Q. 0B DorT, DAD DWEBEFL BBKO SRVLDY ‘:()ocsdaoe.ss Qerot) ot BPoD

DSOS SONFAD. BT VASCETFY FESH Dot & DWEBIFL DG 28 DotdPH
AFARI0B.

2. BDaH DDEEEPR BBX FOoSEAS Tockd VB0, DO DAL VLCEFLD VIR0, 08 2
DQEBTPLD VD00, 2 & VLD By FOoII BEAS, LN G VO Go VDO,
29erot) DEGEPIS Wdodh FGrevotron. &a®|| 1) X+ =5 @d  2DEoEPIE  dodh

ST 00N,

2) x—4y=T7 o8 2QECePIS 990 JGTLI0LPOD.

3. ot 36 THRE’ 28 2B VSTV & Sod Do RIIVIN: @ X +by+cz=0

a,x+b,y+c,z=0

QEYCE, @i, G2, by, by, € 00030 ¢ Q"bi TR Do ST° TSP SO0

2 2 2 2
a”+b"~#0,a,”+b,” #0.

4. B3P dgsErL 2 ax+by+cz=0, a,x+by+c,z=0 QDS QY ¢ Qe G5
20PBRD ST DLBEPOS’D SET VL ADEISPOL), PESEPY REPaS 206§ Vowotio

Qoo
b
1. 4y L O3, 4, —ah %0 ©ow Shas pusme 2 e whsien. &
a b,
“n)ocﬁd?)oe‘)'s, BDODH DDEGETD 265; oD BBV, 208 28 0D Do) oI,

b
2. =2 5 9o D0t ©D0EEIFY 2 BR0fS HISHTFD, & ReEG0S, SPaD

a, b ¢
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DECETD 2 DAT0SES BV, AENHD0E FDOD PAECEFL BB FSHEV0ED).

a b c
L= b—l =L e90d ¢3 BDoDH HIEGETY 26 DorS DIESETLD HBOD DO0NG 50
a, h G

DALBEPe. & food)d?)oeSG, B3DAD DAEGETL 2SS D0 JGHLoEPON. FDODH

DAEGEFY 28 B EFIFeaw.

5. 3D LaLEETPO BB & §0& DGR T FOOSIRN. :
1. Bardgo (Tro) 2GS
2. Daiede Il SRR

1) OB Er 0gd (Substitution Method)

i) w5603 Sohod HES (Elimination Method)
i)  eg - eses DS (Cross-Multiplication Method)

6. ¢ — beeses g (Cross-Multiplication Method) :

Gy b—l, T, ab, —a,b; # 0 0B VYD BHAH DAEGTFL 233, 2.8 28 Pocd Dotk
a b

DOCORD. B, B — DRSS DPAS" & 0O Do ERVFDIAIND:

_ b, —by _449, — 64
, )
ab, —a,b, ab, —a,b,

FRoDD DD

1. x+y=2024, x—y=2022 30 0t DotdY. ........

1) (2022, 1) 2) (2023,1) 3) (2024,1) 4) (2020, 1)
2rew: (2)
5 [g) ¢, 4 1 =1
a, 1
h_1_
b, -1
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. 4 # Z—l, 90600, Q&Qc‘é 3D DNECEPL 23S, w8 28 oD Dotd) OO, B,
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DIrErS0: 2dyso (4)
DBV (3) DY DAEGe0 3x” +2x-1=0 cRog), DurwBwL Dwgo
2 4
(a)—g (b)—g ()2 (d)-4

Doesip; @ 000K f en PEGe0 3x°+2x—1=0 AB0E); DATODVL WO

| o

a+p=-L sopasmap=<.
a

S a = —1 2060k f=

(J~)|>—AQ

2
La+f=-=
p 3

Darerdo: odyso (4)
MULTIPLE CHOICE QUESTIONS

(1) 8o& TS 3G LAECEI0 B

(a)5+%=x2 (b) x* +%=177 () x(x+3)=6x+3 (d) x2x+3)=2x>-7
(2) 8od TS HY LAEGE0

(@)x—6x—4=0 (b)2x"=Tx (c) 2x+D(B3x+2)=0(d) p>DY
(3) o0& TS DY DAEGEI A

(@) x(x=3)=x>+7 (b) x(x=5)=2x"+4 (c) Qx+1D)(Bx+2)=0 (d) 2.3553);
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(4) a g D DedH ax’ +bx+c =0 58 HAEGE KO VDB

(@l ®»2 ()3 ()0
(5) So& TPIS" DY DAEGEI0

(a)(x+3)’ =x+4 (b)(x=2) +1=2x-3
E)x(x+D)+8=(x+2)(x-2) (d)(x+2)>—(x-2)>=0
(6) (m+Dx*+6x+5x=16 28 3¢ PAEGE0 & WFDDD m Dewd

(@)l b)-1 (02 ()0
(7) ax(x®—4)+dx=2x"+bx*+10, b # 0 28 HG DAEGE0 &> WrDeDD @ Dewd

(a)l &) -1 (2 ()0
(8) Bochd DR G Doy e)eoool32 0D &8 DOPJURD SR0FT 0L VBRELOMD HY

PEGe0

() x> +x-132=0 (b) x*—x+132=0 (c) x*—x—132=0 (d) x*+x+132=0
(9) Bocd DD &3 (SEENC A 399 e e Qoo S0 0L 95E00 e}

PEGe0

(@) X +2x-399=0 (b) x*+2x+399=0 (c) X’ +x-399=0 (d) x’—2x+399=0

(10) Bocd SR WO Dogw V&0 120 e90005 e Qo SR L 9DV 5Y
DAEGE0

(a) x> +4x-120=0 (b) x*+2x—120=0 (c) x*’—4x+120=0 (d) x*-2x+120=0
(11) o8 1008_05 Feblolos b bR A ) 53352‘36&1).)2) Febblalel % A LrDocdd 53%5 DAESE0

(@) 2x* =5x+1=0 (b)2x*=5x+2=0 (c) 2x*+5x+2=0 (d) 5x*-2x+5=0
(12) o8 e“ooa)5 0005 TR g)sébéﬁo.)e) Dwgo 2 & Ao D(g 2DAESE0

(@) x*=2x+1=0 (b) x*+2x+1=0 (c) x*+2x-1=0 (d) x> +2x+2=0
(13) Bocsd DA GSS €D R0[0 STPO dwdo 290 e900& es3 ESREMILV S0 0L

BVELMD DY 2DEBe0

(a) X* +(x+2)> =290 (b) x>+ (x+2)° =290
(c) X* —(x+2)* =290 (d) x* = (x+2)° =290°
(18) 28 Doy 206A30 T HTL DGo 56 & Wrowso BF VAESEO

(a) x> +2x=56 (b)2x°+x=56 (c) x*+x=56 (d) x’—x=56
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(15) Qo éoé &3033?0.)‘3 8:35°Q &505.)‘(03‘33) 2 Géw. 4 Zoll oro ST T°0 bofo?wbv
oo 306 & Wrdocsw 1Y 2AEGE0
(a) 3x2-14x-162=0 (b)3x2—14x+145=0
(c) 3x* +28x-306=0 (d) x* +6x-145=0
(16) Bocs> Qoo 3o 5, oD JT0 oodo 325 es00 DY Doy S0 L

RBVBID B LAEGE0
(a) x> +(x+5)* =325 (b) x> +(x—=5)* =325
(c) x*—(x-5)" =325 (d) x> —(x+5)* =325
(17) (x=4)(x+2)=0 g Soreren
(a)-4,2 (b)) -4,-2 ()42 (d) 4,2
(18) x*—5x+6=0 B DAECEI0 G0, Hareren
(a)-3,2 (b) -3,-2 (¢)3,2 (d) 3,-2
(19) 2x” —6x=0 5F DAEGEa0 CAIVE), Boreren
(a)-3,0 (b) 3,0 (¢)6,2 (d) 0,2
(20) x*+6x+5=0 2¢ 2AEGE0 WDg); Qrerew @, f e wand a+ f=
(@)5 (b) =6 ()6 (d) -1
(21) x*-5x+6=0 5Y DAESe0 WDE), rerew @, f W wand o - f=
(@5 ()3 (o)1 (d) -2
(22) x* =3x—10=0 ¢ PAGe0 CADE), Jareren a,f ed VoD a’+ B

(@)25 () 10 ()21 (d) 29

(23) x*=3x-4=0 B VDEGEI VL) LT L, ff e WOND a+p=
()63 (b) 64 (c)-1 (d) 17

(24) X +4x+4=0 S DDEGE0 L), LT @, ff e wand afi=
(@a=p (Ba=-2,=-2 (a+f=-4 (d) >

(25) x* —6x+8=0 3¢ DASSE0 Gog), dorered @, f W wond aff=
(@)6  (b)-6 ()-8 (d) 38

(26) 2x* —5x+3=0 SG VAEGEI TV, 208 PRI
(@)-1 (B (¢) 0 (d) 2

(27) x> +2kx+16=0 B DDEGE0 TV 28 BorwBD 4 VoD k Ded
(a)4 (b)—-4 (c) 16 (d) 32

(28) x* +2v2x—k =0 3¢ 2DEGra0 B, w8 SuroBw 2 o k Dewd
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(@6 ()6 (c) 242 (d) -22
(29) ax’+ax+8=0 B00a5d X*+x+c =0 HG DAECEFOD w8 edd Suresn 1 eand
a.c ded
(@) 8 (b)4 (c) -8 (d)-4
(30) a G308, D Dewd §F° (a+2)x" —ax—2=0 & 08 IS VB 28 LorwHw
(a) 0 b)2  (o)-1 (d)]
(31) ax’ +bx+c=0 G DAEGE0 g, Jareren VITH0 VAV €=

b b b b’
(@) _Z (b)z (o) —E (d)a

(32) ax’+bx+c=0 3¢ DGO Aog) IS

(a) b—4ac (b) b* —4c (c) b* —4ac (d) b* +4ac
(33) ax* +bx+c=0 ég 2DAEBE0 033352’ S0P AP0 900

(a) b*—4ac<0 ) b* —4ac<0 (c) b*—4ac>0 (d) b*—4ac=0
(34) ax’+bx+c=0 Ealel 2DESE0 oBoosZ) S0P NATPR0 90N 8 I

b b b? b?
(@) ™ (b)z (©) “aa (d)a

(35) 28 Boch oo Koy S°D @os® VRO 6, &8 DoPJDd 9 €95 SIS S°D o8O
TPAAIPE BDadore DBy VoPJE VAP0 A &8 Do)y

(a)l6 ()23 (c)32 (d)e61
(36) a8 w02 L TASESN) oBooSb 208 2o TE oo SD"Q’ 3 200.50. as;b.:s S00a30 sgaﬁoo

15 200.20. @000 D) 2020 $0& D HY VAEGEFI) VPO

(a) 3x* +6x-108=0 (b)x*> +6x-108=0
(c) x*+3x-108=0 (d) 2x* +3x+108=0
(37) 2080 27, 080182 9385 Dot Bot Do SRV KL &OITNOL H5Y 2AEGE0
(a)x(x—27)=182 (b)x(x+27)=182
(c)x(27—-x)=182 (d)x(27—x)=182(x+27)

(38) 3x° +6x+k =0 3¢ DAEGIH TPRD D) Borerod $OA EokerdS oLBO
(a) k<3 B k>3 (¢) k=3 (d)k>4
(39) x* +hx—25 =0 HG DAEGE0 TS Larered $OA GokerdS DaLVBL

(a) k> =100=0 (b) K> +100<0 (c) kK> +100>0 (d) p>D =
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(40) 2x” —8x + p = 0 38 DAECEI TR BaTFerOR $HN 0TS BBVEBICY p AV
(502 Q0D
(a) 8 (b) -8 (c) 64 (d)-64
(41) 28 Q020 GIVEY, BP, T I ol 4 0.2, YD BB Yo PV 48

€5.200.20. 900D Gg B T8 oL EDAPNOD D DEGE0
(@) x> +4x=96 (b)x*+4x-96=0 (c) %x(x+4) =48 (d) p5d
(42) kx*—6x+9=0 Ris) 2EBer0 T30 SO TPRYT D SEDB
(@) k=0 (b) k<l  (¢) k>1 (d)k*-1=0
(43) 3x*+6x+k=0 ¢ 2EBes0 CI0E), SR Vo8P Vo 90D
(@) k<0 (b) k<3  (¢) k>3 (d)k=3
(44) 2x° +hx+3=0 DY DAEGE0L Toc VAPD TR Sureren o k Dewsd
(@) 24 (b)£6v2  (¢) £243  (d)x2V6
(45) kx(x—=2)+6=0 ¢ DEBEIL Boch VAT TRD BIrereD o3 k Dend
(@2 (b6 (¢c) 4 (d)-6
(46) x* -k’ =0 58 LEGE0 CI008); 8 BB —3 0NN Totksd BRI/

@9 ()3 () B (@) -B
(47) 800 TIS” DTS Bareren (o HY VLG

(a) x> +4x+4=0 (b) x"—4x-4=0 (¢) x’+3x+9=0 (d) X’ +4x+8=0
(48) Bo& TS DY) THD Bureren o 1Y PAEGE0

(@) 2x* —4x+6=0 (b)2x* +4x+6=0 (c)2x°—6x+3=0 (d) 2x*+6x+8=0
(49) 2x” —3x+5=0 3¢ LWEGEI0 CBOE), Borered

(a) DD T°RD Dogen (b) VIS ToYD Vogen (€) TPRD VoL S

(d) D30 ©08g Dowgen
(50) 3x” —43x+4=0 3¢ HDEGeI0 Tvg), B

(a) D) T°YD Dogen (b) IS T7YD Dogen () TYD Dogen 5o

(d) D30 %08g Dowgen
(51) 2x”+6x+3=0 3¢ LWEGE0 CBOE), Borered

(a) D) T°YD Doen (b) DITD T7YD Dogen (¢) T"YD Dogen 5o

(d) D30 ©08g Dowgen
€9
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(52) ax’+bx+c=0 38 DMWSSE0 G00g), Boreren

—b++b* —4ac —b++b* +4ac b++b* —4ac —b++b* —4ac

@ ——— & > (c) > (d) %

(53) ax® +bx+c =0 DG DAEGEI CINE), BPLTLD VATD T7RD VO WAV
(a) b> >4ac (b)b* <dac (c)b* =4dac (d)a*=b"+c’

(54) ax® +bx+c =0 HG DAEGe0 o) DSE3 b —4ac >0 oD Sareren
(a) D) TRD Doen (b) DITD T"YD Vogen (¢) T"YD Doged 5o
(d) %83 Dodg Dozyen

(55)ax® +bx+c=0 S5 2PLBeR0 g Desded b* —4ac <0 eand Horeren
(a) D) T°YD Dogen (b) DITD T7YD Dogen () TYD Dogen 5o
(d) %83 Dodg Dozyen

(56) ax” +bx+c = 0 DG 2SGE0 BYISEAR b’ —4ac =0 wand Horered
(a) DD T°RD Dogen (b) VIS ToYD Vogen (€) TPRD VoL S
(d) 230 ©08g Dowgen

(57)2x” —4x+3 =0 Hg DAEGea0 B0, DS3ed
(@) =4 (b) -8 (c)16 (d) 40

(58)V3x? —6x+124/3 = 0 ¢ pD&Ger0 ), De3ded

(@) 123 (b)) 72 ()36 (d) —108
(59) x* —3x—k =0 5¢ >ASCE0 aRoog), 3L 25 wond k Dend

(@) -4 (b)4 ()9 (d)-9
(60)3x*—6x=0 s 2PLEBeR0 W) 28 BTVDW 2 29000 Bo¢id TP
(@0 ()3 ()6 (d) -2
(61)3x* =5x+2=0 Sl LS00 o), 208 QTPODW 1 290003 Bodésd OTPVAD
2 3 2
—Z )2 (0= @) -1
(a) 3 ()2(0)3 (d)
(62)V/3x” +11x+ 633 = 0 38 HRESeR0L 3o TAS® D& Wes§0?
(a)34/3 a8 Sorosn (b) Soreren dETD0 () 36 DRSO S
(d)—3+/3 28 doredw

(63) x* —x—20=0 3¢ LAECELD §ob TIS® VO W0?
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(@)—4 00ain 5 e Lreae (b) DDV TYD Jarered SOY
(€) DD YD dareren S (d) (a) dasw (b)
(64) ax’ +2x+a =0 3 DAECELH (O BoPered VATV VAVD
(@)a=+1 (b)a=0 (c)a=0,-1 (d) a=1,0
(65) x* +2x+(k* +1) = 0 38 DEGE0L (0 BuTeren LBEFHo oD k Dewsd
(@0 ()1 ()2 (d) 3
(66) x*+4x+k =0 5 DAL (o Hareren DDV TR VoV WD
(@) k>4 (b)k<4 ()k=4 (d) k<4
(67) x> +6x+1=0 PN DY DAEGE0 WOND A4 Dewsd
(@3 (b6 ()9 (d) 36
(68) 4x° +44x+25=0 DI S DAECE0 WaND 4 Ded
(@2 ()16 (c) 4 (d)£5
(69) 3x*—4Ax+4=0 PG DY DAEGe0 WOND A Dewd
@V2  (®)3 () 4 (d) 3
(70) (2x+3)* =0 3¢ DAEGeI0 B0, D363
(@0 (h)-3 (¢) 1 (d) 2
(71) 322 +24/5x—5=0 ¢ HQESer0 Y De3ded
(@)20 (b) —40 (c) 40 (d) 80
(72) (3x—2)"=-2(3x—2)" 3G LAEGE0 CB0E), Borered

2

(@)+2 (b)%% © % <d)—§,—3

3
3 2 3
(73) 3(x—4)"=(x—4)" +8 3¢ DAEGrI0 GV Jareren
()2  (b)+4 (¢) —=2,-6 (d) 2,6
(74) (x+2)*—9=0 3¢ 2EGE0 A0E), BoTeren
(@l (B)-5 ()5 (d) (a) So8aw (b)
(75) x*—4x+2=0 S5 2EBes0 CB0g), Sarere
(@)2+8  (B)2+2 (¢) 4+2 ()2 £\

(76) x*+4x—4=0 ¢ DALGE0 G008), Boreren

(@)-2+232  (B)2+2V2 (0)2,-2 (d)-2,-2
(77) 3x* —6x+2=0 S HAEGea0 G00g), Boreren
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NE

3+
(d)—¢

(@33 (b)

3+43 3+43
(c)
2 3

29000 B0¢éed TP

3+\/§
2

(78) x*=3x+1=0 3¢ LAESeR0 G0g), 208 BaPOBO

_3;‘/5 1)3+5 (©)3-45 (d) —3_2\/5

(79) 1 Boaren (o 28 LIS &' Sgo Vo ”(”2— 3)

(a)

290003 SgO Doady 5 88Ad

[AYSLOPART N ASY I 3) *&0335
(@) 4 (b)5 ()10 (d) 15
(80) 2x* = 24/2x +k = 0 58 2D086e0 BNE), DA DATDO GAND BT

1 1 1 1
@5 5 ® ﬁ,ﬁ<c>5,5 (d)1,1

(81) (2x+1)* = px’ +5 Hg ©AECE0 WD P Dewd

(@0 (b) 2(c) 4 (d) 8
(82) 28 HG DAEGEOH (o (0] Borere Loy

(@)0 (b)1(c) 2 (d)3
(83) (2x —1)(2x +1) = 0 I LAEGEI ALY, DoTerew
11 11
——= (b) 2,-2(c)=,— (d)1,1
(a)z, > (®) 2, (0)2,2 (a1,
(84) px+qx’ +r =0 3¢ HAECE0 L), DSLed

(a) p* +4qr (b) ¢*—4pr (c) p*—4qr (d)r*—4pq
(85) 2x% —4x =3 =0 S5¢ LAEGe0 Bog); Desded

(a) =8 (b) 16 (c) =24 (d) 40
(86) 3x* —2x+k = 0 ¢ ©ESe0 aog), Dsded 0 wond b Ded

1 1
-3 (b) — 3 (d)——
(a) (b) 3 ()3 (d) 3
(87) 4x” +43x + & = 0 58 2D0EGe0 L), Dareren DEFVo BAND k Dewd

@3 () %(c) > (d)%

(88) 4x* +20x+k*=0 5g 2AESe0 G3008), BAPePeD VBP0 WO & JATFED

5 5

5 (b)-5 = (d)—=

(a)5 (b) -5 (c) 5 (d) 5
(89) x> +kx+50=0 e LS00 ), 8 QTPODW 5 ond k Dend

(@)5 (b)-5(c) 15 (d)-15
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(90) x* —=7x+12=0 5¢ 2PLBeR0 Goog), Sorered @, f e wond aff=
(@)7 (b) =7 (¢)-12 (d)12
(91) x* =7x =0 3¢ DALEGe0 g Jorered @, f o wand a+ f=
(@) 7 (b) =7 (c)-1 (d)1
(92) kx(x—2)+6=0 5¢ L0 g 28 Fed 3 wand k Dewd
(@) -1 (b) 1(c)2 (d)-2
(93) 3x” — 43 x+4 =0 3¢ HREGer0 ), De3ded
(@) 0 (b) 12 (c) 24 (d) 48
(94) o0 27, ogolSZ 9.90'335 Do Bodd Qo ST 0L &HA3rAoD e 2EBer0

X —kx+182=0 eond k dewsd

(a) 27 (b) 182 (c) —27 (d) —182

ANSWERS

1. (C) 2. (D) 3. (A) 4. (D) 5. (B) 6. (B) 7. (C) 8. (A) 9. (A) 10. (B) 11. (B) 12. (A) 13.
(B) 14. (C) 15. (D) 16. (B) 17. (D) 18. (C) 19. (B) 20. (B) 21. (C) 22. (D) 23. (A) 24.
(D) 25. (D) 26. (B) 27. (B) 28. (A) 29. (A) 30. (D) 31. (D) 32. (C) 33. (D) 34. (A) 35.
(B) 36. (C) 37. (C) 38. (A) 39. (D) 40. (A) 41. (D) 42. (C) 43. (C) 44. (D) 45. (B) 46.
(B) 47. (A) 48. (C) 49. (D) 50. (B) 51. (A) 52. (D) 53. (C) 54. (A) 55. (D) 56. (B) 57.
(B) 58. (D) 59. (B) 60. (A) 61. (C) 62. (D) 63. (C) 64. (A) 65. (A) 66. (B) 67. (C) 68.
(D) 69. (D) 70. (A) 71. (D) 72. (B) 73. (D) 74. (D) 75. (B) 76. (A) 77. (C) 78. (D) 79.
(B) 80. (A) 81. (D) 82. (C) 83. (A) 84. (B) 85. (D) 86. (B) 87. (A) 88. (D) 89. (D) 90.
(D) 91. (A) 92. (D) 93. (A) 94. (A) 95. (A) 96. (C) 97. (A) 98. (B) 99. (A) 100. (B)
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6. 3O

DD odw: w8 Qgg g0 &° QORI DVENLRD HED DD WOOD.
@o83A: 28 §0B0 &S DTPL HEXD T 28 ‘?86 2085 & B0 DEBWD & FedT Ddbéé
€9 §0000 WosBAE 90OMD. ‘?86 éoa:s O DTroHGo 900

B0E: (1) VG DA a HBAI DTPotSo d O WosFE

a,a+d,a+2d,....,a+(n-1)d
(ii) 208 083G &° AV DABAW ¢ BOBOIL DTFoBGo d WOND 1O DAEW a+(n—1)d.

(iii) 28 ©083d & DAY nHTPL dwgo S, = §[2a +(n-1)d].
(iv) DoOCE DBE a S0BOIL VBB DEHD | AN €3 9oEFE & 1 HTFL Do
n
5, =3 la+1]
DREA: 208 050 &S HILD HEWD T s ?86 20y @ B0 DA K (oedotd TP
Dcﬁbc‘ié 29 §000 A 90kOD. ?86 Rogg 5%0%5 D3 90EIW.
B0DE: (1) O DA a B3 5"&)"?65 QN8 1 e (o) 3G a,ar, ar’,...,ar"”’

(i) 28 163 &S DG DGSAW a B3 5%5%65 QD 7 WOV 1D DI a '

Mif <l
1-r

(iii) 28 (Dr3d S DGO nHorw dwgo S = “(r—‘ll) if r>1
.

© if r=1

a

(iv) 28 D53 S edod HDorw Do S, = =
F QoD DBVDJeN:
DRg: (1) 0838 3,-2,-7,—-12,... g DToSbo
(a)l b)) -5 (-1 (d)-2
s mdys ©OSEE 3,-2,7,-12,..
d=t,—t,
=>d=-2-3=-5
DATGERH0: PSo (b)
DBORS: (2) QL1000 e Dogw dwgo
(a) 4050 (b) 5050 (c) 5000 (d) 4950
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1))
. DGB N :o::va“aoaavanéol+2+3+...+n=’1(n—+
dee3d: 3 —t 100

100(100+1)  100(101)

A Vire Voo dGo = =5050
DATEEHo: Do (b)
205 (3) 1+c0s O +cos’ @ +cos’ O +..0 =
1 1 1 1
a b c d
( )1—0059 ( )1+cost9 ( )l—sinﬁ ( )1+sin9
a . ) .3 1
.S = =1+sinf+ o+ O0+..0== .

doesd: Se - sin @ + sin sin 0 —

DATGRH0: S0 (a)
MULTIPLE CHOICE QUESTIONS

(1) 808 T°S° wos3S

(@)1,3,6,10,15,... (b)100,80,60,40,... (¢)2,4,8,16,... (d) 3,3,4,4,5,5,..
(2) 808 T°IS° oS3 A

(@)1,2,3,4,.. (0)3,3,3,3,... (¢)6,3,0,-3,...(d) 6,4,1,-3,...
(3) 808 °S° wos3E

(@)4,7,10,13,.. (B)11,6,1,~4,... (c)13,19,25,...(d) 2D
(4) 808 °S° Wos3E

11 11 1
a)l, b)L,=,0,——,... (¢)4,8,16,32,... (d)l,=,—,—,...
(a) B)1,=,0,=2,. () (@)L=, —2 s

(5) 083

11
,4’8"“
,—1,-3,-5,... ahog) ey Seso

—_ l\)l’—‘

(a)l b)) -1 ()2 (d)-2
(6) 5,2,—1,—4,... @0s3& &S° kS Dk
(a)2-3k (b)8-3k  (c)3k-2 (d)2+3k
(7) 808 T30S’ 9HOH WosBE
(a)3,7,11,15,... ()6,9,12,15,...39 (¢)100,95,90,...—10(d)1,2,3,4,...65
(8) 4,10,16,22,... @083& &° 105 Do
(a)70 (b) 64  (c)58 (d)52
(9) 2x,4x,6x,8x,... ©o83& &S° HrrochSo
(a)x b)2x (o)-x (d)-2x

(10) l,—l,—i,—é,...@oséé 0313963*%33"‘65 Bcso
4 4 4 4
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1 1 1 1
(a)z @) —3 (C)E (d)—z

(11) 0.6,1.7,2.8,3.9,...9083¢ G308 av:mazg Bcso
(@0.6 (BT ()11 (d)0.1

(12)  3,3++2,3+2v2,3+3+/2,... 00838 g, Farey Bcso
(@3  B)3+2 (V2 (@) W2

(13)  v2,4/8,418,32,... 0083& o), Soece Do

(@)VJ64 (W72 ()50 (d) V84

(14) 5,1,-3,-7,... ®0s3& &° 105 Hcso
(a)—35 (b) =31 (¢)-27 (d)41

(15) 2,2,3,1,4,...9905@3, Boog), Fo°(S Do
272

9 1
2 b)5 — d) —
(a) () (¢) 5 (d) 5
(16) 21,18,15,... e083c & —81 20y Deso
(a)33 534  (¢)35 (d)36
(17) 21,18,15,... @083 &° 0 YD Do
(a)7 b8  (¢)9 (d)10
(18) S n D Dopgw dwgo

@ n (b n(nz—l) () n(n3+1) (d) n(n2+1)

(19) 200&¢3 10 e Qogge dwgo
(a)10 () 55 (c)45 (d) 50

(20) 20&&d 100 e Qoge dwgo
(a)5005 (b) 55 (c) 500500 (d) 5050

(21) 200c8d Do 3.5, Horoeso 0 ™ (o @os3E 108 b Heso
(a)105 (b) 3.5 (¢)0 (d) 111.5

(22) 2068 Do 4, DTroBGo —3 ™ (L @oE3E 4 D Do
(a)-5 (b) -8 (c)16 (d) -2

(23) @083& &° q, =2 S0datw a, =18 ®ond a, =
()20 (b) 10 (c)16 (d) 36

(24) 3,8,13,18,...,78 e083d &' drrowops
(a)l6 B)15 ()17  (d)34
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(25) 7,13,19,...,205 @083 &°d Hrrexon
(@31 ()35 ()32 (d)34

(26) x+2,2x, 2x+2 e @083A& 5°D 3 HED DI IOVD X =
(a)4 (®)5 ()6 (d)8

(27) x+1, 3x, 4x+2 0 ©083S S° 3 SR DTV YOND X =
@0 B (©)2 (d)3

(28) 25, 20,15,... ©083¢ & D) D DES0 0EY Bed Doy
@5 ()6 ()7 (d)8

(29) 2.8 e90838 B, n HDA0 a, = 2n+ 3008 12 S Heso
(@23  (B)165 ()27 (d)38

(30) 28 083G Y, 1 B0 a, =T —2n oD 3*’&5%5 Bcso
(a)-2 ®)2  (e)=7 (d)7

(31) 28 0838 B, n D DA0 a, = 3421 9005 A 3 Dore Do
@12 ()9 ()21  (d)25

(32) x,7,z e 083S S°D 3 HED DT OVD

X+z

(a) y= (b)2y=x+z (c) y—x=z-y (d) pddy

(33) 800 oDES" os3A g, O Desso
(a)a,=S,+S,, ((b)a,=a+(n-)d (c)S,=n[2a+(n-1)d] (d) }355.5)&
(34) 2u8 20838 D), n HDG0 a, = 3421 @000 Ao 24 HDore oo
(a)652 (b)762  (¢)51 (d)672
(35) 2,7,12,... ®0&3& &°1 206 10 Howe Do
(a)245 (b)490 ()47  (d)295
(36) 28 @083 &° a =-1.25 dasw d =-0.25 ®ad a, =
(@)-2 (b) =1.75 (¢) =225 (d) —0.25
(37) 8 @083¢ & a, =2 H0aiw a, =18 @and a, =
(@)20  (b) 10 ()16 (d) 36
(38) 8 @083¢ & a, =6 B a, =4 wod a, =0 rHIPN Ded
()4 (b)5 ()6 (d) 8
(39) 28 0834 &S° 17 & Hso, 10 & Hso sa"g_Zl QE)D WOV 5%5%‘05 B0

@2 B)3 () -2 (-3
(40) 108030 250 docss (o 4031>sb roedere 020y
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(a) 59 ()60 (c) 61 (d)62
(41) —11,-8,-5,...49 0838 & Qb6 &od 4 H Heso
(a)40 (b)43 (c)46 (d)58
(42) —37,-33,-29,... @083& g, 200csd 12 Do dwgo
(a)180 (b)-180 ()7 (d)-7
(43) 3,7,11,... ®@083& WBoog); &S 18 Do dwgo
(a)766 (b)666  (c)718 (d)659
(44) 28 @oS3A &° a, =7 8% a,, =35 Wad S, =
(a)546 (b) 464 (c)273 (d) 672
(45) 28 @o83A & q, =37 H8osw d =3 ®ad S, =
()41 (b)) 256 (c¢)276 (d) 246
(46) 2.8 e90838 B, n HNA0 a, = 9—5n 0000 SR 15 Dore o
(a)465 (b)—465 (c)—-66 (d)66
(47) 6 & erfoHeIE K 40 &35 QrgRosgw odo
(a) 4920 (b) 5920 (c) 5290 (d) 4290
(48) 28 083G Bg), n DO dgo 21 +3n 00D 3 wos3d aBoog); 3";1?.65 B0
(a)3 )4 (05 ()9
(49) 28 e9053& D), n DO Awdo 3n* +5n oo e @osdd aBoog); 2 & Do
(a)8 B)14 ()20  (d)22
(50) 28 e083d & a, =4,d =2 20805» S, =-8 @ond S, =
(@)-6 (b)) -12 (¢)-14 (d) O
(51) 100 206050 200 20655 (fe> SdRogR %0
(a) 750 (b) 7500  (c¢) 5500 (d)8050
(52) 2u& 90838 033056 G, DB HEPe DD 17 803w 350 Lodasw 5"&1)"?65 3¢o

o000 §, =

(@) 5238 (b) 6973 () 6138  (d)6813
(53) 8o& TS el

(@)6,12,24,...  (5)1,4,9,16,... (c)0,3,9,27,... (d) 23D

(58) —,—,——,... (DrRIG g Jarsy g

1 1 1
(@) By (@4 (@)e
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(55) So& TS 163 S°AB

1
— = b)30,25,20,15,... 1,4,16,64,... (d 0803w (b
()64328 () (©) (d) (a) (b)
(56) So& TS g G 3 ™ o Hedd
(@)5,15,45,...  (6)2,6,18,54,..  (c)1,3,9,27,... (d) pdDy

(57) 64,-32,16,-8,... rbeagc cBws) aomqg Dind

1 1
= b)—— 2 (d)-2
(a)2 (b) 5 (©2 (d)
(58) 8ot TS® 2B Do 3, JAFD; NS 2 ™ o ™ o (Hradd
3
(a)3, Z

(59) a8 ezl TBo0E); DB Do ar’, 3";35%‘65 QB 7 o & HRBE 5 H DKo

% (0)3,6,12,24,...  (¢)3,9,27,...(d)2,6,18,54,...

le

(a) ar’ (b)ar’ (c)ar® (d)ar’

(60) 208 (e &° a:\/g,rzé oD 8 HRIE 2 S Do

1 1

(@)% ) V5 (o)1 @ 7=

(61) —2,6,—18,54,... eadd ° SO(S Do
(a)—162 (b)-108 (c)162 (d)-216

(62) x,l,l,... (Dee3d &° SO Do
X

@l (b)x (c)x% (d)%

(63) x,4,4x e (063G S°D 3 HWD HDTFLD VOND X =

1 1
a)2l b)l (¢) — (d)—-—
(a) ®)1 (o) 5 (d) 5
(64) X,X+2,x+6 e (003G S° 3 HEHD DI oD ST Do
(a)x+8 (B)x+10 (¢) x+12 (d)x+14
(65) 0.4,0.04,0.004,... r3d @), Forrdy Ay

(a)O 1 (1)0.01  (¢)0.001 (d)1

(66) — . R &S ST DG
f f 27 2
(a)-8 (b)-16 (c)-22 (d)_le6

(67) 5,2 E,... 03& S n S Do
274’8
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5 5 5
2n—l (c)? (d) 2n+1

(68) 2,8,32,... 0m3& & a, =512 exbdepn Dend

(@)5.2"  (b)

(@)5 (B)6 ()7 ()9
(69) 208 rea3d B, 3 SDBo 36, 6 HDSo 972 WA e 3d 4 O Do

(@)27  (b)324  (c)180 (d)108

(70) 5,25,125,... thea3d &° 10 & Do
(@)5 ()5 (¢)52° (d) 52"
(71) 2,—-6,18,—54,... 63 & n S Do
(@)2(-3)"  (b)-32"" (©)2(-3)"" (d)2(=3)""

(72) 208 He3& &S° a, =9 0B r:% OV ag =

1 1 1
(0)5 (b) 27 (C)ﬁ (d) 1
(73) 208 B AIDE), n S0 a, = 3(2)”’1 0D &8 EPFE AINE) ey D
(@)0 (b) 2(c) 4 (d) 8
(74) 2,242, 4,... he8d & 220y D0 64 exrdd
(a)10 (b)11 ()12 (d)13
(75) 28 DS &S° 0D Do ar” erHaw
(a)n byn-1 (c)n+1 (d)n+2
(76) 28 eagd &° 5 Dore 080 1024 020 Do DO
(a)4 »8 ()6  (d)2
(77) 28 63S &° 25 3650 2 E0BOI 90 DT Do 8 YOD AV DO
(a)4 8 ()6  (d)3
(78) 208 908 (EaEE €5° D D¢0 10 BBOKD Do HTPe Ao 30 90D 3"35%5

NN

3 2 1
— b)— — d)3
(a)2 ( )3 (C)3 (d)
(79) > n=78 eons n=
(@)9 »)12 ()13 (d)39
(80) 1+sin @ +sin* @ +sin’ @ +...0 =

(a) 1 b) 1 1 d 1

1-cosé@ 1+cosd (C)l—siné ( )1+sin9
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ANSWERS

1. (B) 2. (D) 3. (D) 4. (B) 5. (D) 6. (B) 7. (A) 8. (C) 9. (B) 10. (B) 11. (C) 12.
(C) 13. (C) 14. (B) 15. (C) 16. (C) 17. (B) 18. (D) 19. (B) 20. (D) 21. (B) 22.
(A) 23. (B) 24. (A) 25. (D) 26. (A) 27. (D) 28. (C) 29. (C) 30. (A)31. (C) 32.
(D) 33. (B) 34. (D) 35. (A) 36. (A) 37. (B) 38. (B) 39. (B) 40. (D) 41. (D) 42.
(B) 43. (B) 44. (C) 45. (D) 46. (B) 47. (A) 48. (D) 49. (D) 50. (D) 51. (A) 52.
(B) 53. (A) 54. (B) 55. (D) 56. (B) 57. (B) 58. (D) 59. (C) 60. (D) 61. (A) 62.
(C) 63. (B) 64. (D) 65. (A) 66. (B) 67. (C) 68. (A) 69. (D) 70. (B) 71. (C) 72.
(A) 73. (B) 74. (B) 75. (C) 76. (A) 77. (A) 78. (B) 79. (B) 80. (C)
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/. 3@‘&3535‘;33)38

1. x- @80 & VB Do) JErnESHe (x,0).
2. y- @50 A& B Dot JErHEsen (0, y).

3. P(x,,1,) 00050 O(x,,7,) Do @65 G0 PO = /(x, —x,)* + (1, - »,)°
STOII

4. 2070 Dot 0(0,0)&0d P(x,y) & 2365 Gr6o OP =x* + 7.

5 x- &0 8 DdrodBorr  P(x,,y,) 003w O(x,,y,) Dotosdw QG drdo |x2 —xl|.
6. y - %0 & DAToBBOT  P(x,,y;) 00D O(x,,y,) DotdePe) 6§ 6o [y, — .
7. P(x,,,) 308050 O(x,,7,) @00 PQ D m:n Jin@S° eodtor Deaowd Dot

[mx2 +nx, my, +ny, )

m+n  m+n
8. P(x,,,) @800 O(x,,7,) ®and PQ D m:n QS erimgorr Daeoso Hotod

mx, —nx, my, —ny,
, .
m-—n m-—n

9. P(x,,y,) 0805 O(x,,y,) Docdipodd 85 e wotio Ahg) B Do

X +X, Nty '
2 72

10. 2065518 DocDOR EDD B Potrd) Sogrero 2:1 i3S Do
11. A(x,,»,) ., B(x,,,) 00030 C(x;,y;) Dot %g"w ™ (fo 822 Somraro

(x1+x2+x3 y1+y2+y3j

B

3 3
12. 208 Saoe PoTe) 3 errrenrr D320 Docd) &8 Far oty 1:2 gsg 2:1 Z):qbe}é"

252080,

13. A(x,, 1) » B(x,,y,) 00050 C(x;,y,;) DotoDuad 3geen m (o Sz 750
1 .

A= E|x1(y2 - )+ x,(y, —y)+x,(y, —y2)|r:5¢3C5o,2) 0300°8.

14. A(x,,9,) » B(x,,y,) 00050 C(x;,y,) Docdapen ©8Hosren eond A = 0.

15. 82 dzrego (Heron’s Formula) A = \/s(s —a)(s—b)(s—c) VEED 0D, Q)¢
a+b+c
S

16. P(x,,y,) 00030 O(x,,y,) DotDL0E0) Saraoctio aren m = ReRnsl .
Xy =X
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FBoDD (SEVIU (VR
22020¢: (1) If (m+1)x’ +6x” +5x =16 represents the Q.E then the value of m is
(a)l by -1 ()2 (d)0
Fas: TN DEGEI0 Y, (OR DPAIW 3, DD AN VAEGE0
(m+1)x’ +6x° +5x =16 B0E), 3653 3
REBEI0 (M +1)x° +6x7 +5x =16 2,8 DY DEGEI0 B0 DFDOBIILD SEAS 2 HI
g208 m+1=0

=m=-1.
Ans: dyEo (b)

DBORY: (2) S LAEGE0 3x” +2x—1= 0 GRog), Bureden

(a)—l,% (b)—l,—% (©3,-1 (d)-3,-1

Jog: @ 000 few DEBe0 3x” +2x—1=0 GB0g) Barwde 00D

| o

a+p=-2 sovasoap=L<.
a

SR a = —1&dakn f=

W= |

Darerdo: 0dyso (4)
DBORS: (3) DG LAEGE0 317 +2x—1=0 chog), Bareoduen dwgo
2 4
(a)—g (b)—g ()2 (d)-4

Joegp: @ SOOI S ed D0EBE0 3x'+2x—1=0 cRog), DTV WD

| o

g+ f=-2 sovasoas =<,
a

S a = —1 2060k f=

(J~)|>—AQ

: _.2
La+f= 3
DBFEEH0: Do (a)

MULTIPLE CHOICE QUESTIONS

(1) 808 JS° x~ o D o Docdd

(a) (0,3) (b)(-4,0) (c) (3,5)(d) (0,—4)
(2) 806 JS° y ego P Ko Dot

(@) (0,3) (b)(-4,0) (c) (0,0)(d) P>
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(3) (3,-5) &od Jrcso

(@)Q, (1)Q, (0)Q; (d) Q,
(4) 806 DotopHoS” Q, o S° Docsred

(@) (1,3) ()(-2,3) (¢) (-3,-5)(d) (3,—4)
(5) (—4,0) 20805 (4,0)Docoape BETGo
(a)0 B8 ()2 (d)16
(6) (0,-3) 2080k (0,~8) DotDe BOGKETGo
(a)3 b)5 ()8 (d)11
(7) (3,8) @005 (k,8) Dochdpe HoeErto 6 erddE0k Dewd
(@)5 (b)6 (¢)8 (d)9
(8) Boredocod) (0,0) &wod (3,4) & 6o &r6o
(a)3 &4 (5 (@7
(9) (a,b) 208080 (~a,~b) DocdiDe BOETo

(a)Va’ +b (b) 2a+b ()N +b>  (d)2Nd* + b

(10) (5,7) DocoH 3 adordew Brdo S°Hw Do)

(a) (8,4) ()(0,5) (c) (3,0)(d) (8,7)
(11) (2,3) DocoHD 5w Bdrdo S X~ o D (o Do)

(a) (6,0) (b)(5,0) (¢) (4,0)(d) (-2,0)
(12)  (0,0),(5,0) 200050 (0,7) Docosnen Igren T (o Q220

(a) woex€e Qzao (b) woe€er DBVAETTV Bev0
(€) RD0OETTVD g0 (d) DTN S0
(13) A(4,2) 208050 B(7,5) wond AB e

@23 B)3N2 (052 (d) 18

(14) A(x,,y,) S06as0 B (x,,,) @ans AB e

@\ (5, +5) + (s + )2 B) \ (5, = %) + (3, + 3,
(O (5 =5)* + (3 = 7> (@) (5 = %) + (1, = )
(15) A(x,,y,) 006050 B (x,,y,) ®ans AB D m:n Dy S® WossBorr Deseoisy Dososd

(a)(mx2+nxl ’myz +nylj(b) (mxz—nx1 ’myQ +ny1)
m+n m+n m—n m+n

(c)(mxz +nx, ’myz —nylj(d)(mx2 — nx, ’myz —nyl)
m+n m-—n m-—n m—n
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(16) A(x,,,) 20805 B (x,,),) wond AB dm:n 3" exiegore Deseord Dodod

(a)(mx2 + nx, ,myz +ny, ](b) (mx2 - nx, ,myz +nylj
m-—n m+n

m+n m+n
©) mx, +nx, my,—ny, (d) mx, —nx, my,—ny,
m+n ~ m-n m-n ~ m-n

(17) A(x,,y,) 08a0 B (x,,7,) @and AB dx~ ego d5@osodayd
(a)_xl:yl (b)_x1:x2 (C)_yl:yZ (d)_x2:y2
(18)  A(x,y,) @08a B (x,,),) @ond AB Dy~ ego D5RotddnS
(a)_x1:y| (b)_xl:XZ (C)_yl ) (d)_xz:yz
(19) A(3,5) 2080t B (8,10) eond AB D 2:3 336" eodsdorr Daseound Dotoid

(a) (7,5) (b)(5,8) (c) (8,6)(d) (5,7)
(20) A(x,,y,) 2080 B (x,,),) wond AB o) &6 Dowdd

—X yz Vi —X yl X tx y1+y2 X tx J’1+)’2
(a)( 5 ](b)( 5 j()( j(d)( 5 )

(21) A(3,0) 2006050 B (-5,8) @ond AB chng), 2065 Dot
(a) (=1,4) (b)(-=2,8) (c) (4,-1)(d) (8,-2)
(22) A(6,9) 2805w B (=6,-9) ®and AB D duredotd) eRorddnd
(a)2:3 b)3:2  (o)l:1 (d)1:2
(23) (7,3) 20805 (6,-5) Do D X~ Zo VoSS
(@)6:7  (b)7:6 (¢)5:3 (d)3:5
(24) (5,-6) 8ok (—1,—4) Dot Dy~ B0 DBRoHINS
(@)1:5  (b)5:1 (¢)2:3 (d)3:2
(25) (acos6,0) 208050 (0,asin ) DotoHL LEETGo

(a)a (b)% (©a*  (d)a

(26) A(x,,,),B (x,,»,) &00cs0 C (x;,y;) Dotdden %’g"w ™ fo 8202 Sogerdo

((1) xl+x2+x3 y1+y2+y3 (b) xz yl yz
2 ’ 2 2

© X, +X,+ X, yty,t ), () x+x2 lery2
3 ’ 3 2

(27) (5,-2),(6,4) 0803w (7,-2) Docsden %ng ™ o Sela (Ed3Boo

(a) (6,4) (b)(18,0) (c) (6,-8)(d) (6,0)
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(28) (3,-5),(=7,4) 200050 (10,y) DotdDew 3gen T (o Gga WSS (2,-1)
29000 ) DD
(a)1 ®2  (o)-1 (d)-2
(29)  (=6,10) 0808 (3,-8) DodHV S Farerotrd) (—4,6) DPRoHOINE
(@)2:1 b)2:7  (c)2:8 (d)7:2
(30) A(-2,3),B (6,7) 208050 C (8,3) Dottoapen davroddesdddnmo ABCD 3gren
®owd 40 3o D =
(a) (0,1) (6)(0,-1) (c) (1,0)(d) (-1,0)
(31) A(=2,3),B (6,7) &00s» C (8,3) Docopen Sevzo ABC 3gren fwdakn AD

53)6,55(5630 ond D =

79 51 7
(a) (E’E) (b)[z,zj () (7,9) (d)£5,§j

(32) A(0,4),B (0,0) 200030 C (6,0) en 3grew ™l AABC pareo....cslloh
(a)10 )12 ()24  (d)2
(33) A(2,0),B (1,2) 20003 C (~1,6)en 3gen ™ o AABC pwreyo....Sllakr
(a)0 d)16 (c)4 (d)8
(34) Docospen (1,2),(—1,m) 208050 (=3,-4) e DB WAVD M Jesd
(a)-2 ®2 (o1 (d)-1
(35) Docospen (7,-2),(5,1) S0dasw (3,k) v 2B8Doben ond k Dewd

(a)3 (b)6  (c)4 (d)-2
(36) Docopen (1,21),(~2,6) S08asw (3,1) en DEDOBED 9OVD ¢ Dewsd

4 3 5 3
Z (b = Z (d) =
(a)5 ()5 (C)3 ()4
(37) (a,b),(b,c), (c,a) e Igen T do ez HESEogo (0,0) wonda’ +b* +¢* =
(a)abc (b)) a+b+c (c¢)2abc (d) 3abc
(38) (0,0),(2,0), (0,2) Dockospe & I6yE BeHz0 ELEOS...050rdew
(@4 (b) 4-242 (¢) 22 (d)4+242
(39) (0,10),(3,4/3), (3, p) &0 DoerE0 G200 Igren WaD p Dend
@2 3 (N2 @3
(40) (0,-1),(=2,3),(6,7), (8,3) Docospen %g"w ™ o 63:3&)6@0 DFogo...dllosre

(a) 20 ()40  (c) 80 (d)1600
(41) (3,2),(0,5),(-3,2), (0,-1) Dotospen %g"w ™ (f0 SBUGPo DT fo....csllor
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@9  (b)I8 ()46 (W18
(42) (4,8),(7,5),(1,-1), (-2,k) Dotrsnen égeséod@o %g"w 900 k Dewd

(a)l ()2 ()3 (d)4
(43) D080 (6,—1)™ o AABC ciog) 3gen A (3,4),B (-2,5) @035 3o C =

(@) (-12,17) (b)(17,12) (¢) A17,-12)(d) (-17,12)
(44) A (0,3),B (0,0),C(5,0) Docwranen BESBIG0 IFen oD §5:20 FE...ohrdegw
(@3 ()5 ()8 (d) 34
(45) A(2,3),B (4,5) wond AB cwg) oren
(@0 ()1 ()2 ()3
(46)  (a,0) 08050 (0,5)DodDHOR S Barrocio e e
a a b b
had _z _Z d)=
(a)b (b) 5 () ; ( )a
(47) X 9800 DAToBBHVTT (o B aBoog), TP
(@)0 (b)1 (c) =1 (d) dsgots Sz
(48) X7 e980% DAFoSBEHAT (f0 B ABoog), TPew
(@) 0 (B)1 (c) =1 (d) Boed T
(49) (=2,-1),(a,0),(4,b), (1,2) Docoipen PBFoSESBO20 FTen wand (a,b)
(@) B, (8)(1,3) (©) (-1,-3)(d) (=3,
(50) A,B 2086030 C en ©8Dosen wons AABC DFofo....llosor

(@l (0) 2 ()4 (d) 0

ANSWERS

1. (B) 2. (A) 3. (D) 4. (C) 5. (B) 6. (B) 7. (D) 8. (C) 9. (D) 10. (D) 11. (A) 12.
(A) 13. (B) 14. (C) 15. (A) 16. (D) 17. (C) 18. (B) 19. (D) 20. (D) 21. (A) 22.
(C) 23. (D) 24. (B) 25. (A) 26. (C) 27. (D) 28. (D) 29. (B) 30. (B) 31. (C) 32.
(B) 33. (B) 34. (D) 35. (C) 36. (C) 37. (D) 38. (D) 39. (C) 40. (B) 41. (B) 42.
(B) 43. (C) 44. (D) 45. (B) 46. (C) 47. (A) 48. (A) 49. (B) 50. (D)

72



SBTET -APPOLYCET - STUDY MATERIAL
8. J8rd (Bgheren
8 v gherod) o Fared) $Ertomr ol AN B alvmE ©otrd.

JDEraren wsé)aééés Sere Sogg SErdomr &) Boh wugheres SErPe TEB308 T8 wddrH
Seren $EPSom $omrd $H0cn ©ERD gheres a8 IGBS Tor ©d Fdos’ owed.

RS 503)2365 Fheren So o) (B aogheres JRPEH JEPFE.

am: BEFD SHS e /\
Behepe HEFIE 1 Bold (Bghepen BErHorr Gomreodl & [ /ﬁ‘\

1. 05808 Seren $SrSomr domd.
2. 8 ©H8rS gheres o8 GBS sowd.

(PBNE wdorS depodo : a8 (Beheos® o8 Herdd SrosSorr DS Sp WADS Bokh hered

3% I DoHos® PolodS, & WADS Botk heren &8 3@@6“5 Q¥BoHatzeom.

(B2here HErHE Schdren :

1. S8 0ho: Bokh Beheres® wdtrd Swrwn Sdrbor ¢ol 8 oddES here
APBen Sdrorr dotram.

2. gheheh AchHo : Dok (Bgheredt, af (880eos® therer ITE (BeHeos® el
PSS’ ¢%) © Toth (Bheres™ vksrs Sarer YEirso. HOn © Toh (Bgberen
Jraren.

3 355525 Qohido : ¥ (Behednd® ¥ SFndn, I (Beheodt el BodndH BErERS
& Boto Seen EONCK0R) gharen oS0’ ¢of © Bok (Bghepen DErF.

X 55 (Sehere SToge A8 & ododrd here S8Ene NHBE S0 Sdrlo.

TIPS drpodin X Fleaits] depod :

X o8 vonts (Bebaind® S5kn B S8k WAOS Sob e S e HiTKo.

8 @ée;imémﬁs 2.8 ghesdn o é&gfm DADX To ehere 51’;:@ F0FR8 BIPIHD I8

&8 S doa Sodn wontindn wdm &(Bhassin oo (B%dezesdo)lo.

AD 2
&TP58e ¢ AABCS® DE | BC 00050 =’ AC = 4.9 ©®o%3 AE dend dod ?

&5 ¢ aaBc S DE 1BC,
AD AE
DB EC
AD 2 AE 2
DB 5 EC 5

AC=49,then AE:EC=2:5

, (EPE0E ©HrE rpodo Kod)
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AE 2

AC—AE 5
5AE=2(AC- AE)

=2AC-2AE
5 AE+2AE = 2AC
AABC &° gheren AB 580im AC o Dothden D, E ©owd AD =4, DE=45, AE=S§,
EC =89 20.%. wowd DE | Bcohae ?
P85 : (FERE s Bpodo
8 AE

80

73

AD 40 08

DB 45 09 9 E
= DE [ BC
1.50 &. &) Ko w8 K8 A& 3.0 . MBS oF dhahed® 8 & FEH do A
) oiheadd 859 [0 B o8 sowed ? A

P
FES 1 (FE0E orE drpodo (oo 1.5 ‘
AABC, APQR e %878 (Beheren. e ] QBR

4
AB BC 15 3 B8xis5
T e Y —:—:’)PQ: :4&;.
PQ QR' PQ B8 3,

B)S d&o bo& AB,AC o DE=1:3 Siggé‘s 2080d% DE=2.4 0.5, wawd BC=?
PSS AADE ~AABC |, (H8maren)

WO | oo

AD_DE_1 24 ..o ..
y—T —y — T — s ==
2B BC '3 BC' % o

39)S $©06% | BAD = L CAD,AB = 3.4 cm, BD = 4 cm BC = 10 cm ®o%5 AC= cm
S+ AABD &° AADC 0 BErD (@gberes, DC=10-4=6

BD AB A
DC~ AC
4 34 AC_E.a;ch
DC  AC' T4
34%6
= 1 =17%3=51cm
B D C

w8 SHY(Ho S Yo 742 20.8%. wand = S50 2o¥ ?

PGS 1 ABCD $&38(%0
ABC 2.8 voats @3be0 A D

W2

9,

Floitsis ‘ow‘;oéo (Bse8o,

:z(?ﬁ}fzmxz:z B
2 2 B a

Beop = @hedn)’ = 7°=49 5120.5.=7

a +al = (742)2 = 228 (W22 =2 a
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7. AABC~ ADEF %005 &8 3oergen S&Sm 64 $.20.8., 121 £.20.8. vl Fod
EoiPSodn ? Beresn - F
SR --F - I NAN
ADEF @@"ogme (EF)*
& € 4 E
64  BC? . 64x(15.4)2 V64 X (15.4)%  \64,/(15.4)?
21 @saE - T 12 T 1 m
X 2 830
8 25, D Ko o8 ADYS, FED 20 . A& o 8880 HHHB. vawd @ IHYS ©bib
BTt 3@?.3 8 08 o ErBeds® ad ?
S5 1 PEHSR wErodtn Hob i
AC? = AB? + BCZ
25% = 202 + BC? = BC? = 25?2 = 20°% = 625 — 400 = 225 25 20
BC=4225=15
C B
aam@al)é D3 :
L S5rs88% 65
D~ 2) = 3) = 4) |
2. Dok deren P VEFD (Bheren ©otrs.
1) &8 Do) SOA &od 2) &8 s°80 EOA 0nodHe
3) o8 0500 A GO 4) b=
8. (rEE ohird JEPoeds HOGENE D
1) 35 2) Qw8 3) ¥8rD 4) doseeHd
ADEF
4 =S $0os® %ol DE || BC %0 AD:DB=5:4 ©oxs ROTD
81
1) 25 2) — 3) —
5. 3o JBrd (Bghere Hipfode A[E 41 9 o A e I ?
1)16:9 2)2:3 3) 16: 81 4) 61: 81
6. &od TS here Fodes voan (BgPeren
1)3,4,5 2) 12, 13, 5 3) 18, 17, 5 4) o)
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7. =) $&o&® DE | BC, AD=x, DB=x-2, AE = x+2, CE = x-1 @i x=?
C
1) 4 2) 2 3) 3 01 &
A D B
8. AABC &° D,E,Feo AB,BC,CA © Sotly DoHPTI  ADEF 3750 : AABC I3eg0
F E
1)1:3 2)1: 2 3)1:4 4)1:1
B C
D

9. S deo ol AB || CD, woxs , x=

1) 3 9) 4 3) 2 4) 7 ‘-
10. 28 8 St 150 . SE0 0¥ Sod 200 . sZT°R8 (HArBodS wdh adhen GO

($8Fo %008 ok o8 Ersos® vk ?

1) 180 &. 2) 160 . 3) 150 &». 4) 250 &
11. 88 S&8(Eo ABCD 08508 37 dothid) O wowd 0B + w? =2

1) 0A? 4+ 0c? 2) 0A? 4 OBZ 3) 0A?Z — 0c? 4) 0c? + oD?
120 ooafmo Bgadn ABC & ooat’nin €8%n C ¢ ok, BC=a, CA = b, AB =

ST hkne §850 ‘C’ $o8 AB & AS voadn FEH P wowd

i1 1 1 1 1 1 s 1 oh

1)P2_512_i:12 2)?_5 B)F'z_q2 b? 4) e
13 ooat’n @ehasn ABCE 850 A $§ vont’no Soth. BL %0dn CM e &6° Souis

Speo ©ond 4(BL24+CM?) =?

1) 4BC? 2) 3 BC2 3) 2BC2  4) 5BC?
14 a9 d&os® QA L AB, PB L AB, AO=20cm, BO=12cm PB=18 cm ®owd AQ =2

1) 30 2) 20 3) 10 4) 144 o B
15. A ABC &8 ¥ e (@3baso AD L BC oowd AD*=

) 3BD? BD2 )
1) BD 2) ¢ 3) ~ 4) 4BD
ANSWERS

I.LA 2.B 3.A 4.D 5.C 6.D 7.A 8.C 9.D 10.D
11.A  12.C 13.D 14.A 15B
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9. zégqeéo “Gv)égéspe» $0055» B8 Bew
2.8 ¥%800s® Bo Tpen ﬁ@éom 2.8 2.8 Dod 5§ podotrotron

Sor wden poloBHstY.

%
%

¥ K H H

*

Y JoH¥ SEw - HEw
$)8)0e o So o8 SKo Sl o So Kol [{IroS adod. & JEPR) Inie
SHRPACDS e ToR P 1583 Hons® ed@rAcdTE.
52, 9B B BHIHD YN Dot %) Qo) wotrds.
8 HESwp Ho 3L Dot Hoore AchadS 26‘363333 © %) Potdoid 58 S‘gﬁi’u‘;&)%
LOVINVP SO0,
a8 @é BURSEART AT G 2.662 AckhadS }69)63 Bpen Bdrodores.
3G T o8 o“ae)e‘_i:@& B I I DoddHe o“ac‘.g podohle.
a8 59)6320% olod 260)253 Ben ﬁdﬁ;&’:iﬁaz&.
5@@3% &Py Doty o AchndS 3% Boo PEHen HErPESD
5@6:;3% 2P Dot Jood A3 % ) Bl 3)60)55 e Dobsgpodss 331:';’.3 @é@ééx
@wé&éo@i&a 0.
Both NE Sols éaa_goés Py B0 Tk 5 o8 HELn Tt HY) LoD I
SoBpols b,
O éo@ﬁaﬁ»m o éaa:;&)% ey Do) A Jood AodhdS 3% Boen AP, AQ wond
LPAQ = 2 L OQP ®Ib.

P

~—§

a8 HES0 ABCD S8y P,Q R, S 2.663 &8 AB+CD = BC+DA o,

P i C
| Q
_ B
A -

385 &t 3325“)&5 B8 o

Eée)e?;fo& By 2.8 2.8 Do Eéé 288 QR So5dw %) @oirdo. Botd DoodHe ach
o80T Y FES Tp ©Q Woirss.

&g ée)ééaoé‘g&) B0 pois Dothe Ry 33350)35 Bae oo,
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V.

aQ)S Hwos® O oo rwegﬁ*’gé:a?? o $¥5E" OAPB &8 25t LAOB S0
x°
360°
APB é@é Efelat Sggo = OAPB ?os;& S0 - ADAB S350
1. éaé a°§3°§a’m 5 20.8. $dddn éo)tig Bpo Sy 50 600 ©ansd 26@§ '550@26» o0& &Py
QoD% 5:655 o &rdo do8 ?
PEL ) ) wg@é:ﬁ»é‘ om0 Foknd
2.8 o (Bgde0
2. 0 Do Hod aﬁe)éo D% Ackhds 263(53 By PEH 24 0.8, Sdck» @é 's"o@So $od
25 0.8, wowd g 3333"235:0 ?

E ok JTegsw

x° ©oMd ?os;éa STegn = % Tt

FEL: 2.8 w0 (B&desio.
3. Zoorr Ko JHTodd Kok o HE HY Bpen wond  ?

FEL:
S&Bpzo ol
4. 5%0.D., 3 0.5. a‘gﬁt’g&wés Both ¥ Sol¥ JHTen SoP. G JHESRD 26036,303 El
o ey PEH EXfE08.

PES Both D ol 5@@@6‘ 2Py HESH QoY) ey ©odS HESw SnE) JHY)
ATt 5§ SBPoES @i,

2.8 0ot (Bgdez0.

'zbcgéaé &g PEH = 8 Do..
5. HE SRS T Do.d. 20k 60° D erdd Shsem S g EHIHG.

PGS T g0 =
$.20.8.
6.  HALrEes® ddnipoingy LD 14 0.8, 10 1T D80T HEE FTesEod ?
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360

5L 10 Qoyost e S0y Rbo o 10° — 36°

-, X_D ¢, S E E 4__4, 14, — E _ ﬁ‘l 6

R FTOL0 g X = geg X g XX =T =61.6 J3

TDEE,S DG e -
a8 HHE OB B, T @55'%3058, B Dot I8 Rso S0 ?
1) 60° 2)0° 3) 90° 4) 180°
.8 $)zeR8 ke e Dogyg ?
1) 60°° 2) 24 3) 90 4) o080
a8 ?85 DoY) 08 B5eS SrBos® o Do 263°§o ?
1) $8¥3e 2) DotHD 3) Eée)ézéaa 4) Bge oo
@ééﬁaéeé‘sﬁ &0 ?
1) 90° 2) 60° 3) 180° 4) 100°
&5 St 0 éo@ﬁom é&ééaoé‘s LAOB = 100° ®o»d LADB=?
C
A D B
1) 60°110 2) 120 3) 130° 4) 140°
Sfch Styeos® O Both adew B e Fwgo ?
1) 90 2) 120 3) 100 4) 180°
5@@@% Ho 8L &g ?
— «Q
1) 359850 2) @@jﬁaﬁ oo  3) me@“géw 4) Hb=n
(©%) Beo Lol ?
\/
)
1) 40 2) 45° 3) 100° 4) 10°
Sty $BPSPee 0 Dothide howe Ak Gze voxg ?
1) 3 2) 2 3) 0 4) 1
ANSWERS

1.C 2.D 3.D 4. A 5.D 6.C 7.A & B 9.D
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10. S&30&

HrgHho CnY) FTopin, 65080 FTegkn, HXH0EraEn Farbeld FEN8 ©d votrd.
&S&édﬁa Seren : (B3hezo, SSY(Ho, 515» S&Y(Ro D0cky FHBdw.
B08cH Heren 1 Fado, 5?» Pod0, DEXE, E(‘o;éo, Fdo, dogwd), Se%o.
(Bghe 350 @ a, b, cen goeren Ho (Bgbuo ey

a+b+c
2

A=ys(s—a)(s—b)(s—c), s= B oS drEo wotrds.

eaé;& 65080 JTego éoéyéée 350 PO Io b horte)
L &Y o 2h (I+b) 2(Ib+bh+hl) Ibh
= SPED,
b=38e0), h=&
2. Jddoodo 4a2 Hao 6s2 a’
a=&heso
(B Sg8o FrH0OX K (S Sego g3 Teg0
X2(grgeres0) X%
263;&0 2nrh 2mr(r+h) nr’h
r= @53'%30
h= &
Sognd mrl ar (1+7r) Em*:h
= déren SPED
4
o dmr? dmr? Em‘g
HENE 1/2 £»%06 adddogTes0 1/3 &~ 3o
X0 28 + r3e50 X &
Fo550ETea0 588 Dodibedy Sor S5 Hehs® Fedrs.
e $65% 2oddwdy Sor $88H st Fadrs.

X ‘q’»méaé S VXm0l o H0Eres0 © é‘@pé}é‘sﬁ @Q&‘@E"%@ S0P PIH0Sreacd

FNONTe)

X g% eeéa@e?s &) %D 28 @é&@é‘g SrPodbo Basoe TRO° oRDORTe0 STB.
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PROBLEMS
) a8 HE G T5rgo 5 0.0 wond FTeos?
Sol : HBIW@0E) Jego (A) =, = S5cm
=7 x 52 =251 sq cm.
2) 5&5» Sy Foden 15 0.8 x 1230.0 x 10 0.8 wowd &d0de Tormos?
Sol : &880 Seeego = 2h (1+b)
l=15cm, b=r1, h=10cm
= 2(10) (15 + 12) = 20(27) = 540 sq. cm.
3)  20%0.8 x 1020.8 x 10%0.d. FTegoife 33%6’3 10 x 5 x 2.5 Foden o Sapen I DI8HK?
Sol : 28 03HNBee0 = Ibh
=20 x 10 x 10 = 2000 cub.cm.
e $dD0Ire0 = 10 x 5 x 2.5 =125 cc

288° K)%?ﬁ@ Segyen P08 D8 HH5505r05 Qe 0550508 HBoTd.

©

200

- _16
125

4)  Feo JE8o FToe N8 1:4 vod T HRIOSFHo A 0¥ ?
Sol : SE&e Jerego S, = 47tr12 S, = 41rr12

S;:S, = 4nr” 1 dmr’ =r’:r}
S :S =r’:r)=1:4 =>r:r,=1:4

ViV, =§an3 Igﬂ?r;

=1} (@r) =1’ :64r} =1:64
5) b 12 0., ¥ FTepe 25 S8, Do.d Ko BBWE HSH0ErEe J08 ?

1
Sol : HBDE $o¥HBHPe0 = 3 FrRTes0 x &

|
:g x 12 x 25 =100 cc. cm.

6) (B HTTs opwdTY) ;s‘gﬁgo 6 20.%., NG 720.8. ©ond $5H0ErH0 Jod ?

1
—nrth, a*g@"tgo (r) = 6 20.8, & (h) =7 0.

Sol : $ogw) N80 3

1 )
=5 Xmx@x7 = X x36x1=36cc,
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o8 a0 ¥§ Kpdredor aod. R 2% 11 Ro.d, e FFES 7 20.% wand 50 Shew o
$o808re0 ool ?

7
Sol : KrHodwE) $o5H0HPe0 = mrh, = 2 om, h=1lem

2 T 2T 8T e
772 2

847
50 $go Ekdodrmo =50 —==21175 ce

T20.8 gheedorr o a8 3 Hd5n H08 o Ho5HdSrmory dognddd 3369)652100 ?

1
Sol : o) oXHBSre0 V = gﬂrzh r= a‘gﬁbgo; h=0%

r=35cm; h=7cm
7
zlxgx(3.5)2x7 /\ o
3 7

35

V:%x 22x3.5%x3.5=89.83cc

MULTIPLE CHOICE QUESTIONS

ég D80, doees A ( )
A) 4 B) 8 c9 D) 6
égo“ozﬁmﬁnéa& 635080 Jogo B dr@o ()
A) 2mrh B) 2nr’h C) nr*h D) None
720.8 asgg@ééw, 10 0.5 d&Ke BoBHT0E) TPen ( )
A) 134 B) 103 ) 182 D) 12.2
6 20.8 Fgdone FPgod 2 0.8 Fgsmiie &K PE308? ()
A) 48 B) 12 C) 36 D) 24
ésg $%508% 1=b = h oand ©& HHrHH? ( )
A) 3059 B) {5 055w C) &pso D) dbse
88 cc o {parse dF@NE), T5FLo 2 0.8 wowd A Jos? (!
A5 B) 6 C)7 D) 8
1y F¥odnE) PHBHBSEO.. .. ... 20.8 ( )
A) i7:(R3—r3) B) g7t(R3—r3) C) l7t(R3—r3) D) éTt(R3 —r3)

3 3 2 6
a8 a°§ﬁ°go, Qe Sognd O ‘égéocﬁ»é& D00 A ( )
A)1:3 B)3:1 0)2:3 D)3:2

28 B3 $dodny) ghakin 420.8. %% 400 Sden, wowd 3200 vt St  ghaRos?

C )
A) 64 B) 32 02 D) 16

2.8 égéo@négr $0300:rea0 49.896cm’, 63080 Sereo 4752 cm’ @O méﬁg&oéé ?7( )
A) 123 B) 10 0)21 D) 13.7
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11.

12.

13.

SBTET -APPOLYCET - STUDY MATERIAL

a8 &roH SPEH IenD 3 Bey HBA 6% 250 0.8 ol @b 3000 wexEy No&SH wand e

Jweghod ? ()

A) 111775 m? B) 1171.875 m? C) 1.171875 m? D) 11.71875 m?

g 3ego 25 sq.om, & 12 0.0 Ko HENE HEBsoIrEo Jo ? ( )
A) 100 B) 150 C) 200 D) 250

a8 Heedo Sogod) esdos® God 60 %ngssao BOAS obe a‘g@"go S8 e IEETNE) IS
C )
A)2:1 B) 2:3 C)3:2 D) 1:2
28 5% Seden 30cm x 30cm x 5 cm QBTd. B w8 Both xpren 2.5mts x 1.2mts %) @0
@ P Qo8 edly atnden 20 x 16 x8 20.8 A S°0? ()
A) 13500 B) 15000 C) 20050 D) 18500

ANSWERS
LB 2A 3D 4C 5D 6C 7A 8&A 9B 10.C
IL.C 122A 13D 14.B

83



SBTET -APPOLYCET - STUDY MATERIAL

(11 85°mad )

2.8 ([B20aHe® ghadne Hon Sere 055 SoRorrd)) S eRSTY (BP0 dnd eotrd.

2.8 ©o8s (Bghesns® o B8 e VY& JBDoTD.
08 BB &7 ghessiod A ghessiw, (DFIKY) abassnd ($F) gheo @otrd.
%08 Ages ¢

Sinb = —aéaio@aao = %, Cosb = —@éé,g?fao = % A
8
Tan6:M=£, CosecGzétﬁL=A—C
(%) ghessio BC A& gheso  AB
g%o 0% ghesdm B 0
Sece=m :%, Cot@=§(\i§>m ZA_E B c
68 Fero (9°n8ad e
Bo Slere 0o 90° o B T8 Sheeen ©otT.
eoe ;1) 30, 60; 28,62; 75,15
Sin (90 — 0) = Cos 6, Cos (90 — 0) =Sin 6
Cosec (90 — 0) = Sec 6, Tan (90 — 6) = Cot 6
Cot (90 — 0) = Tan 0, Sec (90 — 6) = Cosec 0
BS%eatns S8 Seren ¢
Deductions
Sin?0 + Cos?0 = 1 Sin’6 = 1 — Cos?0
Cos?0 = 1 — Sin’0
Sec?0 — Tan?0 = 1 Sec?0 = 1 + Tan?0, Tan?0 = Sec?0 — 1
Cosec?0 — Cot?0 = 1 Cosec?0 = 1 + Cot?0, Cot?0 = Cosec?0 — 1

PROBLEMS

1) a8 oot @ghezos® ABC, 12, 13, 5 e of AB, AC, BC 9% ghero Foder wond Sind,
Cos0, Tan0 S ELiPSod.

A gHaso _@_E

Sol : 3% AABC. Sind = AB=12; BC=5;AC=13

s80 T AC 13
% A

Cogp — B @m0 _BC_ 5 b 13

50 AC 13

€9
AB 12

TanO = 250 ﬁ)&o BC ? B 8 C

égo 5
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8
2) CosA =17 ©@ond Find Sin A, Tan A E5°&8050.

8
Sol : 2.8 ©038%s (Bghesiono 206&05)26. &S Cos A = 17 QR =8; PR=7
P
18 _ @’Jé& gheso 17
Cos A = 7 T{,‘ao 15
Flailatels) ‘z”ocs(;oéo Hod PQ? + QR? = PR? A
PQ? + 82 = 172 Q : R
PQ? - 177 — 8> =289 — 64 = 225
PQ =225 =15
. AHB gHhxo 15 QB gheso 15
A= s Tan A= =
Sin 850 170 0T g eomo 8
3 3 1+5inf S B
3) Coto = ®Oo® Cosb e a° .
Sol : =& Cotb = 2
(1) = b) 0 - 4’
@ég gheso 3
CotO = =
880 4 5
4
. 4
Sin6=—, CosO=—
5
0
1 4 5+4 3
1+Sin6_ "5 s 9,
Cos0 3 3
5 5
(808 denden : &8 dripren :
1 . 1
o | 0 |30 [ 450 |60° | 90° Coseed = g0 SN0 = eco
1 1 |3 1
: - — | M2 SecO=——, CosO =
Sind 0 2 V2|2 I Cos9 SecO
NE) 1 1 1
N2 — | = Cot0 =——, Tanb =
CosB I ) V2| 2 0 Tan© Cot6
1 Sin6 Cos©
— Tan 0 = , CotO =
Tanb | 0 |7z | 1 |43 ]a 056 Sin®
PROBLEMS

1)  Sin30° + Co0s60° Dend o ?

1 1

Sol : 5 aS HGE (Bseo Sin30° + Cos60” = = + 5= 1

[\
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2Tan 45°
—_— ?
2) 1+ Tan230 Nend o 7
2Tan45’  2x1 2
Sol : HEY (B0, 1+ Tan230 |2 1+l
1+ — 3
NE)
3+1 4 2
3
Sin30° + Tan45° — Cosec60°® < 2o 2
3 TCot45" + Cos60° — Sec30’ OB 08
1,2
Sin30° + Tan45° — Cosec60° 2 J3
. 0 0 0o - 1 B =1
Sol 1 Cot45° + Cos60° — Sec30 1.1 2
2 3
. 1 3o
4) If Sin(P — Q) = 5 Cos (P +Q) = -5 Find P and Q.
. 1 V3
Sol : Sin(P — Q) = 5= Sin 30°; Cos (P +Q) = > " Cos30°
L P-Q=30 ... (1) P+Q=30" ... )
(1) $08050 (2) o oS P — Q = 30
P+Q=30
2P - 60 P=30 Q=0°

5)  AABC &° ©o0855%5mren ABC, ®ond Tan[A ; B J = Cot% B,
Sol : ABC en @088 %33

A+ B+ C =180, — =

A+B C A+B C
2 = R

Tan [A+Bj :COt%

6) Sin 15° Sec75° Qend o0& ?
Sol : Sin 15. Sec(90 — 15)

Sin 15 x Cosec 15°

Sinl5 x 1

Sinl5
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7)  P&oPed Sin 5° Cos 85° + Cos 5° Sin 85 = ?
Sol : Sin 5° Cos 85° + Cos 5° Sin 85° = Sin 5° Cos (90 — 5°) + Cos 5 Sin (90 — 5%
(5°, 85° pB5E Eoeaeen)
= Sin 5° Sin5° + Cos® Cos®
= Sin?5 + Cos?5 =1
8) (1 + Tan 0 + Sec 0) (1 + Cot 6 — Cosec 0) = 2 ©9 Herd RoHOA.

Sin© 1 Cos0 1 Cos0+Sin0+1}( Sin6 + Cos6 —1
Sol : LHS=| 1+ + I+ ———= = -
Cos6 Cos6 Sin® Sin6 Cos6 Sin®

~ (CosB+Sin®)>~17  Cos”6+Sin? 0+ 2Sin CosH-1
Cos6Sin6 Cos0 x Sin©

_ 1+ 2Sin0 Cos0-1
Sin6 Cos6

9) (CosecO — Cot0)* = % QBrLoXod.

1+ Cos

1 COS@)Z _(1-CosB)> _ (1 - Cosb)?

. LHS = (Cosec0 — Cot0)? = -
Sol : (Cosech — Cot) [Sine Sind

Sin’0 1- Cos0

(1 - Cos0)? 1 Cos®
~ (1+CosB) (1 -Cos0) 1+ Cosb

10) Tan’0 + Tan‘0 = Sec'0 — Sec?0 JErLoLok.
Sol : LHS Tan’?0 + Tan*0 = Tan?0 (1 + Tan%0)
= Tan’0 (Sec?0)
= (Sec?0 — 1) (Sec’0)
Sec'® — Sec?0

MULTIPLE CHOICE QUESTIONS

I, SinA©%%6 Sin HOGW A ogiie? (
A) 9% B) 52t C) Algebric Product D) 38w
4 -
2. Cosx= 3 ©oNd x & JenHB DE;EH? (
A) 30° B) 60° C) 90° D) Not possible
1
3. Tanb=—"=wmad 0Jend EFrSEm. (
3
A) 30° B) 60° C) 90° D) 75°
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10.

11.

12.

13.

14.

15.

16.

SBTET -APPOLYCET - STUDY MATERIAL

Cos?0 + Sin?0 Dend o ?
A) 1 B) 0 Q) 12

Cosec (90 — 0) Dend Do&?
A) Tan6 B) Sec6 C) Sin6

750 D) o8 8850 Dod?
A) 35 B) 15° C) -75

Sin (A + B) = Sin A + Sin B e0t%0?

Sin A
A) 019 B) 50, 96 Spp ©) 5o
Sin (90 — 6) =
Sin90
A) Sin 90-Sin6 B) Sino C) Cos6

Cos 7A = Sin (30-A) ®ond A densd Dos?
A) 10° B) 20° C) 40°

TanA = Cot B, ®on& A+B = ?
A) 90° B) 60 C) 30

A+B
AB,C e» AABC &° &538 COS[ j= ?

C A-B C

Tan— Cot| —— Sin—

A) an 5 B) [ > J C) n 2
Cos 12° — Sin 78° Qend o ?

A) 1 B)% C)2

Tan80 + Cos80° 5 0-20° © Smore @8 nandch JfHes® Bendod.
A) Sinl15° + Cos5®  B) Tan20 + Cotl0° C) Sin15° + Cos10°

SinA = % wond Cos A = dos

JNES o 2 ]
)17 )17 )17

x =17, @and Cos’(x> + x) + Sin*(x*> + x) = ?
A) 0 B) 1 C) 16
Cos?0 — Sin’0 = 0 ®ond 0 = ?

A) = B) = 0~
)3 )% )3

88

D) a
D) Cos6

D) 105

D) B@éo

D) 0°

D) 75°

D) 180°

D) Sin[

D) 0

D) Cotl0 + Sin10°

D) =~
)4

A+B

)
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1 1
+
17 14Cos® ' 1-Cosp D% 087
A) 2Cosec®0 B) 2Cos*0 o)1 D) 0

18.  Tan 48° Tan 42° = ?

A) 1 B) 0 C) 2° D) 90°

19.  Cosl? Cos2® Cos3? .... Cos2023° = ( )
1
A)O B) 1 C) Sin1° Sin2°Sin3°... Sin2023° D) 5

20. x =P Cosb, y = PSind eowd x* + )2 Jenss Do ?

A) 0 B) | C) p? D)

|-

21. (1 + Tan® + SecB) (1 — CotB + Cosech) Densd Noes?

Al B) 2 Q)3 D) 4
Cos?15%+ Sin?75°
22 Sin236" 4 Sin?54”
1
A) 0 B) 5 01 D) —
1+SinA
23. l—SinA Qe 208?
SecA
A) SecA + TanA B) SecA — TanA C) SecA TanA D)
TanA
24.  (SinB + Cos0)? + (Sin® — CosB)>= ?
Al B) 2 Q)3 D) 4
25. sem agrgo Ho H¥ BolEoB 60° B ey KD Do ?
A) 10 B) 20 C) 205 D)5
1 - Tan?45° 0
26. T 2.0 °
1+ Tan”45
A) 0 B) 1 Q)2 D) 45

a
27. Tan@ = b oowd Cosd = ?

b b a a
NEe  Plie 9 g D

28.  SecO + TanB = P, @ow@ SecO — Tand Densd dos ?

A) P B) P Q) % D) P?

89



29.

30.

SBTET -APPOLYCET - STUDY MATERIAL

SecA(1 - SinA) (SecA + TanA) & Kr§88osT
A) TanA B) SecA 01

Sin0 — CosO +1 _ 0
Sind + Cos0 —1

1

A) Sech + Tan®  B) Sec6 — Tan6 C) Secd — Tand

ANSWERS
I.LB 2D 3A 4A 5B 6B 1C
1.C 122D 13.D 14A I5B 16D 17.A

21.B  22.C 23.A 24.B 25.D 26.A 271.B

90

8.C

18. A

28.C

D) SinA

D) SecO Tan6

9.A

19.A

29.C

10. A

20.C

30.A
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[la. BS°20d @}ﬁ)zﬁgmen]
(88%508 B0 JeddBos® B8BTS Divdge FPEIH SBITAIO.

$6 g DHTY, VY BEBLOE) & (BE°e0d THTe LD,
é@% B : ol KOVoDES SHd EODE B

882 HEPoBS Ty : g8 JSroBBorr Achadd Te.

éagg &0 : 882 J50s88 B 659)38333 ) Sodn beso.

&383 00 1 §8e $ir08S T ¢)30s 8068 o Ewo. P

PFRHER ?ocs;oééaa : o8 wonsben (Bghesos® égoﬁb& SBo Misee
3Hasdne aécgo 0ze8 HdeKo.

PR? = PQ? + QR?

Q R
PROBLEMS
1) 28 epentd ﬁsﬁ.’@éo&wég D58 Do 30° éags 008 480 s’ @ol 0l o QED
EooPS08. A
Sol : AABC .8 ©o28%s (@3beso
AB = d&); BC =grdr3 Ao 5680008 &rdo h
300
C B
Tan30° = 22— BC = ABTan30°
BC
1 4
=4—=——mts.
BB
2) 25 & 28BS FokHod Toer af $B 45° %S0’ rad @ K8 Forkod dod Erdost

Bodd.
Sol : AB=80& &
BC = é&éé 8o GBo.
AD 882 35088 St 45° &° [
AD || BC
o ZDAC = ZACB = 45°, AABC 2.8 ©o28% (@abeso
@95859833@0‘53 AHKe Dok,

Cotas® = BC
AB

I:B—C:>BC:AB:>BC=25mts
AB

3) 5(3 & e ¥ Joadn adcho 7 HovedH 15 FEHKe A VIS Srdlare
S0 S50l

Sol : f@é@né& L = 15 mts. Logdw Ny = 5,/3 mts
R)Eﬁ)&%seao 0. ®ond PS | QR
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@6&7‘% 2.8 238 $Sross Seod Pododd 33603&26 ®oBord)

P60 S
S Sleren B5TS0
/RPS = ZQRP
0
. APQR o0& Tanb = g% ot R
TanG:ﬂzi =0=30"
15 7

4) 24 Doy S8 DB o8 I 60° @il Swos’ DOk DTheknts 45° ey Swos®
$5R0D8, HFDH K Eirdode.

Sol : AB =24m; BC = x (say)

AABD. %008 Tands® =24 & 122 Sy — C
’ y y
X
o_ AC 0
AACD %08& Tan60” = D AC = ADTan60 B
x +24=yf3 2% )
x+24=24J§:>x=24\/§—24=24(\/§—1)r1§1 BN,

| MULTIPLE CHOICE QUESTIONS |

. a8 md%wo 755 &S ADBHDK) AV 60° &y E%os® WrdS, ©b eIFEPADS w0

LD dos? «C )
50
A) 5042 B) 5 C) 5043 D) 50
2. a8 IS FEH 208, 0 AESH 10D IHS® T8, b Jod wos® Hodde? ( )
A) 450 B) 35° C) 30° D) 90°
3. S0 (Bnd edhdtred Qogen PHOTOOE SPHNID ( )

A) o) $8asrerr sowd.
B) ¢t SoB0t DpBieren §8a DEroBso wrrdorr &28%D.

C) $880%H A% MHIonoTed. D) 250

4. a8 o) Lol e o 50 ﬁbéoé NG 1HBEED FSSo Dol fﬂo:’._) SO dky a0
30° @and &P (DB K08 ? ( )
A) 508 B) 1005 C) 500 & D) d&sehd

5. BEFR B grrismidod e D65 30° A5nEieost O @b dod Erdos® ee? ()

o

75
A) 253 m B) 7543 m o L™ D) 7542 mts
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10.

SBTET -APPOLYCET - STUDY MATERIAL

2.8 Bey Bk Hge QB 1:4/3 ©and [Sudevivas! Bosmo 50253(;\%’5590 EHOPS08. ( )

A) 300 B) 60° C) 45° D) 90°

Bod B d&en Ko Yogre GETEo 80%n. & Bo Qogro a8 HothHdod 30°60°
35808 SrE © Yogro A do8? « )
A) 24, 64 B) 34, 46 C) 34, 64 D) 34, 60

2.8 OB D EIPH Botd Horsdeornod 4, 98 &rvos® K880 s Seper Fedseen @owd
© 56 % doi ? ()
A) 4439 B) 393 0) 39 D) 513

28 B Do IS bhEr Xy TR 607 & Sewod® KdIowlod. 15 Doy EhaE
b 30° &8 8%008° ES08S, o0 B 50043 D wavd T Io EHFDIW. ()

A) 200 m/s B) 400 m/s C) 600 m/s D) 500 m/s.
At Hghen o8 198 FHBoD 30°, 60” &tk 808’ (30 oy IHE') A O Ko
S5O0 « )
A) 4043 B) 2043 C) 6043 D) 80v3
sk ckekk ckok
ANSWERS

1.C 2.C 3.D 4.B 5.B 6. A 7.D 8.C 9.A 10. A

93



SBTET -APPOLYCET - STUDY MATERIAL

(13. B07yun;s )

a0 2.8 X»@Eécﬁ»é& K08558m, S"éééw JInBerH Jwee KHBoD K @@o (Sse80 KBoD
A éoep%gé [Slelhile )

QP B HBI0 : AGYE BAFKS® TBEID TPHSoT SH[PEH 2ETH Le(Eed
2310,

SIS (BIrHo : RGNS (HFERK0S” ©IEFY (HEPA0DIDE ©PNodE &F wisE
GO%E.

2.8 TPBED AHBIVE, &8y Soe F°Gen Bodre ¥ Ko oeaden.

&Ly oo 58 odsedsnd &°35 B &FH% DG Dogrdyd ©otrd. A P(E) 3
JedFL.

2.8 Hoed «28n éoa}’ééé
BT ééegéﬁwéé:oo Koy

P(E) =
o BEgHFTTeL Do

STPTOED
1) a8 P8 &°00dS 1,2,3,4,5,6 358 oeoden.
2) s%%0 R0 Rensoe.
3) 2.8 %oD%08 208 Soswe.
DD [0S ooden : JrIRS wdsedonie sueden.
R0graB AGDoDITE DADHE VIS PR
T o 06 2E08E H0gregBR P(T) e (@R
T % eoddre 665265'%2633@ Qogy

P(T) =
Sodo Kaéegzéﬁt’vo Qogy

BB Eﬁgé Powden : a8 (RS’ Bok B8 ©OBETY) BN Hoerdest a8 0SB0
K085 Kw.

ée)é 068 : DADS ©]) shedde HogHD K)Ssé?s_\g & eI DS Ségé 085 o,
e piNSore 2380 $0855 Cée)cé 08 ®oerd. Cﬁ@é S Sogrgsd ‘1.

O DS 1 a8 S DHIBOEE FEEENTPY oS TP e ©otr. TR Kogrsys
QgRPEr ‘0.

& 28 PAED E°00AS T 7 @ DogPasd H5i5) Foead.

P88 Pl e (BBrKost el oo (E) axthibey Sor adongdEde (E) eofk. adird
Qdogrdgsd P(B), laford Qdogrgs P(E) ®and TeB Fr88 s0éden @otrd.

o%pd P(E) =1- P(E)

o) dotoned®, P(E)+ P(E) =1
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eS0T 005758 DenHen JVIPEF SIPEBOre &otHD.
Hoeol axdorh Sogrsgse a=gyy (0, 1) S 0 <P(E) < 1.

D58 TR 18 : B5es Siter 3)@935 52 sedhen GothH. Sensd ?ooﬁ(\), DY B0k, Sendd
BN, DD E{Iséen, émpﬁ"éﬁ)& s%ﬁge», Tre, OB, ok,

PROBLEMS
1) 28 Bod APBAS QY JEPIFTen Lo?

Sol : &%y So FEK.

2) o8 PAEDH SO Y BEFren ¥oRH?
Sol:1,2,3,4,5,6.

3) o8 o sHe ééégés AY o wotd?
Sol : 52.

4) o8 TR0k NHEIVS F&H Bi BogrsgE o8 ?

Sol : &8 TBoDH IHBIVD By FBD HE wFTIo BoH. E odss H6d $E e, E
2387 DBgHFTen Dogyg 1, IwPo HgHrTren Dogy = 2
Fesd SopFTes |

e ———

5) o b o B0S BTk T 50850l 8%, (1) T, (2) T EeR), RHogRiss ST,
Sol : &P EDY s°he SRS
1) eenid Treren obd.
E 0536 orar $i8) H8edo
=4,
o DBgdFTeeD = 52

P(E) = %

2) Trersd) Kogray® !
E @88 ooersed $8555R80
=48.
Swdo HBgHPS0 = 52

py = 812
52 13

MULTIPLE CHOICE QUESTIONS

1. a8 (H&rost o) DEEHPTO SWEI ..ovrenin ©OeTLD. ( )
A) J30& B) 580 C) B8P e9dBes0 D) EBE D08
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FEHED oS Bogrsss o8? ()
A) O B) 1 0) a D) @c(;aoééas»
a8 BArKos® Towh BE wodson &N e’ el HOIDBNE, Loghd HADS ©)
Poede Vogsind IBHT o Hoeaden ( )
A) D508 o3 B) $53)5 9508 o3
C) (PGE e D) d&sehd
28 &S E, P(E) = ? ()
— _ _ 1
A) P(E) B) 1 — P(E) C) 1+ P(E) D) B
2.8 TBo DHESADT AR wHTeTen H5H)H? ( )
A) 2 B) 3 O 1 D) 0
o8 ot axthibid SO wEhRHoHES o PE), P(E) © Sns ()
P(E) P(E)
A) 1 B) 0 O 3@ D) pg)
28 B AHERDDS &y bl 00grPE8 doB? ( )
1 1
A) 5 B) 0 01 D) 3
28 FDED NHBIDY, 2308y B0 H5ifY) Vogrlgs dod ? ( )
A l B é C l D l
) 3 ) 6 ) 2 ) 6
Sogrdgee a5 ( )
A)O<PE)<1 B)O>PE)>1 C)PE)>1 D) P(E) < 1

10.

11.

12.

13.

14.

& (Bod s° Qogragd Dend seAR?
A) 5.6 B) -7.8 C) 142%

2.8 ©oss (Bgheos® égozéa AYED Dogrgd Dod?

A) 2 B)g 0)3

a8 PAEDH &GS B s Ddogy BogrsgE dod?

A = B) = 02
) 6 ) 6 ) 6
a8 S %é“‘w@ 5008 B wb T wid Hogrgs Dod?
N L4 Nt
) 52 ) 52 ) 26

2.8 O Bo5KBoS® 53 whHTTOHe Kogrid Jod?
A) = B) & 0 2
) 7 ) 7 ) 7
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D) -
D) =
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15.

16.

17.

18.

19.

20.

21.

SBTET -APPOLYCET - STUDY MATERIAL

POLYCET, @5 $r08008 a8 @f)d 8 Kogrdd dod?

A i B z C E
)= = ) >
e VD H2 sHhen Ko 28008 &aio QDogragd dod ?
A i B L C i
) 52 ) 26 ) 52

D)

Dy +
) 52

5 ), 6 SR, 7 QDY woHe ergrdod a8 Hif) w08 &aio Dogra®d dod ?

6 7 4
A 15 B) 15 © s

D) >
) 18

2.8 208 55 Ko IHBEROP JBX HepFed 08P SAS Jogrid dod ?

INE= B 2 0
)5 )5 )

BotH arDEe &GS &P 9 Hify) Sogrsyd dod ?
A) & B) ) =
) 12 ) 9 ) 36
Ho08 TPBEDOK HBETHP 3o 23"‘?33&@ PSS éoe,)“eéegéé 0& ?
A 2 B i C l
) 8 ) 8 ) 6

28 T8 SsCorrnR) 235@?.3 DBS 06 nE Bchads (Frosos®
D Dograg® o ?

A 1—9—7.E B l-lrg—rc (O
) 15 ) )

skok skeskok skok

ANSWERS

1.B 2.A 3.B 4.B 5.A 6. A 7.A 8.D

1.D 12.A 13.B 14.C 15.B 16.B 17.D 18.C
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9.A

19.B
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[14. oy s raaéoj

a;e%@_g @ HEodod @;&5\) [SPRLIN) t%@fi)o{)o&. FoggE @@ ERTION VROV 8555°e§ Q. 2RG.
[l el W DEBes, é@éés@, DEeea, é)goﬁea K)éééo TRo° SeE)E0d ﬁ°oap°§é @@o ©oErPS.
Sgrodin 1 Soh Beseenrv ééé&@j&. (1) ééé@é Szeodo, (2) @ééé&e‘é SEeodo

éPoaPéé 6”@ a’ac‘géoomrsm ééé@é BT20EH0DB0E) Srféw, zéadéﬁéo, 2P S0EFESne
EHPE.

B 1 x, x, . x, 08D THBB T DT SOOI [, £, f, . Lo @ééé@éﬁ @0 E5D
o) Drfew. (X MY ©oerdd)

Sien X = =

Someen I ¢o8 Hhiorr o THE TR SmowR) HHEE Semodorr SrtnHoer.
B5K58 0B850t Bzeoz) IENE, 3‘%:06)&?50?63 BB18 ©wodBo Sy éao&séoégg &% 0erS.

Zfixi

2f;
BOR0E HPB Hrien DO SDRRATD. BV DS HE8 Soe $ErodD e HES

oo X = BV (HBE BES w0,

_ f.d.
wotrd. d= Zzlf‘ (d= dSoare HiKe0).

1

X=a+ —f (a = B82P0DS Difen)

&
(&

Difes $E8 Soe BFS BB 558 :

h

2 fiu;
21

Sifen X =a +( jh (- OB SIBRONS Bikkn, h-B5K8 wosto, U =

WSS 1 S TrHeS® GBFY HITHBo ey 0B wrivEo o wotrd. ©NEE
SF0ESNENE) ePToEEID EDFPI0IBIT) O (B ég@@‘s @26363‘35%08

5858 SEodd arREEsnsS degsn = 1+ {zflfl__fofo_fzJ xh
1= eessors SEKBEE) BIHS 5

h = 85158 &

f, = ariooEs SEHBGE) S HgED

f, = arSOYE SE5B8 E0oHi) BEKB TP WK,

f, = arsSors SEHB8 SomBHg) BEK TSR,

é§§aé éqo%é»&»é& é:égféé» :zﬁ;q’gﬁézﬁmé& éo@éﬁ;é Dendest 288, Cﬁ@;go%éw@%
TeHen Soe HBE0T0 LY B0 DeodH KeDoHD.
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n+1 th
n & éospé ©and > Qend é}égﬁéaﬁ)ﬁ)?&. n 8 éospé @ond

SBTET -APPOLYCET - STUDY MATERIAL

@ééé@é B0 E50DB0E) Hggiso EFPTre08 SeErodint etiren éegé’éé‘s TPO5ed.

S ESr 0.

)

2)

3)

4)

é{ééaéé Sods) Soggrissn =1+

7,9, 11, 14, 16, 17, 18, 20, 27 &%) Sifex SHFSol.

Sol : @ééé@é BP0y difew =

E—cf

x h

n
2

M

n+1
2

j Qendte Hisen

B, 1= SgSBHE BIHD 0“3'3653; n= é@:;o%&éwé‘s&) e Dogy
f = eEBEK T TS :Hgem.
cf = SEESEHBE Swoth) SBNBTNE) $oDE TS :HBgEm.
h = SEsBK8 KD

PROBLEMS

THO IwEo

@ré)@éogpé
_7+9+11+14+16+17+18+20+27

= % =1.55
Jifendn & (Bod DSl SDiSol.
X 3 4 6 7 8 9 10
y |25 |7 |10]4 1] 1

Zfixi

Sol : o388 dmodd srien (V=75 f

9

2x3+5x4+T7x6+10x7+4x8+1x9+1x10 189

245+7+10+4+1+1

T

7,58,6,3,56,7,6,9,7, 2, 7 Qw8 a0l EitSol.

Sol : 2O DendS® IEPHIFG H) Dewd 1 7 (4 FG).
ePSOFESD =7

50 Sood 3)6352%&;:’.3 QBEPODD }63‘36% PSSR0 B

6.3

B5188 wodbo

0-20

20 - 40

40 - 60

60 - 80

950

15

06

18

10

Sol : 25 NS @%:Kg)ééo 18, sveo@ ePTOEE #8158 40-60.

ePSOEE BBKS, ersTods S8 Brdd e = 40, 818 FEDY h, ersTodE S0 = 20,
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£ = 18, £, = amsmots SEHOS Swotioy SEKE S50, T, = 06, f, = arisotls SEHOE Soaris
o) J;S:DHKgo 2 = 10.

M=1+ _fi—f x h

=40 + _ 18-6 ><20:40+£><26:52
2(18)—6-10 20

5,7,9,4,2,9, 8, 10, 11 3 Srssnts Skt
Sol : Qendeodn et [EHos® weabre,
2,4,5,7,7,8,9,9, 10, 11
o eozeen = 10, (38085)

th th
(o) (st St BorsrEEn

_7+8
2

7.5

EEHSEIND (Bod Dol ST,

S588 wosdo 0-9 10 - 19 20-29| 30 -39

950 10 16 24 29

Sol : 3o (n) = 79 (Odd)

Se | P | oS TFD:

09 |10 | 10
10-19( 16 | 26 (cf)
2029 24 | 50 (e

30-39] 29 79

n 79
—=2_-395. —
2- 2 ; [=19.5

39.5 Qendd 20-29 cﬁaéé &0,
C, 1 GEHE SBHBE Snothy) SEHBGNE) oS 5‘:6:0“9)2652633 = 26
f = Lotk B818 @“ézo“g)zégﬁw

n
_Cf]
Sodisriesiior = 1+(2th

=195+ 395-26 10 =19.5 PR 10=25.125
24 24
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1. 15, 20, 25, 30, 45 Gw¥) ©o8KBS Jiftn EHACS0E.

SBTET -APPOLYCET - STUDY MATERIAL

| MULTIPLE CHOICE QUESTIONS |

A) 23 B) 27 C) 24
2. 24,20, 32, 18,27, 14, 24 Gw¥) e85,
A) 24 B) 20 C) 18
3. SEodind® o) Dendeh b SOX, @oBKBE Biken
A) ©08KBS S0 S8 B) 5 Bé&w
C) Srend 5 Bey Sendetdid D) dds0
4. (Bob DEEI0E ersEs S8KS
1-6 7-12 | 13-19 | 19-25
6 4 8 2
A) 6 B) 4 C)2
5. $@0%0 6,3,7,2,1,7,9,6,8, 4, 65088 Densd dod?
A)7 B) 9 C) 8
6. erdods S5 BIDS DD BBKB Feheo Iwgo os?
1020 | 20-30 | 30-40 | 40-50 | 50-60
1 3 15 9 7
A) 60 B) 90 C) 70
7 s Lz17 &S0 ?
. 4’ 23 35 67 12 O 5 o .
A) 0.5 B) 0.75 C) 0.66
8.  arsoEEsind SRR Kmgo.
f, —f, - f, 2f, — f, —
o[t R P
1 0 2 1 0
9. at2, a+8, atd, at6 Jivex
A) at6 B) at5 C) at2

10. & (BodadE® 06 Jadordin?
A) Sren < ersogstn < Lggrstn

C) erSogEsimn = difen + oggrssn/2

1.B

2.A

3.C

4.D

B) %560 > erarogsiin > $eisin
D) Sogg85n = SoutE5n = ariossn

ANSWERS

5.D

101

6.C

7.C

8. B

D) 26

D) 27

D) 8

D) 6

D) 110

D) at+4

9.B

10.D



&S -EEI@D

&30

630 IO a8 ¥ Jggro.

38 36 &8 Sergo D) &PHEEI Fngore @ots® B8 $5:HE° PY)NHEH KD @ ©3o.
R S ©F B Erre HE°E HKH Lo8 SN ©d ofo. ad JDEI.

S588 25 3850 H08 SHHIH HSD 0pH © SKH DO Sgre ©VBK0B.

6288 a8 S Dod I 008 (HHEPY WD @ HH &M ety ©IDRE.

SSPE 06 Sptto Soe Jsso Jpo.

Bot I8 880 3G Ho SQHoH o 9)5)S° odIHD SRS 200 2BA% BKad o &
LITEE BB oezom.

QOB @I S 288038, werd b BaHB 28.

S0 el 858008t Ko ShHod) (Egsroo StaE) egﬁaﬁ:@%@é{% S0ETOD.
écfgﬁbeag (Thermometer) &=3& e%@é:& 50T HBBB0.

oG8 IR Ko $H Dol ) SRPKRE Ko TP (HBEPOT ¥ Krsd eFo.

&apQ8 SI (Hdwezeen Jouls (J)

&8 CGS (HSesen Calorie (cal)

1 Calorie = 4.186 Joul

&PHES SI (Hdreso Kelvin

Jgrdeore H85 GRPHSD SOTes® HEI.

Kelvin @38 wrer %) (Hireso.

0°C = 273 Kelvins. &rre 8835 effidon 806 Kelvin XX & SARNA Bho e:BA0d.
DYTDD ol BPeH e 273 Eoard.

& 27°C=27+273=300K
-40°C =-40+273 =233 K
-200°C =-200 +273 =73 K

-273°C=-273+ 273 =0K
Qe ‘0’ () Ko B8t evdegigo.
YOS (RBFD)os BOHELSHE GRS, DT BE$HH H8% GPHETSH HYoweD.
300 ABS® LoB 3& B Sewren erre EXeirds 5°8m0 - @ Swro oY) K8=d8.
vamv? = KE); V 3Ko.
®08 08 Swrob KBuds KN, HF wenHod Sergo S8 Goenod. @od wed SEEHSE .
Ode Berw BROED, émg é%ﬁ@ﬁéé} éa(é§ 2020050 6od.

N
SHOFS BED AowoBd - STPKS
& 1 AGwE) e 40°C B @) &8s 70°C 0ond RS &F (B2A) BHos AS athidi.
Boh SOgB efi8en Ho ISP o @6?}635 SODBHE B Bogs 267 SrO)E - 6338,
D8P0 Specific Heat : &8 $:03 (Hwrgo) eh8 H¢ Qrodod Bggrdih DBSPFRo.

T8 @@:ﬁ»
102



& ;a8 6%@% I Lo 33563 SDeD GTRFSe D, SrI30 a8 Dend Ko 6%@; ©080DVIHE
BTN eig@ﬁééés 2EHE 28 Dorre GosERBHErIS so80 — D3PRHo.

o0 @S Hrrgrey FErdenorr ei8oerds DB GHBPAF0. R S S 8B (Baren Ko
Dotndod % 3)*8%{%0 OB So&ersH.

(OSes (BS50°8 Ko o“)mf’go BwE), e%@féﬁ 1°C o Swe 1°C BNoBeH @26665253&33?3 &30
® Do ) DBPHo woerdd.

e 1°C DBASHD & S0 dod aspy (ee08® 1°C BASHD © 0D 08 a2 SERLATA
& (58005 (Boe) 556501326 o%gfx) Q%Qggo.

e @ a8 Hurgo 7°C ool 8°C & $5°8¢rd8 100 Calories o 2860008 @08 @ Sk 8°C
oo& 7°C & $oo8er8 Eore 100 Calories (%%;3& SGRLAT

a8 émgoé‘s 2003 65;} SR8 HOSore & é@@é‘s X leVIatNISTIIN! é%@ﬁé S8 e émgo Do)
D8P0 P STEHL. BV S & LrAF.

DBPHo IS0 : (Bedres (B0 Ko Sergo TwE) LS 1°C 2o oSIES &Pl
© DTG0 @), DBEPLHo woerdd.

DBEPKoB CGS (Hesrearen / MKS ($meseen Toeaeyes

a8 o"JCPgo cﬁné& @525236"% %(‘5@_3266’9)&3 o8 ®ohodd e{%o (B8 eﬁg@ié Zéa%) (increase)
o5& ErHarsod® ot

Q o AT (m is stable) ........ (D)

o8 ¥ ¥ Sy BB LS DBEDRDE & HurBo ((1erodd eioed Tl (5550°38 o584 Smd
FS08® soenod.

Q o« m (T is stable) ........ 2)

(1), (2) © Lo&

5090 Q oc m. AT

=Q =msAtae Q - & FNHH ©oBoAS &R0, m - © o“sz:s'ag (B550°8, s - & o“az:s'ag D8PHo
At &8EHS B (E5r5)

Q.

m.A.

D3PH0 (s) CGS [Hirerer S°are0d ‘s GwE) Kr@os® LADS trdho CGS (Hlmmren [FPard.

S Q=msA =s=

S=—— A N2

- m ($550°8, At (688 CGS Units (°05ed)
Q Seb. (e, ?08‘30535'1

m.A.

‘s’% MKS [H&meren SPoter 3 r@os® oosHdd Q, m, At o MKS (Hsreren HEE00md.
Q &) MKS (@0 = Joul

m &o¥) MKS &rewo =Kg

At B3wE) MKS (g0 = Kelvins

8L @@&6»
103



=JKg "' Kel™

s @w¥) MKS (&0 = MKS

Kg.Kel
28 $BLme0 Ko é%@& 28 (B&50°8 e Both 3356) SD0BH @oBONIHE Ty 3)(8532%0 a9}
ShHst e@;@ﬁéé’s 83 SEIPD, SN D8R0 Ko ShHst e%g@ééés So8Y) DENSTRD )
08008&.

©0& (%%Lﬁéé SRS & K)wgo S5 DEwpEd &%%gorw BIHeeo.

a8 éwgoeﬁs(‘o Beren &3 (800 e OA Gotram.

1) BHSH KBesdf 2) [Pdoee K8 3) BoHS 48 O © wewde Mg Besdl Lo 6o,

2.8 HIPTRE ©obodd GHEg © émgoéﬁé‘\) ©enH® BHEDH KB DoSHeE a3 o 6%@@66’5
ée)% ©BBOM &oenod. ®o& Sb%a’ggo SEH.

S 55 DBPPo Ko DorTreH ©osodS eo:%%_%é‘s o8 grfo 0 BHADH K8wEBY DohLH
&5)e0%.

SRS D, HoHhed o8 o K ﬁ%&)& 00D o WeLH® 3o ﬁ@a%’%@s FlelavialoN
DB wenHe 3dcH ﬁ@m%’_ébé‘s &G o QENHTP 0K, DoLHESTE $Hoh 3)%%{5%0 5% S)%é;jgo
gods BEND (D208 Ki50)

a8 émgoésﬁ weHo D V82EE, ©) weHe TwE) BHOH KO8, (@0 KBsI8, EodddShe
o) & DTPgo @) ©oBLE E§ wotrd.

DIPEONEH @ohodS I8 egdﬁéoé‘s sHome DS Eros”® so8 BondE8S® $rdy wpSore
60008,

85°85, oo DBPspen $rso 0.50 Cal/g’'C

o3 1 [rdn S0l / 8658 a8 1°C Dodhead 0.5 Cal sgo @Sdso.

BE(EPO GHEPOTIPTR) @O, QoKE0E WD D3P0 0.95 Teer KPS ©oXE &8
Somrest H% LR DENI ($erohE o, Sk Kt Kod &8 [Bariro SRS Shard
T8 o8& (BEmEH %) DodTedH &2 (580D 68 Shdegs SrHD. DY Skl
$OKTOS T@3FE® b Spre o). wod HK8, T@ effrde Fho (e (Frozred® FT)
BENH &oenod. ©OBSOT SEW(EeA SrSore dHS® ¢od (@romren (S8 &S Bolmren)s
TBLY &P DY G0EPow.

D% BoB =8 Folde a8, FoBBT S, & SBLors I ([@Podost o Bey) @
LMoL,

Bo SO af(iden (T, T,) Ko Botd I (Bgorden DA Sorre 50D D868 oo
m, T, + m,T,

SariBRS oo edfs = 1=
KEoE : & Dot a8 DBPLo EON ¢omed. ©o8 8 HrTo S0

369563 é&’g@ﬁe‘é@ zétg o) 33563 BV ST e%ﬁ;dﬁaéo)c@és 00DIHE 3&26‘@@&» 58650;326 ‘%KE%UD%
= S0 50D ((§&roT &0 Q= anm&&’)ﬁ DS HZB Jr@o @otrd.

(3hHey HBIT 0D egﬁ;zéroq)& 25585 gPrQowed.)

B IHTY DBPLo EFPe Srgo -

8L @@a’m
104



_mgs, + (m,-m))s (T, -T))

[m, ~m, [T, - T,]
ey m > 8% Doeato (835003

5.2 3% S DBPHo

T~ 380 Detis™ 8 P

5,2 08 DBPHo

m,—> B8 $55585%6 Hoeadd (BS50°8

m > N, $055850e08° Bod B8 Srerd @52;65@%

T,»> 380 Detis™ 8 &P
GPEYEISB0 ¢ ((5508% eearen (5% GBS D& HBITreEt EOLNBGD [HBHS arlyEdvo wotr.
30 33563 S 38 33563 ﬁ%ﬁ@ﬁéo 38 KogdHob. 08 a8 (5%0 wE) w%aﬁ:ﬁé @;260 ()
SRPHES DO HEIo (HOXTR)R GFEHE Gotood. B8 O GEKE IEIT (Bisto SrteDY)
éoaﬁ)oiﬁaﬁiﬁg}
w%é&’)(‘éo 23BHEY JHrcHos® @5&30&3’520 0O NBe3IE éﬁoaéoo&. ISERUIN] wﬁ;})eﬁééo 23BHEY)
5005088 (5505° wenHe $ood KBeEd B g & (Bo ¥ \%Qg’@ﬁé BrH&os. 5P w%&)aﬁééo
38 a8 38D88em (HBcHre HBo.
a)*’?%)e;ﬁzézéo S8 S I BoH Erme (55 eoHen eHdSwody HE Woﬁn?g@ésé 331)8).
SENS HHdiDer 0B e BHI LS, Ssare 38 SolEo estorire wﬁbeﬁééo D 6PHE SGI
2810,
2.8 (550 Htord el ORI QB0 5% w%ej&ﬁé elatd QB0 5.
FolBEses :
HOKTO SEPRS @ Srhes Hod mOSE OB @6 Sod)H 288 26 O& othHen DB)Kesn Hrso
OR0 Fo|BEBEPIE KB GresTSes.
S BOaSrE I Hohde Hg THB0B DB,
D50 G0 O GRPHS SEIT whrdEod.
$B0e 0O 2 X3 elatd étgﬁ 23BrHeEod. (B0 é%@ﬁééﬁ &IOS SASHE H&He @RS00
000K BN,
&8 (580 &8 DBHB0T (55508 008 acioR&E HrEerds SODRHHE LY w%ézﬁ:é K0
©OLPE. I &8 (B8 &aPd) @00 T &EFHE DBrhE0s. & &S 53 35260 BP
&S Soxd é—;%@ﬁé@’s 25w ehfon & (BHo 8B [FPEogsnihl. @@ Lol e (o
PO QDG B 6Pl (1 [P (($K50°88 BEHT0) © BHo Ens) At tH8¥0 eotro.

Units for latent heat in CGS system = Calorie / gram
MKS system = Joul / Kg

DB arByasss to%0 = 540 Calories / gram
o3 1 0.0 Boe 1 ((rdw A6 6B orbed 540 srede sfo eddo.
10 0.9 d% wQBHes 5400 seoben.

8L @@5»
105



1 D6 D @B = 540 x 1000 = 540 88 Soden @5d80.

(BP0 23BHEK0E 1Y Lo LS 8.

3 Deego (EHorr S8 (HI8cH ($5DeSH0 wotrd.

0% (BDEFHS WREGo = 80 8&° Seben.

1 [sn D% ©98 @&33?3 60“5%058 6.75 (rswe oo ddore ).

ePByEsSH0 @ :

(658 eenden (55 &d0SY) O NS SEI HEBSDH (H&o%.

B0 ‘o’aéé BBdE b 880 $eatEod. Do&HBos K {56&0638@ ?30565 (Wogoen (65880088)
508 DB ardpassso Bod B 6B ErHos &3, 9D 0% (08 $850) S 8P St
BOTDEHE Boeo e o360 a8 B BEBD.

B @o% a0 Kol erH ok P08 Ik YD HPEPIS Bwmo > TO BN JTPegEw
(S8)5m) B e g aP@i)én)éo QENH .

EPEYESH0 BN women 1) (58 &5dde STregin 2) FY S0k HOvTe afiE 3) RS
$05Tred® wosd 0ot 360‘53)26& & (BF0 BwE) ero.

arByaSSN0 @it a8 S8DEGe (HBD. eriygsTds S5B0E (D18 FoB8Becn. %98 FoBEBemdn
O30 2.8 ‘%%%ééea (&0%. Fo|BEBeasndotd zﬁegéé@% ©08ZS ¥ (&FHS) DBrH.

1) (50 aramdre SeEy) Bodso anﬁﬁ‘soyé‘\)éo.

2) acs0) (BHorr Srdy) BokKo - FroBEseso.

3) (B H00& acherEH SRS I Hod, ErS(@oE) rdSH AB DotbdHes B JroBEBeo

4) BEN5 é%@ﬁe‘é Ko zéééé@sé DEJoee o 6o (HREPoVIHD © égéé Her Ko $85Teest
er)o (Bdore éézéé?.g DotvHe ErHos® Fhead Jeo|dESeasin.

389 oot $56 (8o o 3 (363 B IZET) ©ISE HDHE) o S B0 I
DothHen A)HEH P DL%H08t @'SE)Q SPEP 98 Erme aroBESno @ éo)élom @RKS0HL0.
erBassso $g Ot TS HB @D HBKTEeY B8 woero.

oS 850 (humid) ‘Dé)&ém &oa @lge‘é (Déagérv’ &o8 BKJO)EéiﬁaJ.

3K seeod® L0035 DA LY 2.t B AEPST eI 5°8es0 — @@6.

S0 HSS® ?Qfe@ Er8)%) EBard S 080 B (wo8errr) Q)RoMe HBOWBHWY).

@Ltgé O30 eserddiren @08 (dnlEren, $Sten, SL e ovitel)) €06 ([Fromred® DEN.

dersrood® L% window glasses Swe 208 a0Her SoDY SHDeP TBrL IS HotHHen DB LD
5880 - o|BEee0.

& ore Feo|BESe0 R3] Szrsroy) G8AHDH fméj béo)é OB DohrHobr “BpB0” WobrS:.
HapBo o0& OB HohHen

HPLo DEYe0d $H H0TTeE” ot mOS” DB 6D Jod)H 1BS® sowd. BHE FolBEsmo
238D,

HPE0 DB S0y edsre ?3@68 BOS® t%ﬁg@fe‘éen e‘é@é w0 Ko B ©99B D &bdSere
éé EHoTe MO Ko &rd Sererdd SQdenrr D @ B e iﬁ)éa%g B DotorHeorre "Déa)fﬁaéao&.

Y av@zé;:
106



& DB DotrHen mOSE BOSITEE0HE $Q Henid SHpoer Soenod.
gee rOSE PS8 BO0E DB DotHHod “EPridroH” Woer.
HHrE i‘gow Bo& B8N afide 58 Ir@D PrRH0D DB HE08.
LS DBrHER §°§ EPishoh Srihdood.
&3P0 03B Bwo ShHe Sheap 33 OB eendHen.
55000 @3 MOSEY &rd Lesre e 20 98 wearHen.
2.8 HEKndsH AbodBorr o ©08 Tl ©08BE & DBNHHOB. & ©oBTE & BNDHE Hod
&® Bhah 18l Sree DOA R SPHED DoDHH0B. ©F $HaHost & @ohoDS o &l
Pond &S SRS @a’amgoé’sé’o ©EHO BoDS, (Fe KBuELen Erme DHIHD. @ ‘z”g@é‘s )
é%@ﬁé DEDTO sd @ B’Jwgo ), ?8@58 S8y Benrh@Hoh. 2 8 B’Jwgéwzééa dBo&Borr
63 ©obN0E 8 APHTKO S8 TR SFPHS 1BA © Shidd ©b TAFNY), B HBE THHod.
& 0 SSPS &I © Jorgo TY) “VB Frdy) F0” woLrth.
;;:26%”8@6550 SIEE0EH 650 ©oHoVIDEH Fend wd afiE H0A o8 K)goéégséo 858 e
2E5EHEL iHdH. ©E HoHos® © @3:;6?8@55% SoBoed ([FPBogIH. K08 & a’awc{;&)é &30
@08 608 & Sergo Swgo @Sé‘e’géaé‘s% SeB. etn DI Soe(Bad @ (58 oy LS S50
D 8 ePS a8 K Sergo (85 Hwegorr SrHS @ PSS © Sergo ) “88SS @;260”
(Melting Point) evsoéxdn.
o8 Defore (EHBE e Horgo o Fod sgo ($87) FoNodadSH ob HIPBSS ¥ BY
LS 5 Srdo. BT $0dzss0 wotrd.
wond (BIPSD, HVFSS reo I 1SR eErsHLEoD.
5 1 08 FPSes® $6F (5DSS, ) 3(;@@3 O3 Jeedes TTHSH HEko 3 1H8OAIDM™
Beon&tard.
(BDBF0 2B ERDY LoD LS S8
?’.,wzé‘o’awgo (385 B/JCF"igO{T" 558 (HB0H (D550 wotrd.
(BDSS Hgo (Latent Heat of Fusion)

L=Q/M
S0 (5955 L Dends = 80 seeb / ([rdw
1 [0 % «08 @(ﬁ)é (%?’.E%oée 6.75 (rswe o ddorr 0858y,
100 0.9 &% RBE) 05088 res0, 100 0.9 Hast 5)603'@5 500 $0558ETe0 EodS BN,
K00 FdHdS 0 aé)&a’), OB 055050 ééa&é.
5°Q & 100 0.H B (©550°8, 100 0.d IBE® DGR LoD (B0 DEeso. S%HN $odH ol
BENH. VB Fo3d 8.

_mm

1ce

5 dw :E(Vi > Vw)

Q‘gKDQSSEO HBS® TS oo E.Saaégr Benerd se80 d<d,
?86 6@;@1&? zéeg ?{3326?(\33866 &) K)w’go @526?8@63% S8 (H8cHD ($DasHo ©d wotrd.
8 t%zi‘ég@ﬁ@ﬁ S8 éc‘g 1 (s ﬁ:éo“awgo PO (S0P SR @SSRS ﬁ?.gc‘()& (88558

wd

Y af’@zéw
107



H8EH0 @otr.

$0% (5985 HHo = 80 seeben / (re. (at 1 atm pressure)

I 1 [(PE0 0 Frhre EBA BT ErdHetd eBddgd ¢o = 80 scede
5 ((rswe o ddre $rdierd 80 X 5 = 400 seeben

00 _ 95 (e
gy -0 e

8 affiee b S 1 [P0 (B3 Dgo O TAMmHM Hrty) Foed oBIETS aFoH
epﬁ?@a‘ﬁéﬁé iﬁ%ﬁ_‘;@o @0LTHD.

1 (P A PO eQ8rHed oS8 ego = 540 Swbe

DS grlyss rHdfgo = 540 seed / (rso

10 (rswe % eddrHed 540 x 10 seben = 5400 seoben @Sd85m

HHBK08% Sogo L= Q
Jo0) m

2000 srobes® Athmr Srg)ke Kol (5508 =

HEEHSS (Hirezeen = seoden / (e (C.G.S.)
Jouls/Ks (SI)
&562530&‘0938 FEEH0% T Se80 - OY) Q%Qggo

Y @@éx
108



OFE,5 DOAPRHID
1. 40 [Piwo ($ard) e8P &rdyes 200 srode $8 oSS0 © (5o TwE) arayesd 80
L]

1) 4 sed/redm 2) 5 b /(™ 3) 8000 b /(®  4) 2405 b / (e

2. HBPI8 MKS (Haireeseen [ ]
1) &S /88 2) S [ (rsw 3) 8ob / 88° (e 4) 8eb / (e

3. 500 0.9. % srHes (Bosgrgore) ®obomd)S eo.. [ ]
1) 27 &8¢° Sb 2) 270 888  3) 54 8¢ Eewbd 4) 540 88&° Eebd

4. o DBLHo = ....... [ ]
1) 50 seffrsn  2) 0.5 wed /( 3) 540 wed /([ 4) 0.50 seeb /(v

5. 8 [rdwe Lo -10°C Ho& -5°C & L)t sPkedd &30.... [ ]
1) 20 seoden 2) 40 seeben 3) 80 seeben 4) 120 seeden

6. S0 (BB HFFo = ... [ ]
1) 80 od/rsn 2) 180 se0b /(> 3) 800 b [/ 4) 540 b / (e

7. 10 [rdoe 20k IrEm E8N0KHE SPoBedd 68O ... [ ]
1) 10 sreben 2) 100 scoden 3) 800 seoben 4) BB

8. ogs & 8ob [Frozeest DEN. [ ]
1) deden 2) Jdm(ceen 3) BBosyen 4) Kaéog@ﬂen

9. (Bod a® D3Papen BILDD BTEoD. DA &8 (BHTEE® BED 285 KWrdEo8s® GodD
Foissme IGHH... o°A 0.095, a%iw 0.115, 58& 0.092, 3% 1.0 [ ]
1) &% 2) 5035w 3) 88 4) ooh

10. &8 S0P PodS afo Hy T wede BDAH K82E8 OAS T a2 Ks... [ ]
1) S5 2) 2B 3) S5 4) S0HP SEEEHEH

88 T

109



Ade GaDdaeRe Ht) S8 HSelaao
Swogrsoden
508 a8 APdB0 Hod HEE cirSEos® [HHO0DIND B [HaSrn HADH LPENES JErard)
18550 woerd.
S°080 & HoTe [PARBODED ITPTeH FBEEE HurTred wotrd.
P08 FEBore B Howe (HASrBosE © ST @(33"6656,33"@ ©90ErSD.
©PEEGE Hrrgren S8 S rHowe (05305 D0D.
508 [BErBoBE D SIS T8 FoEBe, @ AWrdEod® 5208 Jrl) BHKBoD Bok
Sseenre $68BIF0.
1. o888 eS80 (denser medium)
2. QY eS80 (rarer medium)
8D FDEPI. OIT 2.8 SEPSBo Fo(BBEB ArIELT B8 JBF ArIESr oF BHDH SLrgrto &
oL,
2.8 OSrdseR) @o8® ASrdBos® DY) K@ PolBB8HP, B8 Do CIRPSESr @Sk BD)NerrbEewD.
&0° 1 5 P, DYH® ©0& & DB KBo& e—ogo .
5> 4 508 g6, 10 Eo8 5.
0 AHo (HEedo 5008 Bderen SES dado KJ§ éavcgoé’sﬁ (D SredI0om.
5008 88een Bok OIPHEORH IHTD Swo Bla! S 85 (HodreadE B B0EToD.
28 JTTo I Fo(BEwih EOR o8 & FTTR) SO WrKSTeITS GrRoTd.

A

NIEENEEE!
pna

N

C

? Her0&® o8 a’awgoé’sﬁ 3 8en (A, B, C) en 33563 Fo(ESen EOA 608 o 3 e (5008 HEore)
3 S cSrseenr @ BTS2, (8ol O S08° cSrdBorrd gRroed.

508 I I ArIoS® 3 3 Ires® HorHon. Jerdd 8h B Ardse JErEdo.

08 33(563 Fro(Ben Ko 8 aiPEo K08 I8 APSEoet (HoSrBoNEHDH T SKo Sty He
08 83 [Bre OEH IrB)B0tnod. BN & Hof (DATBoNILY ©HE00.

Ber 5708 Hoh [HAsrBod )AKarY) “SBasK0” @otrt:

NSBea:

QedE o8R8 gredo Dy airdsren JrddHN P08 S0 Sredeod. '5,)02&5 Qodhsho (Hsedo @b

KD Jhaho é@ BESTS (HASrBod o w0t E.

3Ko = &r8o Bt TPe0’ QD Sead.
00

I508% SeE)E e9ordesore P08 (POTeR0T L0 ST, THK 08 $S [(Hodres BED Bocenisvielvielal
D8 Hoh (HrBodbLy A0 20D SEFSEo emrded od ordEos EAZerS0 sore
DADD Cﬁrmefb& &80 QBN GOEPow.

F°8E R0
< 110



FOBEE - DBYETSEo.

2 $008° 'AB'Both dirdsre 3t DD oo 'AB'8 28 Ko XX afrdgod® 08 FKo V| 'AB'8
Bossog) YY SSesE0s® w08 Siko V, edsonro.
Case-1: V >V, o0
AB 8 23 o XX adrdgo - Do airdso
AB 8 (8ob o YY aird8o - JroEide cirSsornrs grro.
8erod Ko88)0 W P08 HBE dirdso Hok Fo[BSSEE (HRBoDEHE =008 8880 0RO JHM
(DSeeB30b.
N .
|, D5 oSesEo (5708 Ko JENH)

~ B . .
e —l—- FolBBE sirSEo (08 Jo SEYD)

~

~
~

E

N' F

) $5806° AB - Qgrass 00 (B0 Ardsrodn SHTn $00)

CD - Q8¢ 05r5808° (HorB0oDS 88890

NN'- 385 Dot 2663 QegressBerdd o0

CE - 5845550 Botso8 880 (Soirdomrd)s $rdo

DF - 002035 26AS $(83555 880

Case-1:

V, <V, 9o0dHiH obmr 5208 88pmo Jroliiss airdso Kol DBEPSE08*8 (HABoDEHE
:ﬁ@e‘,ﬁéé 88800 HBL Do écg ADE @020 K008 ErBore e3BiHesod.

o Heoe® PQ Deradsoo PQ 28 Ko airdsos® o830 BEND 008 ©d Fo|BS88 crsso. PQ
B8 (Bob Ko arsEod® 5208 Sro D, DX WA DBE ArSEorre graro.

F°EE TR0
e 111



Vi 1. Sosss aswisso

P v, oK Q
Q8¢
aSeiEo i *C

PQ - dgreisdeoo

AQ - D85 880

NN!- 'O' 8o é,c‘g B8 A ©o20

OB - $(8#550 Bots%o8 HrBomd)d $rdo

0C - e Srdo S(Ba5do 20AS Dyt ©oards (NN') drdore #0f (Hardods HE4SS 8emo.
$ES 88690 ¢ HED 8865208, HSS Do Eﬁtg B8 A ©0erd8 Eﬁaeﬁéﬁe &heash H855%00 (1)
584555 Seoo : 5838 88erD8, HESS Dothd $¢ BB ARdS w0erd Hocssiio e 38455

&850 (r) ®oerd.

r

W50 - 208 8880 H0AS E%¥0 - @k ardses® 08 Irreh V5600 - SEFSS Khelo.
584555 Dm0 ©NB PBEGE drEo. @0’ 508 o, o8 HE6S S5l DBoSKOS &b
®odo.

sP08 10 308 (Hosrdosned airdso - E3s50.

é)vzé?soés 508 350 (¢) =3 x 10® m/sec
=3 x 10° km/sec

=108 x 10’ KMPH
é}vzé?soés 08350 (0)5% a8 ardgost =08 Ko (V) & Ko :o::oggzo & Od8o @Dé&_ 5@352526
oeago ®oero.
ﬁéfﬁégé Srdsre Srgad SEESS Heaseen QBRoDesEeow. &0 ' & “rdIco.

a8 SBSS 1Hedo (n) =1, Ergos® =08 Bifo
o808’ w08 Iiko

c>v 0 %>1 593 n>1
a8 o8 SBSS hrado JuRHET 1 Sz NS Gotnod. HEFDD DS [HSreTeold).
&S D& heaso o AP w08 Bro SES. S&S SEYSS Do Ko WrKEE® w0
o BN ©%0 B8 a0.

F°EE TR0
e 112



mdS® sPo83Ko Erigos® 5208 Smi8 wrrEd Brlo.

Sleso B0F) 'n' Dendd 2.52 ©08 Hleod® 08 S0 BEND (rO&® EoB)

WX Erdgod® 5208 S0’ 2.52 Sodh FKo8® Heod® S0 (Hoirdiyod.

asr8o @) ) Jroless (Optical density) OIO P08 JK0HE Ho20HOAKH e Fedes Jro(s
TR @Szé?goﬁ%‘é K02060DS o 33563 FeHden.

2.8 3°665t§Q§ éwgo &Dé& 26@2;52626 %80 ©30 @b &)6&6@26 émg PPN SEPENHE0. o)
Qgore el Howe (HAredodS sPod ééoﬁaa_gago@ SEHER%.

28 Od8 5@2;5626 8o a8 K)CPU(;ZO% ¥020050NI08 VB> PTee) ?géo

FDE SEHSS theo¥o

Both airdsre HEPSS ewe B o

0SB SrSE0st w08 Fio v, 38558 theedo n, ©BOTP0. BoED o880 08 Fio v,
188555 Heaso n, ©:5%H0mr0. Erigos” 5208 Bifo ceHBHod

c
h_Y_<c nh_ W
n ¢ v, ¢ v

Vi

BT 0B csrSB0 HBorr BoKd cirdBo cizla_ég;&iag SEe% rheso woerd. n, & KrdFo.
ST
Hy, = M L(}12\/2 =ny,)

no"
G (20885) HEFSS DS [Hirerenodd.
0.8 Cirso g HELSS o U=
Smr

Bt 1030 DBIE o LB 1 ®I0 5855585505 BDAHEIR0w.

1 Qe N 1 877 Q8NN GoTed O DI Benid
smi

H=——>1=sini>sinr=i>r
QY80 ol S°S£’§r©°o@é§6 K508 (HoeBoD8HD i>1,r<i
drme 56@5‘36265%0 go& H838%%0 o) J¥e ©hBorr Sotnod. ern
5858580 Bo8 H8ess S50 D
& %0858)0e® H8¢SS 8mo vowo T SorbEos.
Case - 111
5008 85690 FO[SE dIrSE0 K08 DBEATE0S* 8 (HASrBoDHHD
zﬁéeﬁézé g%%0 dend aéagyémzéa, $585 880 Dend ééogj&ém?éa €000,
r>i

©08& & éocﬁé?hoeﬁs S18e558 8880 ©o@m0o H08 ErBore athHihEod.
Both T wrssed® 08 HairBodsND © drdwe HEEES Heww, TS =08 Sren

F8E R
< 113



580k H88, HBeSS oo Knisy Sowmogren :
15 8o @:oégy 5@2;526?6 oesBo n, BAS® o8 S50 \2 585880 1w%omro. 98 o
25 oSS0 @wd) H8e5dd Heeso n, HAS® 08 o v,H8¢d Sewo resHomo.

v, _sini _n,

0D vj Csinr n,
h_omn
v, = " Ho& vin=vn o (FPaHSE)
sini _m o
sinr Q Z0o& n sini=nsinr o (@TcHSK)

BT S VcHK0 ®OoEr.

QOEIPD = Vorrody STeHdto - ‘éo&égseao : ‘éo&r‘égswo 30 SEF5S SHoosred® el @/)éééé
EON DB (HEFPS $OBY) ¥0BB)0EB.

S00&re 5008 2.8 APo(BSE drSE0 108 e SrSEoEt, (HASrBo éofﬁéao@s 258 HBS8 0
8 5708 Both AIrHsPoD 35T B Joad (HASTBK08.

Fol5ESE csirEo

AB B0 irdsred 35T O
ABDR Jo(B88 oirdEo
DEFAsTEES ABBDHIE QB osed8o

NN! 020

i <i,
585880 1 630 06 HBesEo Bobos.
5855500 1 wowSHH H825558500 OB By Jowd [Haireo Boskdomro. ol HEesssmo -
90° 0. B HBSE 0K 1,8 Jo(EBY SEPPSS éo&égseao ©OER.
aFE r>1
.8 3%
Bos° ééé:é%ssaﬁé‘\)&'zboﬁ)é 518e5558%00 BoS® 2BA @ 5208 880 EYETRSE0SE (HIB0S Howe HOA
Fo(EBETEE0TE (HR 8ok, S B)AGAAPR) “RoIPTrodd HTeBEH0” @otrd.
D $e08% 2 @36 éo&sg 55208 %0200H0950, 3 ©IH éo@vcgoééé HTeHBH0 30T, @&
$858%0 Dend doBowdHtd HEFSIEK0 r= 90° @HS @ 85 TR @ FoESE drdBo TwE)
éo&égasao (Critical angle ) @oéxo.
=1a) &%’S& AErdsed8 & Dend Qg‘gom &0t008. 2.8 I¥ & Fo(BSSY St éo&é?w&)& oD €
0@ 8%008° =0888m0 DS 38550 FosHone 8BA FwEB ArSEoSTE (HRBohd. ©od
26(_%2;56260 23K, HAZ éoggyc'ssoéé DoeHBHI0 0ERd.
28 aedgos® Kao?’.gpc;soééé JoeHES50 J08QoTre0ds éo&sg &%008 oD Seo Do HETSK
©0& K)ggom (éo&g 880 $8) a8 Dend Gok.
a8 orRsR8 Soblf Sl Bkt :

F°8E R0
< 114



n, sini
— = _ 0 A A P [N
n  sinr az‘é)éo r=90° @ondH HS$58%0 1—@0&?358890 c

_n, sinc

' m, sin90

&_Slﬂc

B (Soe)

=
n

sinc= 2= Qsgcsmsgo S8sS o .
M Polss oirsso SEeSS Heeso

1

1
moony,

(or) sinc¢c =
n,

éoggyo;oéé HoeNBS0 @92635_6560@8 Telectomunications, 8tHsy, $05) &850 grredy H88D0S5mR8
g8 3D endoscope Hleren, e (HSPB0BE0, JoEEPH DL, BILE HOEHS® Hido
B55V0TILY).
QoL IO wseIo @) DFeywdhono 8% VBB SO &8 (.
™8 o8 GH%08 T SEFSS Hedo Erme EHIHH08.
EmronsS BoE), Foltss DB Fo(BEsan $5H R B8dTond @) H8asko Hhedo A& BSEesS
ea8o Eo& BN,
2.8 0580 (Md) eodser é@e‘;ﬁééo 2 8er 0K Lo“)éegé ‘éoécz)e:o (ﬁ%@éo@s FinstS) ) “Doisms)en”
DEVEEOETOD.
508 FOBBEBRS BprrDE® S T8, BEMOSE® (B FoEs BOAK) KD Bros® HArBnos.
QOESTHED DG éoc‘ﬁé?)oé‘s
858 508 8 PSS Fod md By HEs Hrso DHIHBI0E.
Slezo F0& BOFPTROBL HTHEHI0 DEPDIMT 2:BrHEBd SeBe0 T ) éo&égssao Qe e SEND
60D
Sleso T8 éo&égssao Qe =24.4° (or) 24°.15

OFC e Optical Fibre Cable

Optical Fibre 39 1 (& Desd> TPE0 DA Korpodd Soddto dr@on HABrow. S
OIS 858 Jorrase) light pipe @oéro.
e B3 650E00 VOROMT HBIH 088800 VNI D) FoBEHOT BBHEFTLP Eﬁ?téo@‘s
(D05edn0b.
e &Eﬁa& 008 IIEL 888038 & Do) zéag AcHDES ©0erd8 Eﬁacéegﬁe) §5w’€0& 2T &%s0
WOEPLD.
PerfXY3 5°08 HEISHSHD GES $858%00 (i) & 635 oK Boo Lol & 5708 8860 IeHIEIH
QGBS 28rTransmo Botr AHEe KErso.
eerfy) $y 508 (Ho5rereid 508900 LS & (Bod DHISTen K)chf:)@_go.

F8E FRw
e 115



1) 5708 PQ &80 o AB 8708 womorr $85508
) o RS Soal 2ergESrdd

&3 60656?3065 Qledo =0 R C
2) @é& 6065623065 58 o8 o8t DSID8YE 33650)&26 $8358g0 = aoajéo;wé‘sao

P
A Q_ B

11:12

3) J0® 3080 H§ VEES HEgS wo = 1, N \hj ‘
Bo&N Seo (aa%st’qgé)) He0) écg H8588%00 = I, S
N

v}

2

r=r, L
4) (8 H608° e By Hg HEFSTY) $080F $8S58em0 : N
ABR r&hose ABE B, 28t 880 AX D SP&A0ST
AXD B QEYEEEow.
5) & Bot Seen ( ABE, DCF) Skmodoren / \l

AE || DF c
&3 Bo ¥Sross Tee 26365?3 ©ORETTRY @*’6%5 Qﬁgééo Lateral shift & \ED
e B3 318555 Heeso = ey B3y Hodo

reer B3 Hoso - Jensd 8)3(;5)?60

o8 e B%y @) oo SoB ted Jensh FHI0 AYHRFe SENHT 506008,
D cEr80S® 5208 Fifo BT oHT @ PSSR FoBSEE CEPSEe Wotr.
2.8 0S80 BwE) S5 o w36 & ST $grso S8 5708 SBoNBEIND SEEHER.
Qo088 SEFSS o ©RH © oSt 08 FrI8 Ho@ohoDS oo, o8 IKo WI6
(V=nl)oel 88015855050 X @"268@5”5@ ©go
ASPseen SrBKHB8 P08 TSI SrSE S SBor B W36 SBorBERy wrdEL.

2.8 FoBBY cirdBo BwE) e &80 @oNHHE @ 208 880 FoBSKOR KBE DS &0
= 180-2 ®o0& 30° éo&égseao Ko JolBSE Ird8os® =08 88mo oSO %08 Dol
&0 = 180-2(30) = 180-60 = 120°
5008 880 (Heesore 3 éoécg@@‘s DKo DSod0 TFoBS.

. n
Case-1: Both oo SIS fheosen VPSS wod Sinc=—+=1=c=90’

n
Case - II : 8% 8860 938 58S Eer8 ADS @020 Joad HBSH00SHE
Case - II1 : 585 &0 Sobt &0 Z08 ©HEHHoNS 606563)065 DoFrTrodY HoeHdEKo 2OROHE D
oo éo&ﬁc;ge;é’s 5008 88600 AP0 NS0 FPos.
1) rees rngé‘S 2L HASE H00DS Pencil SoNSty 8oL
2) reer RO DBS® 60K AP BEHT EAR0HOS
3) rrer DIt Bdmorroren DEIT eEGdaborr EAN0HHD 5708 HEPSED sedwo.
e e TRRD D erred Godd sPans B Y SHard & Hotorr EIH0HeE 5080
S $8e5555.

F°8E R0
e 116



OFRES DAREHHD

1. Sezo oo éo&)ﬁggssao ....... [ ]
1) 24°.4 2) 24.4° 3) 24°.15 4) 2 H0085» 3

2. FDg HEPSS tHeoseDB (HiSesen ... [ ]

3. 1 DE® e e ... [ ]
1) 10°& 2) 107 & 3) 1 HHbckn 2 4) 10°&

4. 5%, dwdy 6%0D grrred $8800ToH EH @ 0. . [ ]
1) 38D 2) QoD 3) SDEEPID) 4) DEFDH

5. FolBss ardBo HEESS Heedo n wandHid éo&égssao (c)wond [ ]

. n, 1 n,

1) SmC:nT 2)@271 3)n,sinc=n, +n, 4) H&z

6. o85S pak.... IFB0P BHIVKWD [ ]
1) $oss0 2) Hidesso 3) BoFrTosy Hordgso 4) 5EHTHES50

7. ey O3y 45° §°08° H85 88690 ... Seao&® 8PBBL1D [ ]
1) 90° 2) 30° 3) 45° 4) 60°

8. FoBBY airSEo @) ‘éo&?é'é’seao -25° wond H8g55 Swo [ ]
1) 25° 2) 50° 3) 90° 4) 12%°

9. rrer-rrd 0D Bwo SS)) ‘éo&é &%00 30° d® ), 188558 thesdo -1 wawd reer HEPSHS
80 ..... (K0550°%) [ ]
1) 0 2) 1 3) 2 4)3

10. Qo&dmdew ..... [ ]
1) 8)3@5@’3@?‘50300 2) Qe3(H&8o@0
3) eze¥0 @;oé& a)m?g@@é)oeao 4) @9&639)65 é@%}l 6&5%?30

8 TRsw

117



&

@ B B D

&

&

B B BB BB B

aSedene Hi) 508 aSIHw0

S0grg0 T
Both SIFESTet BHBD Soo SHEePe, B HEso 08 it HBeSso

FPotHE0.

& HBBoo D F¥o Gws) grriar o K¢ Somed) & B0 Gws) HEee Solgo (C) woerd.
& SESod Etdore grdJco.

& SESe0 @wé& a‘g&b@o& éo@@& Cﬁa&éo (P) @03,

g0 - oferey - S5en ¢

1) Bo& &H0SePen DA God. @b bétﬁ@é éwg@ SO,

2) & Toh aHddere Ky wS BSFo Here eoioee.

3) & Bo&oBS® %o a8 eNdBw0 SEE0 won Gored.

2 3 ogsren 8OAS e 880 @otrd.

I ELEHIO 80 28 HEB008® rin Bolh &HOSreE” SIS PELGE STy
Beo80 ©0oerd.

1) 8&8o (ib)é& B0 GH08eren Hr0grees Eergd e ErBI0PEe8 880 ©0oErL.

T GwE) ©HEBE ¢ B BogrsE EeseR8 DT TedEro.

0B ¢ D58 Krdxo.

&8s EBHOGPERE B0 Botd 6d08eren a8 5r8 $5020§0DS Bot DTS grrreH Bend)erde
QRSB grOo.

PN &8 B0t GOBBrOD HES Serenrr grAONNN). ByE0grses SeBo 263&5?368 é@a@m;&,
©0Ho SY IFEIE) &0tos.

2.8 B08o Bok DErsederer HEISereT oty SCIPEHENE I BT Bbto
©0ERPLD.

BEErSeS Bos)  H58° ErdIro. 80 Brwe el FPerd8 Ko@0fodS Bt BETS grErren
ééé’ééé &I SenHer S QEYBSBMT GO0, 765(‘0 Sogiseriso SPeore @08 HenSrd, @ohen
ooy 6otdd.

28 @0 HEFPPEore L8 (00) ©oH Hogrsedorne o (908 IoHoE eseos’) wrd
sy - Br0875°8 BerB0o o,

.
Dersey Boo <—1—>é>oe,7°5°65 B0

28 B0 B0 HE%E 0o KogrEBorr o0& @ EesrQ) Jh8e H0grsey BLB0ErLD.
Jddoo « —=>Bogr88 oo

28 B0 HEPSE0 HEE S0 HHrEoo Go& & Bz D& HErseS EdBo ©otrdh.
Hersel oo € > dddeo

R dFore 5 Esee ELseod e‘édﬁ)véaédﬁaéiﬁaa.

508 & 5 E5re Shseod® oW (HHB0He Hg F0W oFres Ko (Hedoares SPotHEco.
Y] @/)ééé ST DHSBon) Ko BENN Hotso BOAD Bermre SO@BPAT0. HBA Hensd

88 B"@éoa

118



B850 @otrth. 88 EwE0 080, AEEETD (H8how OFEreD Berddo BEH.
g&¥0 - FoBBY Sorew

56088 5788 Bot HEPS atgﬁf’cg@o Ko Hoditere SHo& ABCD Srgo Soad 8¢5 éé&éé&%ég
©880D5 P DS Erddty el Hogrses Ebdo dBHH0s. P Fero Sorrd © Bok &
$0Bero SEae Bolmren HEE.

08 15 /%% Bo(o Boks &\BBwo S) % SEBolo ™, 25 K BolBo s &S0

(S )& SEzBolio wHaran. © Fgre grEd & Soseds S e eHzeon.

&

Berse8 AcHardd Bod ©oa B ANelaty Bpe DS DoHs & Berse C,Sa:éon" HBIr0. )
(P) &t QD0 (Boe) é@g'sso@éo @ St ©oFo.

& B

PC =PC,=r g
Prbore C,, Codo 0% Bpod @’)mmégo 0T, IA
PC 5085 HoHH S, 60800 TE), o F, e ST h T2
PC, 5085 80ty S, 650800 @wE) T8 F,ed @otro. \;/;
& Defore B0gEseS [ BIYErsS §0seR8 a8 é@Eéo@So, Boh SEe° Solmren
3o Jghen (F]’FZ) €0EXo.
98, Sz So[ed (o)
88, Cﬁe)g So@8 Hossrio SroeQ) @ 08 Fegloddo (f) eoéro.
a8 BgB0grEed0, B)Ersed Beosed8 Ko Bod HEee mg@cooe», Botdh ave;f?goéémen JdrSo.

08 r =1, f=f

B B BB D BB

e

%) H808 DS o g SB R’ Jend edodo DoKEo8 ©b JHswo HI &l
EsPR) BIDBRNONVIIED Do (8800 BE) eFeren 88 BIHY ©OTO P SEPEHH.

1) & &eBo u

2) 868 TrglosBo f (Soe) 868 S 531’5@6950 (9]

3) 808 Huego, HEPHS o (n,)

4) 868 HBIT0E oiedy HEESS Heaso (n,)

NS (H8&Qoa Brdo (ééoécﬁe)g) & ZolSo /69)260 Sood

&

n
V= {nzu}éa Qo E8o @0l dhdworr GNP AES (H8D0rIE $o2odoNI. (D
1

H20 ErR5E)

F8E FRSw
< 119



E80 B0 SOA GobS odrr 8o BwE) Both deren JESBS

n, n, n,-n

T TL T R OO o 08 Sroidiyd. e 80Dk Hoeg Fomated Suretd
/

Erre HAF0. ©0&
58S 08 HES® DAL droren FrE)Eo (+ve)
HEL 0B Zé?séééé BIS® OGS Brdo mwé&éo (-ve)
SrTrods deRpEr §ESoo / o Ho8 Bl [FrEodomrd. ©oll S0 - 30508 S
&r8o PO 570 OP 50t (PO, OPen &roren H0re DErsRd)@8 Hen Htorr H&dsore

€0EIPOD. /\_-4_.(_.’01
$0rSo PO dgpter avnerdah (B19% H&o Srkod) \ﬁ/ = o

508 “0” 508 [HArBRHD. o HErEoH P Hod 0 $5% Foard @of PO 6F 508
DES BIH KBTE HY D Soeg Frodrrdho (Hsedo -ve 808%0. 52HS PO=-u
OBIFOT HTTEoR 63) Foden e (+ve)

o3 &) Fode d&en (-ve) — o

P H006 AB {erargop8 Senimno. 5098 AB =+3 20.8. CD {erargo Boh8 Senmmo.
529 CD = -2 0.8 e $0KBoTd. S8 Jowos Jinkge FEIe® Koep FPOFHTEahin Too
g3

DBY¥ 05SE0 508 Fo(BBE APSEoSR) SEB0D HEIPS 08 &% (Bod Jorre e
Eroth&od. (Herargrl8, SHsme BSrBoB 88ered FT8CHS 8Bereotrd. KHEPS H:9)
008 B&rseR8 TV 88ererd $rodS 08 8eren (HErarsrd8) e grddro. 68 H(EE Solso
ot DGH Teo (PFerdo Iwserdsd) ecie HotHe 5 EesP08 ADS eoerodEeon.
SERIN]

Borargo, SEee Sore ot b Tpen HnHoB Do FPoBHow ©F éﬁtgoeS‘s S00%%
(SdSBIeam.

DBEPIE0 508 Fo|BBH SrHEoets SESe Doz ddroddorr éééé&cﬁaeg 508
88800 HEFPSKH0 Tob (HeTeged) odara.

R argrgo Ho a8 e Ao &% Solio H& GodS $H A een B0 ?

o8 S%¢ Solgo G EADQ0B. Qo&E08 (H8Noa ErSo v=x, u=-Rrrer F¥o SEESS Heedo
™® H8e5S thesso n, =19, PC= R

L m_mn7h

= Jogo Hood Srodaro.

vV u R

nL_ n_mn-n

x -R -R
F8E @@éw

120



1 n -1 n
—_—t =t —
x R R R
1 -1
=>—=—=x=-R
X

®

©08 (H8&Dowo

6508w 508 R &rdod® %598 @od Solgo G dG)o&0s.

%), ri%o aﬂgﬁgo 8 20.& Bo(to 08 4 0.8 Brsos® Ko 50D B&Doeo DS OB 0H?
™8 n,= 1, o SEHSS Hesdo n=n=1.5 eHEK5w.

B B B

R
SEr80 u=-4 0.8 > SEee agrgo R=-8 0.

B

1 n
- = —+— 1 2n -1 n
® v - - R R —+—=—+—
© Ty v R R R
1 —1+n 2n _-l-n_—(I+n)
v R R R R R
-R
v=———
(n+1)
& 1 R 39 %o @) n= 1.5, R =8 wand
V= -8 :;8:;80:_3_2
1.5+1 25 25
nééeﬁ&é?é 680 Ko 2.8 ey FP¥0 5008 Dod ErBos® &odS SN (©880erd) BokD SD
©08 &rdo® B8R derieo ?

205HE® n, R Doended HEEHR 880w ﬁ;:éo Bentos 5,

n+l1
ErBos® somd. = [}R

n—1

R[n+1]
n-1
Ee80 ABIDDS (500grseB0R0N, HEPSERN) [Brrargo, S Cﬁe)g'sso@ﬁo ORI 8eseen
AeENHoB DBwdo o).

B8 $SrodBore (Hakrdods 88w T8 $& Soldbodatran ($0grses EseR8)
o8 ood Séo@ééoéaacﬁ@ow. (Herses Berdo)
DdBgadore

J°8) HoTe (Br0gPsed EédB0o) (HOredodS 8deseen 26@3526:60 BowrE (Herargrdd dkroddore
QS0 oaron.

TOIH (DRSS Beo%0) HseBoDS Beren HEFH50 Boms HErEds Birossore Deso
SPotHBeom.

g8 (BErES wonore E68 ) Howe DG Serd) KD Swo wotr.

e [0 08 (6506800 $08)

H TEoH Seo

F8E TR
e 121



Bzl o8 Sno Tk HEIPE 88wrer wHAH F0op a8 Do 58 ©f:dbe Soe
0038 BoLHBPOW.
DI Hogrsd E0seR) SR@RA0DIND ($rso - Eedoadrio - H88ono & i

K02080)

5‘@5;50 88ead(Eo (B&Aomo - wgere
1) |o@S08trso 50D 8 zécg Do8rsHost Qez(H88oea0
(F)
2) |S8ee Bolo B8 Erdore C F %0855 So(8otgs
(OTTRE0 D Je0HT GODS Dz DY) Bd8&oe0
3) | C, 28 (Bokss HEee Zo|%0) % C, 38 SoBothen Jes,
(DTPTPE0 D GOVIHE DS (H8oe00
4) [CFo g5 oS A C g &rdore SoBothen e,
4 F, <
AV, }
ERS (HBDo=0
e
5) | F,58 6035 4 F, JErosE Tyen Eendd),
dl F, \/\
SodrBost SlepfaStl
G
6) Fzéa P(é@@@%) zéaéeg oG (800 JerLd ?)JQQB_ES&
1
SONBHE 9K

205S° 2,4 womed $8407 Image Pattern ©GIDDH oo 1,5 @omren D8NS $5BTPeR
@éiﬁ)ﬁ)éﬁ;.

65 @080 2.8 @é?gé éo&ﬁé?)o. &3 éoééa)oé’e aﬁr@éf&) c‘ibw&éé’éé’boeao, EVSE) &0G BRI 3363&)63.
6 geosod DEOM LeESL). P 8 Aerd (©H8owo 52HI DY) DY) cho@o grrre,
DY) DY EHo0 $68D0Hers Hogrsed BerseQ) oo meﬁgoéééo go8 BENDS 8ot aé@oéoéeaégg
AN 3)(‘&5) (e-saﬁgéé) (H&Doeren @“ocﬁzﬁzﬁg}

D HEFPSS Beros® AQAPET gy @’Jé’ééowﬁ& Poteo. &b (©8Qoer) B00 BoB8%I
oo, & (H8oo a93§0° QerBTD, 50D go& DYoL Esl8, 8 :éaeﬁegéa
VYOS,

ger8 de@o / R @v&é@ (BerzeR8)

(&80 Brdo =v

3y 8o =u

avaagoe‘ééo = f e0ndHH

&Y @@25»

122



1 1 1
i ;—aﬁa g6 S(go @oero. & de@od® Soeg Jro(@mrairR) el Henken B80T,
& rB0o Boogrses, HErses Etoseen Bo&o®d LSOk, B00 Heusd Sted Sr@o &
Jor(@°Q) HOOBEATD. werd & SrEed) Je Dogey (HSHoeren To&oBS SHOBEATD.
Bogrses Eérdo TSEHe SR (B30 gy (880erdRod. 18 Jérdorv, ?ﬂcg&m &
0008, DADS oy éocﬁcfgexﬁs Deg(@88ow0, Sodothenrr .

DEFsS Lo o) SEe Qerdore, DHAS ey (D800 ).
(©8Dono A h;

“\ B €esder m= =i
S0 Dy h,
hy v n, v
m=—="1 — —L—
h, p, u S n, u

n, - DEFSFSE0 @) HEeSSo Hrago
n, - %o @) H&eS Hesso

o%@g0 essso L= =L —.—2=—(m’)

2 2 2
n, v n’v’n, n,
—.— —=
2 n, n

v nju
@96663260 (m) 6%&03@@3&3 Soez FoRTeair) Bod degore 8850,

1) Qerdd (HB0erIE HdA 3)3@5@@2‘302‘7@% +ve e (Boh (H&Doeredd é@é&éfb)

2) So8othen HBakw “Ves (HBN0erIS” @25&3260 -ve e &:0%0er0. (8 Bo&ods mmé&éﬁa)
2.8 B&8o @:oégr meﬁgoééo () & BerBo B0 DoHED a’aw’go o_tbaégT é@?ﬁéé HeaBo (1 —1)3%

QS8 SroarSos® Gotnod.

1 1
?OO(“_I) Soe foo(n—l)

2.8 8&8o Rog), Trgigos8o oo Koowe 26@536260 F0BY 508 Do) ééoﬁ@ééoéozééo
5P ErRarS0s® Gotnob.
fool,

X BN Boirdh P08 Berdo Hotor [DASPBoDINE el mégoéééo - ﬁ@go

(" Ageq 18 highest)

5P08 (0SB0 BeBo Trgfoddo 8o (A, is low)

&8 8080 ol QPRI Jez (BB&ow0 FPoserds SRS 8% Qe SpeseSo = 4f

odme mafgoémba 8d%0 4 [N B0 SoDIHE © EVSE) &oaé& Qa3 (D88oerdy) @Kéom
B8 Hriodm.

28 B0 ©gore 2 $EES gerre DR3BS TR TE0BBO B,

59 &8 E65°R) Dendre 2 Dvgrrreor BRY (B SwE) @o¥) Trefosso 2f wr

2.8 BEH $DHB Moy Krdo d . Lo BB $HHBH KKy @ @;260@35 Bogrsed B0 B8R
QRS (80N ?

53 260566?3065 8% Trgfosto = f 0.8

Y @@éx
123



®

EISEDSRCTRIS VSRRl avelel =x 0.8

INDEH B8 g &80 =d 0.8

@ond x? - dx + fd = 0 @Ho.

OSE SoDIHE Bod, DBS® EwoddH s meﬁéoééo aé%zé &0&%.

a8 Boogrsed E65eR) oo 25@2;526:6 $e80 okl éééa&:é 25@2;526:6 Hoeedo Ko éwéoéﬁ GODINE
b éo@éée@ Ber8o (Brogrsed Be8o) 66503@0&.

Oer Hom e BY Hogrws el R SIS Hodo Ko s SEYSS o Ko
éméo@g 60&265)03363 [37A) Séo@ééea BerBo (Herses Bedo) e 633‘@00&.

HBS® ot md i (HeedSosorr EQ0HLE Em0 @b JBoBEsn 8o $8 HAVHED.
Soep Po(RTRair)d00d v, u, f, R, R, ok & 8od éotﬁc‘gmé‘s BOHI DeJorre HBREBIL..
Case - I (&yogrss BerseQ8)

B B B D

®

u-—> -ve

/ﬁ\ o
f-> +ve
< U F, G R~ +ve

R2—> ve

Case - I (B9¢rse8 865°08)

u—> -ve
/7 V> -ve
o CFI } \ C,

f—=> -ve

R = -ve

R, =>+ve
Case - 111

u—> +ve

v > +ve
f—=> +ve
I cml O R = +ve

R2 —>-ve

Case - IV (B0g7se8 - Hersed Eeose8)

u->-ve
V> -ve
f- -ve
O
F2 | C2 C1 R = +ve
R2 ->+ve

éo@éés@ (Bogrsey) Berdo cibaégr aﬁeﬁsoééo +ve ey HErses éDéo@éésa gex8o &mé& mai?soéééo
-ve e HBKEDIR0.
&Séaowsvé / &5@w§ Eeorseod R, R e» éaaﬁm&vé&éom Jdedore 1HEy Hdore zéegé’éééom

FeE @@25»
124



$0KBoTd. (H8580D R, R, Dend IHa8orr SoHsa)

a8 Bgogrsed EhSo ) &8 SEee a‘gé*’go 30 0.8 Seder Sosrd a’)wgo ),
58235 hedo 1.5 wand e S0 Tgkostso dod ?

R,=30%0.8, R,=-30 20.& n&we p=1.5

N N
..f—(n I)LQI Rj

=(1.5—1){1—( : ﬂ =o.5[1+1}
30 (-30 30 30

1 2 1
=—X— = —
2 30 30

1 1

Lo 30z

£ 30 0.8
B8 S5 600G 88een TSNS 88eren ®ond (KEPPEr8 SrdorT ot 8ok
53”2?65 88esren ©0erdD.

$5E8r80, S0P IKeE® PO W S Hoko 5OI BeseR HeodA Lo woerd.

1 1 1
B&E BSrOmeEd dr(@ore & (Sob Kr(@eR) é,)ss&_oéjf’o_ i (u_l){Rl_RJ
12 20.8 efodBo Ho a8 Hogrsed SbBo wE) ((Derargo 8 0.8 0.9

AEKO DYH0AS (D800 &), Lo B K.

u=-8 0.5

f=-120.8

111 1 1 1 -1 1 -=-3+2 -1
T =4 Po.B

v u f v u f 8 12 24 24 ‘
—v=-2420.%

v -24
8Bl M=—=——=
@ u -8

= I $8f0w0 o
0,  ud ok

(©8Doo A& +ve SYPIO DS (Brargons Aerdd gy (©H8Howo H. 38 g
$88owo JothEod eBdgo +ve

u<fsedHd & 606563)065'3 B0gPses ¢80 JeXdD, oG ($&8o=0 336(36{536§ QACHO B0
BED BH)EIoI6.

Bo& Hensd Beoseen eBmPITESD E’:‘Jéﬁa?&?ﬁ &0G éocﬁéa)oé’s HOS mééoééo.

F8E %‘@25»

125



f, fzméegoéémo) 50 Bt He030 Béasren e8meEES @Brgoé)éai) SHAPD HOS mai?soééo(f)
1 1
owand f :E+E Srgo Toe B8)Rro.
2838 &8 Bo Bérsee 63655 d &»80 t%@gé OJPED HOS meﬁgoééo:ﬁn 6%&02)260“9)&0 &3 BoH

Berseod (Bed 26526‘53?63 2.8 88 sesorr a?é)'é) & §°8 Seoso &7°e;5§oé§60 () ®ond

1 1 1 d 1 {fﬁ-ﬂ—d}

= R
T G Y

ff

172

e

2.8 H0grs8 E80 ot udrBos® JeniH) haherd K58 oY) H8Howo J =g$oa°e>o€5
-u = feoad.

TeI08T08 K5 &rdos® Ko hdh a8y Ko $9H Hedono & 2121253. 0%

n, 25@3526:6 oo Ko éwgoée BoHBBY 2.8 Hrogrses Bérso (B:oég7 méagoéééo f, o0& 0.
(O&® SHAPD) S8 EeoseQ n326{_§a§:526 oee80 Ko @525065 IO SwoDIHE Beod meﬁgoéﬁéo
STeVoIN) flf2 9) ?fncéé Qo=oo.

1_ n, 1 1 1 N
ff_ n—— K—E aé&(‘f, n2:1 (ﬁ"@@s ﬁé&dj@)

1 2 1

1 1
:(nl—l)(R_Jﬁégbéésao ..... (1)

I

ﬁ l— &_1 L_L _)\/g‘b
e f, 7, R, R, JDBBes0..... (2)

28080 (1) o H&oBBeso (2) T grAoSP.

_( -1 f, (n,—Dn, f, (n,-Dn,
n,—n, oOw f w° f  (n,-n,)

n, -1,

A

Ny

g %"@éw
126



og?gé%é QF@Teesd S0

L a8 505208 6oktrd 8K K0Y JEdere Koy ... [ ]
o) 1,1 2) 1, 2 3)2, 1 4)1, 3

2. HESSS theo%o ... o IBV0DHHE0B. [ ]
1) &y esqjsavméa 2) o) Bbrsrodd 3) ey @véé@é émogeé; 4) ?.3265&

3. 5“0 Ee¥o ... [ ]
1) &séaoers% Eér8o 2) &5§>owsvé cStSo)sao
3) Br)eErEe8 BdoBo 4) BDEFTS SB)ee0

4. K535 Lo Eeo ... [ ]
1) &gogrses Eé8o 2) &Bo0grEed SYee0
3) &5@&305“6 ger8o 4) &5@&7°S°6 65603830

5. %0grsed S080p DAY a8 88wo dtndod Dieo BoLEHE © 880 ... DY DESP eolH@[ ]
1) Borargo ot o &otnod 2) e BolBo Howae Dbow &otod.
3) 1 085 2 4) 1 S 2

6. ... OG> HEIDS (50558 EL80R) 880 (HHrargrdd Jlroddore BHod. [ ]
1) SB=e '550@60 2) cée):ﬁo 3) o8 4) (Serargedd Sdrodsore

7. Foed)ohd 88eren ol ... [ ]
1) &)§ Sol&o Howe DALY 2) BeargR8 SHsme &I
3) T8 w0k HBSLgR 4) 258

8. ... 2008 HSEIIS 8egren JLrosY Beseenr gPAITO. [ ]
1) 88 509 2) 1 . Sedo 3) 50 20.% &%) 4) A3z 50D

9. %Hogrsed BerEos® Jerdd (S&8oe00 336{3&26 38 ... ?sﬁacﬁeg T JeTASINY) [ ]
1) =8, &S Solo 2) 3) 58 4) EB

10. 88K £98 achts mdSt £ ... E55. [ ]

1) eden &PEDH S8 EYDS 2) 8BS 3) eI 4) a@é)&)eaég QP@, SoastoV

T8 B"@éoa
127



allanial)R Snl); - Boe) @slodo
W2, 0-ToeN
* 8% Ko @30@0‘3?@68 85 08 Loggddd. vl DI R R BeniiE08.
SPIH By YR (D8oHI” oF DoHr0P HABK08.
é?ﬁ)&@‘s o (rsegseenr “t)R (Trsegseen” (light sensors) goerom. 8 P08 HoBereis (18earow.

* 8 8® (dpeore 3 grrrenoérowm.

a) S0SBE S0, GHsorr ?gé’é%;ééé EOA BenHBorpst ePERgore &0G 8. B §)E0 wotrd.
88 BoBS® 20HerdH EIHE griso.

b) cée)aét_ﬁnéo &an)®d 3 5360)&26 ety “seB)05” 88 HgHeoeo.

c) @Emé OO 0SB DB (@é_‘épéo) 85 grifos? Sendatheod.

d) Boks grfo ©RO Hed BorHSt &0l w3 BETPOD BB Gotnod. 30 ‘T8E’ z‘ﬁ)éweg
5800 Goenod. A B HEOO ©oErd.

e) SrES grifo 1 BodBFN, BACHOL 8Beses, SBEPEes EoiTrenotrom.

) o& ﬁ)cicg &850 PPl DO grrrent FBIR a8 “BBogrsed Eer80” (oid 506@&50) €000,
& aHoB®O I grito “VSSE 887, HBAHo D S0 (B0 Sotnod. BokS erifo “SSEEY”.
& 0H0% B Hod (550 Goeod.

g) SBHee08® (rods and cones) Soween, FognHen WX EFPLLOLTPOD. W Shepso Bo HHHE)
60008, & DfHB “Zfoéog@” (macula) eoérd,

h) &ezso 89 “Sihy)” Eree JBD0e08® Gotnod. Ho SPRE SHDH g, (H8ozo &8
JBHee0D VEYDEOB. 8 JBD000D HBS (©H8&Doo KHod 263& 508 Ho8zred (K2rod
TAY & (HBeaeorr (D558 Er08®) S8y st “é@gmé” Toe 5090 HIQ rods and
cones o

i) “BEn% 508° HHBH IrEKON ¥ ol Sorbo By Brren HOOIBI 8 FEiS ©F
Eég@ial’eg@% €000, & BT ég@zﬁéo o e rods (Sowoen).

j) 3% DBYES (oo @o¥) clarityd Do DA Do, (HS Elals) J0Lm(Ben oG sodey
8 B0 o arden Eree TG Gotran. @ois wers SRS 383@;56 e Iris o0 Erre
1HBOF.

* Elqyr Beogrsed o HATH geso : Iris S Eoars Awdod Srdy) SHowe o8
IHEH Hoder P Syre soenod. 08 HBrerR) v BT Derdd S0y5Q Iris Bod.
STroe B 5808 SrETHR0 By “Gogrset S0 Irgod Sty $108. D T
magoééo B SEL0r0e0me 5808008, PHD I8 me;fegoééécfme» Ko H0grsed BerBsmmne 85y
HITOB.

* 88 Jdego ot e (\1/_111:3\/’ u, f SSoeHeE® v densd ?360(?’ Goenod. v Iend 2.5cm
GOEOR.

* Se598 (@8%&60&@26) 0220609 S, 3% gl Brdo IR 2.5 20.80. =HS
$0H) Do Srsost &) (©&Dono SrGo 2.5 0.8 (Bod Ew8o £08) BBt ETO.
©OHE S8S Sod EzR8 v = 2.5 0. e HAD dore HorBIRo.

FEE TRaw
g 128



* SpSS Sy e S0 @w) Je8doerd) S@otenr BEre BBTR D08, &
Lo“aééé)oaao@‘sﬁ) Borhodn Soween (rods) HBoSe, se08 é@é:& Soguden (cones) MHBOND “Cﬁe)ga"&”
TGO B BEEeaw. DESEE Berren & SErEoeR) DFROSEO TRO® K5 &)ds g8
enrhHeod.

DR EG &0 :

2.8 $58 83 Bo&P Awdod a.8d SHome Jod S S50’ Ko $:0H dgore SRS ©
EJg &ro))) @ 8 BwE) YRR B Srdo wotrd. ah HFeHH DOAI Fod & Srdo
BHE0H.

INTal

* 10 Sone %) S 68 @{é@%& éé‘\)Koq %80 = 10 0.8 508 18 0.8 &otnod. Fgedesore
ABDERHCHD P 08 25 0. 8.

(20%5°%0) 50-60 Done S &S 08 1 . %008 2 éat,ﬁegﬁs &0NoH. e a8 éeg% 33
@g(ﬁaé ééOt’.oq 8508 Trd) 61 SRHOLH Fegre, @éom S,

* cseg?séeao 1 prdesore 2.8 8 83 @@@%} éf{)cg ErBoe® Ko SN B0E) ©oHOKH PRI
®© 88eren &35 Sod 5 VD B “¢§)%8%00” wotrd,

d ﬁ&f@q ErBo8t Ke 30D $odo @{&om Srdiieosr, @ Er8ostd S0 wohe Hod :;6253
8ezren o I3 Bosw @m&)& “é@%&gssao” 0L,

* 25 20. 8. QRGK B &S0 Boardsd CS@)%}%'S(‘SO D58 60 Goenod. 7 0.8 )RR EIY
SrSore Ko DX Hyed é@%@ﬁsmo 60" 808 QNS &otnod. I 50 Bonen SeHo) B a&S
08 Eﬁa%)qgseao 60° 808 LN 000k,

* 0teE SDB IR ol Sbso @wE) Trefoddo - Hde.

* 088 59 Hod Hify) 8leren Hogrsed 8508 diroddorne (Haireo 18550 Bodd
Eoard T°§ S8 (H8Qoer) VEYEROER) B, ©0& & 608565?3063 ©88oa &ro, TgLoBT°AE
D0, (Bod Do SrEod) (Bothdrs) [H&doe0)

g

; > PF=f=v
?Pl ~F
v

53 DNATR) EodSE Hogrses Eersels @926(501315_00 B8 S0 LK.
Bo® Ber8 Teefodso = (8o Krdo ©0& f= 2.5 20.8%.
@3 Hedd é?éa& (D050 SR, @68?%250&320) Beod 56?’.& 3"2‘550660 = 2.5 0.8, (K0drS)
98 @28 é@)%é é@g fossiteteYoosd ENISVRY) 608 N Bod Ees a%egoé%o é@ééa:@éﬁoo&.
god) E8o &3 TeglosToR éﬁd{)éﬁ ﬁﬁ%i) “%e08 édgwéw ﬁf’éaéé?so” ©0oTH.
* ErdH Bod Berdo TrefosBo 2.27 Hod 2.50 S8 SredrEr 0nod.
#0% &8 Dot : el K& Nod KBy teteToN &%) 30D IrED Qygore SPEROES o
58088 DotrdHdo ﬁﬁé &or8 Doty ®oerd.
(EPR5E8)8 Nardeath SPEROR HEPSPE B Jrglioddo LBk @%63%5!50 DBo00nes.

Y @@éoa
129



1

ge8 Figo = ————— 1
568 rgfosso .

+ 8 Bo-1:5 dosrgBeotro. D% Sod PHoR8 (Gimeres - Diapters.

1 1 1
¥ HErsed ol Bl @13263&;30 Py=—=———afbdu=o
f v u

v = %65 &rdo (OB)

P:—l»: 1 _ 100
f -OBm . f(cm)

&T° 65260‘%& o3 g0 58 50 0.8 Br8op @l &) SHen EIHoDOBE B)od.
BDH Ko S5 B ? daedes AW ?

&3 @éﬁéoa) 50 20.& (ﬁ@é B8 Do) wde EIH0SLBL @IS & @253!30;3% L@é‘gcse)?g
EISVIS Bortd. &3 SESSY QrBeB HerPses Ber8o ddBo. &3 HEFPsey e a‘ﬁegoééo f ©@ond

(Bor) eefossto f=-OB (meters)

1 1

1
[ Koy ars Do g0 -50cm

f= =50 0.5 (- ©538 Herses gersed) Krdoi) & Sho @wy) @%63%5?30.

e L 100100 ) (-2 gaiegy Stosed) o658:50)
fm. flecm) 50

e | . |

o A P Q B
@Gsﬁééoéé)e» ) $5e08° DS ‘A’ HotHHBH sde Ko HothIZTe Sredried (P,Q,C,D)

* @?é&é@%& Board A o0& B Dodhdd 253&5?3 o (P,Qon) Sréndf ‘B’ % sdo Ko (C,Dod)
SrESE.

B8y |

* B B’ B ede SrindA ABe ik o e (P,Q) SPETENE & SRS )R DL
é?}@%} 0T

* D% Doth) B 008 e, 2S5 Dok ‘B’ & near point 90eed.

* @0& near point (B &8 Bothsy) Jook So(B0 iﬁﬁéﬁggé BrEE)R @Ooertd. SRR Aardetd
“EBogrses Eese)” &IAPAF0. TAHHEeA0D ‘B’ S Ko SND (©8Doer) ‘B’ Eﬁegéa
ByEro.

OA®IB $0E5r80 = =25 0.8
OBw3l8 [H&fon &rdo ehHaEeon.

ég&eﬁé DR DaeBeatH TG Hr0gPseS B0 BwE) JegosBo %=l—l

vV o u
VEXCmESESE. L St B
25x |
o f= —sem A X 00 o ErEod® Ko HKnDH E903E © Dot near pointd
&rdo.
F°8E @@éo;

130



25 25
* o) E0¥ TeosE5m 522-50m $08 i =2.27cm $8% SrSHer &onod.

zﬁ@ogéo 1 a) HoHd 3363&&26&@&) 1OHB Boore o“séooééogo éé?(jéoo dY Bod EE me;f?goe‘émf{)&
éégaﬁéo; T8I ©°26>g§o e‘é?ééoo e 8)60)&5 Cse)%é &85 SeB0.

b) (5&5»65@)?&1 ééoé?gés BFPEY) “EIY &S DotpI” (near point) ESoore ErSH0 S 08
652(5665 SHOD SPESHeNH0H SR D 28)EB0B.

c) “5@560 SNTai 5&5})@%}1 éé)é?g o lelaty 606623026) SenHHod”.

aé?sé_apé’s (ESS~N ég}éa%, S0, @?’gm&éﬁa& o3 4 Srost O 2.8 D&, B8 5o&°
&Ho8° 8O éoe;ﬁé)oézéé%). S050%0 6% w8 Jpesesore @é&é@%&, E%gfﬁe)%é B0 6263@3@
EARoerow. HBS BTPEoSY Boseoh TPEHR Jaen Ik B, wST D SEHHHDH
B0ETPTEED. SRS SDOD SPHerdd HEFrELD S0ty EHHrod S, Bogetenrs®
D gPKNED HEPSEED, 808 g0 B0FPEREEn GoRE BaRE.

@%W&&&& QarBeatd cylindrical glass (¥ @wgen) TS,
* &a%}qﬁ%&éwe» Soeedy BESme.
1) @/5"}6‘5&5&% 2) 5;2)&5@% 3) iﬁ@ﬂcséo
1) @%‘5@% :
a) BHEM &) SHen EIDJo.
b) Srddnre &) Sdden EAHOBD.
0) & &%0 Ho 08 ([HBRowsm, BB K08 woth DY) HEB.
d) Bodser8 ma‘iegoééiﬁo eérécﬁo Sod & &8H0 BenihEod.
e) &8 X8 1O &8 HothIBH ede 6] HPHod SEB.
i) ﬁ@g &8 Do) d ®@ond HY JsBed SIRTPACT HEFPSeE Eerd a°aa§oé§60 f=-d
2) é)gc‘%% :
a) (PSEOe 65) SRHODH SrREK.
b) 858 &X) S SPEB.
c) 8 E%%0 Ko 08 [How:m, Bdae FBH BHE DB HBH0B.
d) o0& B8 Wé&oééo BKE0 Sod Soe eye ball $08PD0SK0 Hod & S50 BenihrEod.
e) &8 K58 EK 800 DotHHB SEHE® Ko ShHOD SrEents.
f) 8% BB Do) X'wond B e sIRPA0E Hogrses S6Y TrafosBKm.

f= XD (D=2 5em) poXx25
x—-D x—25

3) SBo :

a) édﬁa@ggs e Bod ét%)es%‘m ﬁéatgego é?ééo Sob 8 &%h0 Benidrod.

b) 29058 Booren m@%éé}&é&éo S Loderd ‘z”gé’%ﬁgéé ©%g90 éé?oﬁc‘éo Sod & &0 QEYOE0B.
¢) (R SoBcsw 6525})65@8& Bokr EorEd Saxso.

d) 83 JdeBes ésaﬁeﬁéoéézﬁ g5 (3 D grifo HErseY, Bod grifo Hogrsey Ee¥o)
SHRPAFED.

F°EE TR0
< 131



¥

el 3‘26;2250 P) :
a) &8 Tgfoso 8)6%3?50& 868 3°263€q5fgo 0.

b) P= 1 = 1 or &
Fgoddo (o)  f(cm)
100
C) ane ! f=25cm&%6am P = ?5- =4 cm! B 4D (D= éCﬁ’PéE)

d) Bodk Seoseen (P, Pew 3*’2)3)0‘;3@) 60)6365 SQHDP HOS @&gm P=P+P,
e) P& f= 2WEPEEO ©0Nd 8 HEFSE BeaBo
B0 wowd b Hogrses Seso.
f)P xf=1
5008 @é&mo - Hgso
H¢Bo @ a8 AT o880 T 800 Boh Bhderes SO PBEEE éwgoéﬁ NOLEEY
K)mq;&)& D880 wobrd.

a) (Beherses Ka%éoéﬁ 2 |BeDersed epeTren, 0K 8?»6&)6@96 JoEeren €&oerop.

b) 8ens) 08 Ks%géo oowe @’so‘fms%?fog N BorHenrr & 0. o BCE Sdrod8orre &
0% BoiH = HdodH
c) a8 KJ%éo S0l Dgfesd BoHI VK BorHen Bokd é%éo oo Lo“so‘ﬁavs%?s_oo @ e O e
5208 RB)BIRo.

W,
Wwhite Dt

d) $He88 srod 886 é:ﬁq;@%, aagﬁq;g)) 88 éJDC{;ZO% 263655 Ko Seash e Seodn (d).
e) D8, AR OIEAY &heasinen i, izé@eﬁé(‘é &8easionen r, 1,305 é%é S A ®wond
A=r1 +1,
d=i +i,-A

f) 58588080 DoDEP ¢o8 ol Snin s BN EALD SHTE DHIHHCL. THS i -d
SE w8 = Hoededho.
g) 5DG Do FSiw $E 58580 = aPropdd Ewiso ()= i,)

$Ees% Seassm $SSE (r=r1,)

FaE @@o“m
132



.
d.
3
B
2 D
2 ]
3 1
s :
0 il i— 'lz
585 oo (1)
h) 505 D Sy D wowd - A;’D;h-‘;i

i) ™ 2008 Merel8 o8 88edn (BS3reBoRIH
568 SBSS rHeassm.

sini

sinr

sin(A + D)
N2
sinA

2

n=

j) 68 Bokd Seo S 1= C (C= $obi Eesn) wond o8 Hes B QYB3 B&0B.
€ Q 2 Q® © s
r,>C oowd 28T 88690 GOKD. VOFPTOEY HTHEI0 BoLE0E.
r,>C &> A>2C @008 200 8880 oK.

A+A " A
7 TA%M=%

k) %% ook A= D eowd i =

. 2A . A A
sm-—2—- 2.3in"— cos -

n = e 3 2 (sin2A = 2sinA cos A)
sin— sin =

et [l

n_- cos 5 A=2cos 5

08 Qéiéeao :
* B 5708 QG orbenrr DEDEIER) 5208 JFDE0 WO,
se08 o = PRedgo X BBorggso
v=fA (@) v=ni
, 8 Ergo6® so8 o
Ared8o &mégy S8 thesBo = GirsEod o8 3ra

* 5908 350 OO 33%856)650, ééoﬁ@q&@:’g SEHER. 2;6@5?6260 ), Hoed8KH0 M 230ASHE
&S0 @"268?’.9)265058 o8 0.

* &% $Borggso 30 08 Y BoiH R WEEHHSE08. YT 5208 JENS BBorigdggo 5ON
€OLORD.

* 590 KD o sPosH &mé& fafel ‘Dé)&é. &80 P08 &mé& Rfafel éééogyaé.

Y @@éx
133



* )8 el DY 31853 Heeso & 880 1HoT BHBOrH 5008 (HATBoNINE EIHorPD &
ééégéo 0T G 8o P08 26(_%2;56260 BolIHB ﬁ@{éomzéa 608008,

* DIodo HBore (Kaéégéo OO (HATBODRNHED) NBoHBorH Dbwbo éé)&?émzéa, &3mrS0oiH Dledo
BEVAI - Ielvel Al
a8 é%s%é Ko2050D

* 28980 St BobsHn a8 SBFNS Heto BB & BorbdH Jowohod & JEFY
é&)@ DS0d o Eﬁgﬁ?ge‘ézﬁ)@é&o&.

* 2.8 HgBo o s°0d 585550 Bobod © DRIV @) Borhen NFDODHS B sPodrr
HBKBoTed.

* 5008 BBorren a8 c‘Déﬁa?Schﬁﬁ‘?Toé B8050% amrrses. X -88eren, Y -88emen, SRR d8orren,
08)oSErE 88earen, @(_%5 SBorren, @Cﬁa?géﬁo‘ﬁoﬁfgoéé BBorred HOEQ) errrdaen.

* E508° DDA BBorrel) 2.8 S8’ [Hairdaran. arsEo $rdd JEpEchIed S8orre
S50 SBr0d.

* DS HI0E EBorio $O0SE508 Slomren T DS @HI0E gzren SDT)EH FPAF0.
8 HEBo Do B P08 Ho2Y & VIBGYOR & 7 Sorbenre HEMEseon.

* o8 Hg8o Howe 2.8 B0 5008 HodH @b a8 Sordre 28PEBEOMP, Both, L Sorbe s
QESPY) Doy @ BOH &9 Sorbenre DEDeaeow.

* EeH8eosty OB Doth)enn 508 JSIHIDE 038 &H08w0 aézg é@eﬁé:ﬁo, Boid
65BE00 S BoFIToSY HoeRYSo 230AS QORI EYE0B. BER BOREI) AEYEIHED
5B DotrHS 8 @3%03 5008 880, 20N 263‘3 5008 880 Bl &0 0° - 420263?.6?3
&otnod. & o 42" Do aTalelay 608 o8 clarity &° Qygore VEYDHOB. (HEeEH50SZ0S
BOREIINIE s &850 42° soenod.

* 2.8 KJ%éo OT° (HOIPBoDS sPod @:siésao FPobINE (93re VIBGYORM DESFHE0) Ingo
8 DTl SnHBorH 08 DIebo Dok B

* DoBod KHisen DSebo () Borhe 5208 (ﬁné&) H0HBorH DL0eI8 rary) ddrlo.
ABHBN AFoPo O &mrdord dFoto 0 ©ond HEIod B0E)

8590 DSoaedd o = 0-6
(Bod Hevo Srkod.
0.-0 sdadh deso

* 2.8 KJ%éo cBaaéZT B, HY), esTrBorHe o?mégr 25@35526 0easPen BT UL, U, 1, OOV &

Hy “Hvea
Hy—1
Bo(FES%) B8 @’3%86‘5 207 =08 Ny (HRYRD ameede.

* 088 IEID @&gd}é&éd}, S00tHRDH Ferd8e0st OB FPeren (OB Doths) 3360)&, oo
B0t BO[FESKNen SrES). IniBE (@PHE BOEEH) S BokHd e B0EESKY).

* 208G 33603&3 (E00S® =08 (B850 008 HNS BenhBord 5°08) S1&g530, QosIrorods

o“)%éo G0 8);555)8@ ﬁbzéaggo =

g @@éw
134



JoeHS8l0, Qéésa ée)ﬁcgoﬁdﬁabe)é 8855&008.

o A
B
5 SpgBtere

D D008 Srdhdey JBF¥0D A DG DBIDH dedgseod S8as8o 3ob B 3G Dosgrrods
JoeHBH50 Bod C zéég c‘D:siKJsao SPoHeHos. Jads Azécg, C éc‘g BotORE 26(_%.2‘526;60, BoOTE
DEHea0 FPotrEI08.

@D D S5 $680%18 VIBGYOR &% 2.8 Sorh 5008 Sm(@ad (&) A8Dod 008 S0
TEE) FPLSBK00. BEE IHHBorH P08 KBKorr 137.8" Doard) Fothey Sy Krtseoss,
REFHO 08 I8 HoHwg IHHBorh 888 HeE o (180 - 137.8° = 42.2") &)
EIV00. ©B Forr esTrdorh o8 KBgorr 139.4° DSomrd) ot Hg Krdiseoss
REFFo o8 IDEH Hoday &rrdord S8 888 HeESo (180 - 139.4° = 40.6")
6D esTrdord EAH0H.

& Qore V- R (VIBGYOR)S &%een 40.6° 08 42.2° $5% &otnob.

N0 BOFEEK) 2B )HS0E.

ABYBrH (E0) Do = 137.8° £PotHiod. (DHHSEH & Dend 1850)

&ITPB0MH (ﬁ@@o) D3od0 = 139.4° PoHEod. (&3mrd & Jend ?‘i@ﬁ’.elo)

SoADS iy Borben (IBGYO) domren 137.8" &o& 139.4" o 5iss® sotwod.

ISV

42.2° %O'g)ggseao éaoéé.pq 2.8 SognHd éaé?sﬁfob & Jognx) BwE) &0S0P Ko @) 9B DoHe
$009 BenSHE 5008 (ABHBoKD) Sr(Badh HBELHD FKosod.

o3 $505H08® Eod gam 8ots 8800y T e 40.6° %cs(gg%ssao 5OR Sogns) 6350800
$008 Re0HE SBTB0rH 08 SrBR H880%Hd Tdeob.

Violet-40.6° Red-42.2°

ZOAB = 40.6° 56 ( AB $)509) Soad o 57082 Ie06Pob.
ZOA = 42.2"88 ( ACK)80%) Soad 6B 08 SenddRob.
‘A’Eogns) %601633, AO - Bognd) woasn HBAD §8e Siiroddo (Krdyd Kol JenSE 886508
JLrosBESn Eree)
OAB &36 506w OACe 8o3g Eerenreid.
2.8 3% A& P¥os® Boh Homgairen @od8 HTHEK0 8BRS Mm BOEHIRY DB HS0B.
eo ao@tﬁzé@bés Botrhe Eoo (RGNS ao@é:é‘éa{gé’sc‘o oo (B8 éé@ééom €000,

g @@éw
135



R g0 BORSSSNE® &seeBorh et EIVOSTT, AEBord %508 Gotwod. ©o& ROYGBIV
(E500E® &otn0d.
O KD Botd %G;ggssao 50.5° sore &smedord i)cgggseao 54%w &oseom.

Violet -54° Red -50.5°

Qa8 20(E650 Eﬁaéwéo oseE0s? BEAHNBE b a8 @’é&béoﬁ) Joguy) o) BOA
60eDOoR.

©oNd sPdo LHod (N Loo&) (QEP508% L08) SrdH ao@(é?é@\) ée)@_";s*’éoés 8008,
od $0ZHee0 (Scattering) : a8 HESTeD) S ) P S0 BBoKGGS0 Ho 5208 HBJPHIHE
&9 HBEETEND) ST e 5208380 2055, Bodod. H® %quoiﬁ)éoé& é_ép@s EPodermed)
8BA o) HIS® HS BBor@gso KON) 5088° QBB THod.

©08 Ber 08 I8 (f3rod I5°8 SBor@gso Ko P08 S0t $8 Do BaHerd) seod
$HBZe0 @OLTED.

ger QHBL BIS 208 BBorgoz DOEHS 08 BBor@gso woero.

HBS 52088 HOFHS o (&TPERS 5708 88eRB) i Ko gy $080e 570 @otrd.
5008 é@éo“)eao Domrw0d a8 085S FPBoHaTD.

8y 3sDBg0 Ho 508 e Eeeop DES0 ToBIHE Eeao HBHPR0 DESHE 08 S Iellgfalely
505608 DPBAIHT SoTD. YD Sr(Beh b TRODER BBA &TEOB.

D) HBLTE0 Ko Eo NS IIDK0 Ko 08 ©oll SLD SBorgyso Ho sP0ds o8
Q)o&ob.

G HOKPea0 Ko Beao S FPSHg0 Ko 5208 e AEND &Borggso Ko sPod8 Hobobto
IO P08 HOFHE0 aiHEH0b.

& Emwo wond 48 &TroRoE® TR HBFDM Solio woiro.

$HOZ0e P08 (B8, HOFTHem S0P GEPEHH.

K)@ééea 8%s0 90° @ond é@é&m 508 HHS 758583:0700.

Knbéegééwen @’35%5263(335 BEE ©020ES® 5259 wsPdo DOBoHS® Goenod. (968 é@ééés)
58508 N,, O, @enxden @fBo 0o & wende $5B5re0s® HOBoH s0d ééoﬁ@%oés
DYSAIIT Gotd. 5298 ad (N, 0,) 9O BoHrd é&é&)w Zo(oreore 62035_2033.

I0QE® rEssnos® N, 0,08 rén H0omder &6 sodhe $g o) Soren H850e0
DPotDeHY WSPE0 B EIDOB.

9B wenHen DO 5208 Ko BEND 3";6&@;6?30 Sae BEVR ééiﬁoﬁ@_%o Ko 088 SreEd
dyobaeom.

QBB DrfEe SorbeBTy SN HBZe0 BorhEod. 28 3riyy) drdo (HaSrotte.
Dotdod & BBoRBL50 DB,

g @@éw
136



©OLE HPEEH, KFTRKHAIEE St BT EIDIXH. B $HAREE Krdnd H08 08
PN BHeod AENS B0 (HSredoird) &otob.

oo &8 (Raman effect) :

a8 (B%o $9 K)@éésao BobS 508 TPSsYgEw, HES 5008 PPeHVgn EF) DENSS Sae EENH
0008, BT oS (KPerHo wotro.

2.8 S0 é‘siqoiﬁaé)@ 52080 80N ol B DG é@éogﬁ Q&% 3053&*32{)& 308 é@é«f)s@o

®0¢x0.
OFHHE TS50
1. 868 30;535&3@% ($Xeeaeen. .. ( )
D 2) &7 3) 0.9 4) PIDDH
2. @6555‘36063@_26 $r3HAS Cse)?e%gseao... ( )
1) 60° 2) 42° 3) 24° 4) 90’
3. Bodahoth Ko FEBE S5 8. ( )
1) 8o 2) Sgrded 3) )05 4) BL0ar%H
4. BosrHben... B (Dmceseen. ( )
1) 8&8 Wé&oééo 2) 8&8 3°2§)£Q5§o 3) 868 Cée)cée‘éso 4) 868 @‘E%é
5 f= 210 20.& wand ééaél ﬁf’zﬁogego... Céo‘ﬁﬁégm ( )
1) 27) 2) g 3)5 4) -5
6. S0r3HQ Bo BerBoddH Jox0060D ..... ?36263) ( )
1) m?;iegoéétﬁo 2) SoAr8o 3) (H&epotrSE0 4) é@%ﬁs‘ﬁzﬁw
7. o& B0 $nH oY) ... (DBDorY) ..... D AEYEDH. ( )
1) Qes, s2BYAS® 2) Sogeg, BB 3) gy, O 4) ez, B
8. EoBsD Bé%af.g 33603&5 (&0 ... ( )
1) So8oen 2) QP 3) g 4) QB o)
9. Jprdes HoKY) (Rriexn H5c:)) éoo“g)'t’g @Seﬁegzﬁoéaé) ... &80 o0& &850 ESMEVIORN @éom
s K. ( )
1) 20 20.& 5rH 2) 25 0.8 3) 30 20.% 4) 35 0.8
10. @é@%} 89% &m0 PN DD ...ty e 2 STREHED ( )
1) HBspen, @oae:o 2) S50, oA 3) (@rodo, Sy  4) HB, Sy
11. Bo& B&do &3 meﬁgoéﬁm&)& Eﬁﬁéaggsééoé’s BSBOHHED ( )
1) 29058 BoXoreny 2) Bo® Bodoren 3) (ﬁag ToEen 4) ?.326@;
12. Bo& 868 Sdgeren ©°2>6>6C§?30 ..... & QENHT o, ( )
1) 8326&%397@3 2) é‘%@ 3) HBen 4) ?ocgéo‘ﬁ)é; 0
13. $05%08° Homodo o Cﬁe)ﬁé &%0.... ( )
1) LKPEG&CSQ% 2) 525»65@%31 3) 3H8H 4) 15@560
14. §giso ean)ld I BB grrsn.... ©ord. ( )
1) s*g)cSe 2) 88dee0 3) BoBH 4) o B&r8o
15. Somren, Fognden @ Bearen..... & soerom. ( )
&8 @@éw

137



1) JgHero 2) B8Hee0 3) 6@&5_@60 4) BoBrH

16. 10 Jons®H D0y 08 )RR EIY EPBO = e, (
1) 25 0.8 2) 20 0.8 3) 15 0.8 4) 7 0.8

17. 50 - 60 Jone 3003y 068 YRR EIR &rdo = ... (
1) 50 0. 2) 100-200 20.&%  3) 70-90 0.&  4) 7-8 0.5

18. &% epso SOAIB. (
1) Se iﬁaé& 2) 0“31‘5‘3 iﬁ)é& 3) A8 fﬁ)é&_ 4) 8y zﬁ)é&_

19. %% 52088° $nPod HBosKe 8 ... $g Benrh&od. (
1) Soween 2) SognHen 3) 65@5 >& 4) H5i8)

20. JrHHAS® Bod Eersed8, BB L5 BRBO ... Lodedore (
1) 20 .8 2) 2.5 0.8 3) 25 0.8 4) 40 0.8

21. $8gs80 FodEHE 52088 $om0HOD LPEY e ... (
1) ééoﬁ@?ﬁgo 2) 08350 3) 3"2680“9)26?30 4) H&zen

22. 5% 0B Edard (Froso (
1) 088 2) é?ﬁ)ﬁ)c‘f&) 3) 8o&® &80 4) Botren, SogndHen

23. 2.8 Joardo (Bghersed H8 318855 easo V2 o 8K DS g%%0 Qen...  (
1) 30° 2) 45’ 3) 60° 4) 90°

24. w2F0 DO BorpSt EIHHEE ... 9E0H)e0 SOBER0. (
1) N2 2) 02 3)1&2 4) H20

25. BYTe088 EOS..... BR &850 da8ed daro. (
1) (e 2) ég 3) Jzxso 4) @?gm&éﬂaﬁa

26. Bes 5%3%5?30 4D o T T°oSBO ... 3N (
1) 0.25 2) 2.5 3) 25 4) 4

27. 9P BOTR) ...... B B°R ITEed GOTEAE. (
1) @?@W&éﬁ&& 2) [ 3) 553, 4) Se80

28. Bo& 8&8 mé?goééo Qendd ... (
1) 2.27 0.8 2) 2.50 0.&
3) 2.27 o0& 2.25 0.8 Loy 4) 2.27 0.8 $o& 2.50 Loy

29. DX Hped (7-10 Jonen) So2ofod) 8GN wodo..... (
1) a8 @é@%} éc‘{)oé Er8o 7-8 0. 2) 88 29056 Lodore Kaéoaé(so Qé}&aﬁ
3) 68 c‘f)e)%al%seao 60° 808 BEWR 4) ';’.355&

30. Lo&rSore &ok ) LeRKDE SrSHA Bod Eeos meﬁéoééo ...... (
1) 5850 2) 8350 3) 185, EJape Kk AF Deod  4) BB

1.2 33 42 53 63 74 8.1 92 10.2

2.1
1.1 121 134 141 151 164 172 182 19.1 20.1
213 221 231 243 253 26.1 27.1 284 294 3I1.1

F°8E R
© 138



3303 [Qaraale0

533813"506"&:0
TS @S DSy (HHOoDED SreTren.
Kw:é?gé’éés &o8 o“amo;eoess Soggorr %Fes® QunE e (K008
aw 1 O°R, 208, [PPESE° Srne (HKOR08. [P SES BwE) Sraroddo. *8)S ©&ro
@5:5?8&968 0% KJWU(;@@S’S SogorT ©aiedE e (eSeaned® DS (B536:08.
@@ﬁ)c‘ééo 5 ©fs PBYENS PBo BOASHE iy TROe ST IS (©0000HE00.
&T° : BoK apgmen ToDE wdASHD 0 g 0B wsedo ol FrMID (BrBoB DBoHen.
DEH0 B3 FEHO TRO° RS VATV HFoRoRoDS &8 (P e,
a8 B0 Howe S (HNBoDaTrs & TeEo Be iy PBICHS PEo &owd.
&3 éﬁ"@‘gpﬁ)e‘? BLo 038 8o enHadS 8)85355 23580 (astgéoé) 9 BenrHEod..
DS w380 o, DEEIEY FEFTPIE (5SS &HBrA0HER ST 5%, &) 09 woero.
S8 BAHKOR BT TEEEed @R HHBA DS 48 JBHoe BHB ST DS woseen
9OLETED.
DS 0P GT° 1 Q&S JE), @3?85, Be)dh HQyen.
Lattice ©dre @ a8 (850508 33(‘,3 Qo0 Ko éwgoéséﬁ Cﬁméé&é 05 (‘Ogg @008, éo)éﬁé BrH
Sergros® DO K)Fore rhBowsH). S YBE Erkd Aoy HOAKEH eoirls Sejorren. ad aopbmos®
E0A wCiroB BYBHEHB XS H5K0 8BiHE0s.
':50‘5733 ‘D@Ls;é)e» s 28 HEBTE0D) 2,080 G0N T aPKPegééeS‘SK) ao@;zﬁm;ﬁ» 3@?3)(3 90@263@3
©0EPE. &3 3&350(3 Qe;@g:éoen & HBe0) TwE) So&%o heap HBLFDICDA gRAI°0.
00 28 Xwéémgo E0%08 03 OTDY) HBHreeadHED e Cﬁ?éérv’ GOEPOD. O 28 HBSreanD)
g, 3@@3 aegm@ &3 HBRTE0) @Dé&éo@é @ééolea oo w8 cﬁgém &Q) BE°Q) HILPenH©
Bosred &rre SHEM™ Gothd Hy winsod o) Sollse wiind HEHEron. ©H © a8
DELreYH FodS B @623&?%;@68 oo a8 ¥ol® (FroBos® ddubaran. & dPorr WIS
HBSre0 Bo(ered (HerdED el ABo(@S ZOAI amg‘;éao:éa ?305733 aot_s;éae» 0.
a8 8os® God ?305633 cDEJLS;E@DQD, 2.8 9o écg a8 ?09{& $00%0e’ o) D IOJR Gotrow.
& TSR aﬁgéaé Gho¥) Bod tée)a"@éa BOD5H 8 TS0 woze (BrEHE’ Homodo BHowe) 8)(5355
o D) %ob. & Stﬁaée%é@ﬁo S0l ‘zgocsagb Qo[ S 8 &rod a8 Hothi) ¢ Kod 2.8 &I
Ehensron. &8 JSore :SO‘SU‘D @o[s;:éaen 8% 28) a¥st ééomﬁ& 3)65355 (Darso eotrd.
T DoEoen SEDED eBdo Sthentare g0,
@36"@& Ererod (q) ot e R.
(B8 5p008? @dme 1 28 eod® egostd HBT a8 Dot 5 BS w5 DO DES
(dseseo (1) @oéredo.
Erere0d) [/ DEIS 800005 @otrd.
1 @020HE = 1 Srenod

ES

FeE @@&6»
139



88 808 DoEoen Wl REFH HooRD HAE® SOFow. B FEHP VOB HED “@BKE H&” (V)
0L

I
DD @8 @8 386 Va “ A I/ngA

B0 V, 0538 $&, | 0558 - Soahod® DEgs (Haridtl) ($oehES®) n ©kkd @ FErEos™
Tesese Begeen (aeats;(‘éaen) Jo(Ess (med®)
q ORRD w8 Jogd w0 = 1.602 x 107
A 0538 g0 GwE) SIS STl BOCHEI0m.
5 8 33 1, n, q,A@é‘S q Dend Zéav@éﬁa ?360‘
Z{Jw"g:énéa aa@ TS ‘D@@;(‘é)e) Fo(B8 S, (n)aeses Lotsodd eo@ o 25)(553&6 é@@gﬁ» (A)
SeB.
w8 VDO GBIE H& G0 T I Goeosd BYiwo.
wond &g (HTHI QBawoiHe :
[=ngA V s n, Ao HEenoss) (Rogyg, SF°e50 52HIJ)
q o6 Swo s3¥o Sl SooHos® QOO FoBo Hg XS I:5°00 #BAOL EVERS) QO[S T,
8380 -ve NS q o - e HBKBoTeo.
V, (@338 &) ab grdgo
o I=ngA V Sotd nt, A+, V +, q dend -ve 8:0%08 18rc° negative $5:008.
29I Sochos® DELS (DO, QOO (D HIH é?gééfﬁéo 0 gRAIF0.
283¢ $00Hos® s Bariro $TRY Sero Hg @ONE 1 088 +ve ©rbHtn. @I ERS Hardeo
ERE Sere Sod BISTS Gotnod.
@“8@10635 Bo :
(355es @3'3%‘0& (Cﬁmﬁaﬂf{)& q=1) a8 Doty Ho& T8 DothsHt éé@aéﬁ@é aaﬁ?séaé (es580) B2S
O & Both Dothhe &y @B?Oddéaé’? FLo @woerd.
q revofe w3ed) Aol B IEH BBeerdS 230nI 51 W Jouls ®os

W
1 8808 a385erA8 OS8R B B

W Joul
q Coulomb

PEYIDS Fard) Volts 08° Sendro.

FraTe Sy QERE Baedeo 20h8 PBYCHS Pho = Tg)g0

0L ©HF 83"@@“105)5 Ho& o) @"@Kpﬁ;e’f D RS (DHBOHR.

B00508° aearageen (:Dolf‘gzézen) NS} (q“wéo“swcsoés) 8)&3?35 (D800I V Dend amea“e‘%éo.

& 5500 DS we) PBIEHS od wiE FBYEHS JH @B,

aafgéoéés e 8)65356530“)?30 (Bc%S éwgo) ©00&%HSED SIS K @&Jvﬁois) 2P BRSHS 200
0.

ageb8® Ko Gdo 3¢ BrRE ©05rSen BESET oA $3%0 9 (Anode), 0ETSE BSOS en

.. PBREHS Fso V=

FaE @@o“m
140



383 )R S @ WotrdD.

8, aFf&en Sod)d ?é)é’é&) 283 B&ard & Bo Sl nlg ST w00 - QRS 0.
aj‘géoéé‘s QRS 0bE, SIS odIH 26?386%0 50 89 HBEPE0E® HEPH0 SPHEHHBEBE.

a8 ¢ & Botdh JHrEDB 6°E, T8 Sy PBYDS Fiso REHrHD. (E°Ere &%) SIS G))
TSR a)*géoé% EOHSK aoLs;éaeD B5 0Hds H88° asf;géoé D), amsa(ﬁaéﬁo Vel 6526&59)560 L)
Eenzeon.

e 8)&6355 (aagséoé @:oé&) 6526659):50 So0d ames@aéo 3 arHEod.

($83ea (’:93'3"(‘0& 2.8 @éo Sod K88 65@)260 éc‘géa TATIIOIN M w°§eaéésﬁ) BRI KJCPU;O B HAD
(BIF Brahsweo TS o wotrd) & ergwd Ews) Digmmes weo (electro motive force) e.m.f.
©OEF0.

W Ed
emf :SZEZ ; 6 & (Hoeesen 58%33 volts

F. edre Chemical force EJaHS @eo0.
5.5 D0 1 2.8 B0 8 rHowe 20T DS (HIEIS Dwpd S o) IE°EES wotro. (K8
T8 DBUHEE 0B DS ©Fr0. wond §R) arirsrer & JFEEE0 L Srde Sg &
ote Ty DS (HSrothey Sy 0 GEH TerEey HTo.
©8 DFOrr WFS THPEeen W8 PNy ISEESD ©e58)e0.
RIS éé@éé 656&0 “SEE0”
2.8 TEP8 “arirEE0” JEEEE” 98D $raddd Bow HB0Y HBLrnos® KOS Foen ©oNd &
Q6858, TEFEE0 BN é%{gﬁéﬁ'g’g SHREHEERoD.
Q) TErreH efPRS 2ONE ATEESS 2rhh. wond DBS® P S8 IEEES EHEond
@go Seggo . (It doesn’t mean resistance decrease on par temperature)
&0 Aehvo (Hsedo : 28 P18 S o8 TrdrEo B iy BYCHS B0 T Home (HHPoDS
DB @& Erdardod® sotwod.
Vool
v
I
O3 2.8 Hochos® V, 1o g dBo TAI aPE0 @) LS wotrd.
R $% (©mesen - Ohm & ey -t
.8 a8 B Les® Seniro.

~V=IR @) R=

v
&% abibo Peedo &Y Firsred V, To A Rdo osm =R

&3 P00 500800 ((%%@féﬁ ?géom) SQIPE V, [ o Jsrdsrge (™5 ADEHD
08, @d DoY) Howe DB Do Qe D008.

5 & B y=mx & Ot

FEE TR0
< 141



1
9ONS y= mx 3 5089 ren (M) @HHd6 5.5 J0HErI8 Ho2odod IBEBES @wé& 2@5@2’&70(‘0& (R)

S Do,
2685588 (R) &né& @5@3@:@& “m@éé&o” ©0ers 58 ($83oeegeen oo (mho) Soe 58 ()
D e Howe (B8R0l JEEH Howohod V, o (D y = mx &rHos® ¢ohS® o &5
QAR FBBIMT FPAT0. DB AT ToTETen @obrd. sueeden : &%en.
L. AoHEreR) PBoBd Kawcqgoé) 250200095 ((PH 98 Do) Home BADH $8ETeer Gokd.
9ENF0B TPTPSPOD WELAD TETSPeD WOLRL.
(Non - ohmic conductors)
&o° : Light emitting diods, LED, 95,8 S0& @tg@scﬁse»
HA8 (D

@80 TR 0D GTRSH | @8EEe HOK IV SarEdy O EERE), PR
ICe»

$05% 680 8850 Dend 100Q © K08 5 050 L0 HEH Gotnod.

e3P ABS® B8RS orord8 1000 © we)IEE0 S0,

S0 e AT 6D 5 ofe Q ©iE 8o ok,

S5 408088 859 ewdchare Eo& @by &) ﬁm&@é 5550 @é:&?é.

240V FBYCHS B0 )Pt $6B0 K0T (H&roT DS HBKrw0, T [Herarei Bod HQES
é@%@oéézﬁa.

V=240V, 388 28850 mohwoh 1 ofr grdR &8s 8880 thowe

0.001A DS (D5PoDIHE o (Dgrard) oK.

0.005A D56 (H58P0DIHE T8y EeorbEob.

0.010A DS (5580 DS Botitren KoE N0 BhEHR08.

0.015A D56 (558P0DIHE Bokore Hendio JapBotron

0.070A® 8)&)55 (Baeseo 1 8D go8 VNS BP0 HOT, DS, 580, %é‘&@ o0& 26)@65)5_26 Beaae0
Ko ©3chare Joad [BH0T Swothre o %'Bé‘i)ow © BP0 LBBoDHEB OBSDHRL)ERD.

503 5088 $BHoe edly Dgs 240 V - 230 Vo iy PBYEHS Fard) EDAEmoLD.

2.8 0 Howe (HHro s T FBF0 D SETEHE.

w
DS FHoo @08 el HiH DeigS DIV 2D Sew e P =7

DS @13&6(;3&)% dego P= Wit

%&0;33% ($Sreso = WATT = Joul/sec

285 A8

D880 @8 ErEsd woen 1 e 8o &) (e%@ﬁé) ?86or7° SADE Q8%%0 Q DEHB
588 SrHars0st Gotnod.

Y @@éx
142



1 1
Ro— =R =p—
(D), (2) ® Ko& OOA pA

p o D3Y 28550 woerd.
B0 © HeY JEFH0 DS DO SLHERS STEHH.

AR
DG SR8 Srio p=

68 [Hemen : 6D - Soedd

=0,
a8 Kacst’go &wé& Q%0 936,
1) 6%?@% 2) o“mf’g Segrdo  3) aesgo PEY  4) arseBo &o¥) 253(‘.5532365 STPF0P VGBI

B0 wrgod HBAH BEY FETDH 8 T HE BYISH Bord T A BYISDH EOVI
A (BB HogrHo ©otrd.

argeabeid (BB Sogrio DRSHE ke & )R, BoEd ae5ead B awe BT Eevyzeo.

argabod (BB Sogrdo BRSHE HOS @va@%;aiﬁ FAL DEJE (V,, V,) PBYEHS S0ze08 dieso.
V=V, +V,+V . A

X PBYHS Sa@ e.m.f. DD,

D reb (B Bomeso BsHE o —n K2 ) HOE IBSED DBH. HOS SEW
DB 8bgre Bweed $Erbo. i
L]

R=R, +R,+R,

o8 dBore

Hotren SErods Sogrio BKHWH HOS PBYCHS, DEIE FBYCHS &% K8E PBYEHEH Ko
Q8¢ redy Hevost Trdde Sdross Sogedo D2BHE HOS 80 (R) Bg) HE0 DEDE Q8%gre

1 1
(R1 ,R) @5@5&53“@ (R1,RzJ© F0ze08 S0,

l—7+i R1R2 —R

R R R @& Rig
l:L+L+L:R2R3+R3R1+R1Rz
R R R R RR.R,

R, R,, R, X 38088 dogedo D2BH%

g @@5»
143



— Rl R2R3
RR,+R,R +RR

B Sogros® V=V +V, +V,

JEP0s8 HSogrdost 1= [ +L+1,

A5%50 @»é& 3)@82630(‘0& TEPES0 WOoErLD.

8o = 1 (Boe) a°6’5°éé§‘50 = 1
TPES0 Q&5%50
TPESI (Bdeegen = 1 = Q7 8T mho ®oers.
&

mho $% £650% HHS. D3Y Q86°%50 @) I DB FTEE0 WOErLD. 6D 08 “redF.
1
0=508 Ererey 1 = Q' ol e

Q HHes
OFE,5 DOIPRHAD

1. dBHe ...... s et gy DS SETY BOoHEIow [ ]
1) Soo, Sogoo 2) &2, oo 3) B0Er 4) d=%

2. DERE (DFPBO .o Howe 238 [ ]
1) KD?S&WC{;@D 2) @ééwcse:o 3) aeainsyen 4) E’gé@&

3. J8°Q8 (HSres0 ... [ ]
1) &8 2) 8§ 3) @o2HE 4) &.&- s

4. Erorod OO ... & (Hkrea0 [ ]
1) 880 2) e3do 3) 83oéx 4) 285 d8%S0

5. 28 8o Howe 30 Ererome e3Eo 5 ADare arén ([HHErod Swchost
DS (Barso do& ? ... [ ]
1) 60 A 2) 0.6 A 3)0.1 A 4) 1.0 A

788 o
144



At tioNnle,0ee8,0

Soogrgoen

%

%

ES

% % % K %

%

DS 20GEH &END 89 8o Howe DeigS (B0 T8 KBHES0E é?éé@s &)
00008 L @BNGI0 FohEhod.

OFP & BEHIYE KD 508 ©HIYE FBoS® God ©d Bfo. & wchIPEs FEo THEo
ot DS (DPHORHoS D) GoENoS ‘©an8YE” HBoB.

& oIS F¥o ©IH I ErTe EOA &0nod.

a8 ©0hIE0 DHiap Jod (HRI0S® T [Herso GohS® @ (HUTR) 8 wahIpedo GwE) §o
©0Er0.

a8 S50 o8 denHod @fﬁrgéé‘\) SN BXPADS 20e) é@éamo DOLPL. WODIROES
200, FBerd8 Greseden. 8a37¢58° TV on/off Saine Eree §& aerdd smrirde.

2.8 ©0HIRos0 Eestater! g@éaae)o B0 I MENIMP 0008, FHare Ho& Erdo BB S
ééﬁ(;ééao&. ©0BIO5S @o‘éa@‘goéé 2O0P Qogyg Cﬁ@@@ éfg ﬁ@@om €000,

a8 e—9o‘53©°270e‘§ BED agﬁeﬁeﬁ g BE) 6ES, &8ea cﬁe)avozéa Qe Q0h.

2.8 ©aDI08 g0 SotH Ko 33563 DothHo S8 Ko g Baw0 &F 33§5m° 608 A WBHGBo
9OETED.

2.8 @ohImod @8 womore A 3Teso Ko (KEIo Howe b welpe Joerd echIesd
©aPsro ©otr. HAY Ibes® EPenRw.

a8 RS0 HoTR (B80T DS DY wehIed FEHID HBoHRDH To B LoD,
b seEod® DS (HarPdy, ool Sy 50T @aHm0d BB I BernE e

1) &8RS S°527 7)) V220858 B35

2) 80DCHE HEIA V0SS SHIrEDEBEAD.

SPERS QoS Bedo . s\cﬂ.a_a?oéé@ag

g0 Home DS (HBEPY LN Qoo T

018D & K)P@ (ib)é& 28 (Bo) 861 OIS

D08 FBo DB)H08. l

8902055 HETow JolS :

DS Fare BES® HE&Tow FOF IO HHoALHE ADS 3%9 SnEHEK) BF Joad
©EHIPEF B0 DBH0B. B ©HIOE FEHIO HFT Hoth HE LIS, Hoesesorr
60008, & ®AHIES FBEBE © HoHDH 5 Hze8 ADD )80 Jond Gotnod.
[afelafonstyplelt éo@%& 688, K58t o Senhdr AD 8355390 ITows By 90erSD.
Cﬁoédﬁaﬁtgoéé &85, K58 @moé) JEPLETE0E doear éo@ﬁo HOTBDH &858 éoté?se)oaaésp
©0Er0.

2.8 9oHI08 é@éoe’iﬁ, 0008 Ered DAY Doty 38 30003 Dorsh DoHeds Bensm
AcHa&S Bepod ©0HI0S DOVPED WOETPLD. &8 DOTPED B0 S3FTPE. DI 2O0PED
O3 ©CHINOS FBHIDH HYoBHLB GHDRHBET oD,

F°8E B"@é};

145



% & 200 BT SHET BN éoaa?gée QB ETEow.
% & peBpen ©CHIY0E0 BwE), 68850 Dol SFeagdSo D DD BIS® Sorow.
% a8 @dﬁ)@"&oég@oés Q DodHrHe 3¢ Slevtplelt POVTAION ©HIEH50 eos&® 8 O Do

38 ©cHIod 8 (®3es Ly & Dothyed e‘éeag otHsden otrd.
* ©ohIS 2O0POD @o‘ﬁa@"&oég@é B0 Eree @osPdD. Slevitvylelt 2OTPO D0FHE S(zeen.
©0HI08 FBoS™ a8 HotH 3G o BB 180T T°8 - WCHIOSES (®8ea(B)
©aHI0E ZB (D8 (Br°) 9ohI08 waseIroid @i FEo™ (Hiren Faeego Ko (@rodo
$Howe erdd ©oome BGH WdaesTo.

B= % @) g=BA
8oder SBaoo, ZEHT Borr ddorr 608 @ F@) S5 Bo Sue OB FBo woer.
008 0PI (Hirewo - 3w (Wh)
©0HI0EZ @08 0 808" Ko (Hrn Feego Howe MEh wdardro = (¢) =B Acos 0
odaese rolis (B)= ﬁ
FPUIS Y Sriips FOTowE woiro.
FPOToNE 1Hote DS (HHEPoDSHE TeRDHEP GBS ©cHI)oE g o, Bomeahrod e
ABYBS ©chIod FEed) DO Gotnod. WS DS (58P0 PO e.8tsotiahIoso
5B DTS
AOTonE 0D eBPpe HF &880 o0& K80 0Nod.
ROTonE &% wetpe BF $800 Hod ST Goenod.
©aHI08 FEos® Erhendid) eddo (q)p DIV awo (FI$H dr@o
qe33do v IKos® OAF0S :52@5 (B8 Ko é@ﬁoé‘s BB e3EE800D Slowtvplel:]
é@éo EenisED 2o (F) @ond F=qvB
©AHIE FEOY, @58 E¥HIe Eﬁaéeggse@o ©ONJ

F = qvB sinf, F = qvB sinf
s Bor dErosSore o8 0' =0 = F=qvB sin (0)=0
s Bor wowore ¢o& 0=90 = F=qvB sin 90
F=qvB (- oes 90 = 1)

2ol L[S QoS : DS (HS58°RY) 855 2.8 BB wchImod FBos® GoDIHE
TS° BenrEabadd podEH PR AEHBE JwoFIes® BennsH%).
# & Jwodd (Hdo AEHHRB S alg 30 agst Qg (DdaPseo, WP 30 8 wchImod
(a)%“?eg) é@éo "Dcz)ém BRSH 8 BoBoB8 @00 GG &S50 HIE TPFEOR VOO 633@0&.
& BB s8Ry iy VBDTrowE woro.
28 PEZS PBOToED HolEorr HoALHE A Ko Jechid erorank.
F SIS0l ©DHI0E g@oés B0D0DSND BeniEcH8S 0dE (RM0ET AEHB oS

Bse80) PesS0 /5 S0l Bod IH &S Beod Gokre, awerdEod Slowstvplel: gBos®

BOOODINE BenBEcHadS 2edd SISO PG $08 (8od 3D BES® sotnod.

% %

% % % % % %

£ % K % * & R %

I

g @@é}:
146



* ©ahIS (®8e Ko F@r8 Ko ©oadds® SKos® eddo Ko Swo SVoVIHD, EOAS oo Ig
(@Oﬁ)@*ﬁ*g’oé é@é 200 I EOR $OS200) b @@'sso@s 2e°8 $XE0rH%%.

2

F=qvBsin6=

238 ©oOMe 6ol °HS 6= 90

2 mv mv

) mv
F=qvBsm90 =

mv
* ol ob B TEIGE® HOFNWR0B.

S B8 (Fdeasre0 [ SESTEe0 a8 B0 KoY (¢keeo Boierds Hey srerd) sdBdse0

/ [5oesseo0 eoéro.
;. 500 = &rdo = HBH0H
350 350

_2mnr _ 2n (mv)
Y v gB

21w
SN8L w0 = T 5

1 DS (D52 188 Ko aeePEo B e0charmod 8 (8w Ko FBos® ¢oRdHDH (FEos®
&K woasPenos® 6?6&@(‘3)) & PEOR HATD w0 F=ilB

% Jer8 S o wohIod FBos® 0 Fwos® aitond ol HITD wwo =F=i/Bsin 0
# Case-I:39 Ssrod8orr o8 0=0 = F=i/Bsin0=0
# Case- Il :59 @oore o0& 0 =90 = F=i/Bsin 90 =i/B
i/B
# Case-II1: 2 30° &%008° 608 0 =30 = F=i/Bsin 30 = 17
# D8 IrerS (Electric motor( : DS 8 aSro(@F $8re &0y H050°R) DS S0¢rE @oerdo.
JoeE 0Ho&d (HHRS gereen.
% 1) @3&555 2) J5oes e—9o‘ﬁ>§)°groé§o 3) Qméééog 4) 51’652)5 @R 5) ed8o
% @8&65263 égzﬁééﬁ@svéom 60 B WeHIS FEo& arirEo Home VS FBIeeHEDn

ENolevILIEY Derb&od.

#* 0oty ©bd JBosBo (Feo BotHeod.

Qed8 B 90chmod S@(@des 5050 o)tn BRS S5 echIodo Sl SenrhEod.

% e eS80 Ko 8)(53235 éo?b?éégowé, FSTE0 TPES) eond (@3&55@%@ ééﬁiﬁ)éag) >d% F=i/B
& BEPEFS w0 (HARrA0HE $o ©d 90° o (gieo Bob 23880 $ S8 ) (geoeso
(V4™ rotation)R0tn&o8.

# o $0Hos® 2% Borhe Ho @3&‘55 HoTe DG (DHTPrEE S8 S @8&1‘55 8 &S
&) PR o8 BIS® H6° Vi (@Hemo Bod Hwothd Dow, wido Sy W Y (Feo B0t
23800, & Qore a8 éoc@ﬁg (&5eao Do,

ES

g @@éw
147



# 8 dPore JBosBo D Borhe TXT° XS (BIPFHID Sl g @8&:‘58& vl kg
QBosBo BLIHEr diro(@8 480 wobnod.
©ond a8 Irers SBY rpm oS e,
rpm @$r revolutions per minute X 2.8 AMWTPAE Py 867 (gdere Koy
F S IrerE HED DotHD [ (HerdEo Fn wozee.
1) 858 S0t Ko ke vogy (n)
2) @3&&55 S50 (A)
3) Brehey rhowe (H58r0l DS (i)
4) does @cﬁ;@fgoééo?ﬁ DEYEDS :si@é (228es (B)
5) n.A,i, B @00k 20He Toe a8 3erE Go8) HED oY)
D8 (en : DESRECHINS (Bes — BT Ahren
% 28 S8 S’ @oﬁaﬁ‘goé arsros? S uen) BeoiESHD © BN 523@3%03 B8 eaesrod®
SRS SERRS APOBEE, © TrEod® DiiEEE™ (HOBHHWoB. & B (D68 Diigs
#8 wotro. HAY & drdIro.
% O™ 2.8 T80 HOT (HHEPOT B0 @PariE) SrENKE HETVIDE TS wlibaore
$5BTEHES° QS (HOS5HE0B.
% S (208 8)653?35 () 3B g)ﬁzﬁa% 088 ©0HT)08 oo () Zéﬁéao)ééoaéa 58 Srdrsost
GOENOoR.

L

4y
di

#*  df,o30 ©aDHF0E wdarirods® $rdy) dt 96 & SN 5&S sewo. () O30 HrEN
$5HTEBED BOADHEGHD. HAS Bof IHIo TT° Erwe BYHLD),

% 28 3% éﬁiﬁ)ég N Socdren 8OA nod m&@&o&@’sﬁb ARV IoN SSvcev)) 60533?5_09 (8 DFDK)
OHH Bndo Hey S EOAS (08 QRS (¢)

_Ndg,
dt

€00 —

€0

d
g=-KN % (K 00308 $0°0%0)

Nd¢,
dt

dp, 8 Ddreren I8y dt 8 (Hreren JEE

a4,
dt

(208 DeSgamiel 0o (Hireren Sseg@
Bof Do [BSP0 1 BKihy D ©ahIPE GEBEV0 HWVRNHE BKDHYS® &8 o
NEYBB059 @cHI0E Ko éé@ééoéeacﬁae‘éao&. ééé&%@g S0othd DS (2288 5H.

# ©0bI08 K8 &0 éﬁiﬁa%:éa éi)a%a@:é&@éa éﬁiﬁa% Sogo cHodd $8ee (5@263) QY g
o) DG H WwoHINoE oo Q8P H0H0LE0B.

K=1eond £=-

£ oHDH & (Hreseen I8 [/ DE0E. I Ssege:és Benzro. ©dme I8k = Ssgj. HI

FeE ?@oﬁ»
148



£

éﬁﬁ)éégé’s (208 DS DO K)gowoiﬁ&) > P8R (D88 JoHK0 sore
(308 DERS (DPTHED K)gowoéé Bo& Ao
% PSE AoHo (H5P80 HoaHod® (HBE QRS HOKrwo

s

% (208 wXdo (eséﬁxﬁat‘g@s) Q = w3gos® S8y =
28850

% (208 DS Fomrwodl ©ahI)ed wharirod® Lrdy) Sorrd. wdarirod® Krdyd 3 dgreore

BeorEanSsw).

1) @& (loop) S0 Se8Y)ed TOP

2) éﬁiﬁ)fg, @dﬁ)@‘goé?ﬁ»@ ﬁfgag Fodo H0

3) ©0HT0B0% &) T TP FoBE S TRTe

ord Fego SrE TP @ BEE (D8m Ko 2808 @dbamod oS | KD o aoeseRy

v 3508 56908HH (S350 Iv)

Sochos® (208 Agemyes @eo &= -Blv

©0HT0E ©aesro () [Breso ~ Ib (C.GS & S.1. étgééé's)

@o‘ﬁa@%oé TP Jro($8L (HXmeso (S.1. écgé’%@‘s) Teslna

©0HI0E ©arse FolEiEdH C.G.S [Bireo - o

e

A
R

% % % %

wfaese Pold B = L b (H8e®)
Y ae

C.GS Katgé’aés B= % 3206 = mH

TR gy “owogo !
18 = 36 = S
Hx 100 0.8 x 100 0.8 10* 0.5
18y = 10-4 ™%

1
— =
Vo) of o

Newton
# s ot (B)S (Hdmeseen (S.1. :aag@esﬁ) Mm R SROEv0.

8 = Sog0d / Amp - metre
% ©oHIPE W FoEd Ko FFos® LB [HSrn FS0S0 o ©chINE &8 Q) 6
098 & Bo&od G 200 3B Sr@o.

F=mB . g,  &mes
s B=—

@03HHE - Mes
* ©obF)08 )B0B08H (Bsrezen (S.1. K)Cgéé‘s) ©90HE - b
# 285 @Xar Sof Q) dones® 8rfieH Shdh $rgos® Bmtod. vyl w8 Ehad
3fo B880wd.

FeE ?@oﬁ»
149



# 8od Fro (WS Srgo = E%dad Fslwodo
S°00

# Shod PIEPoIoNH Erren = TEHY)
2.8 VoPY (@0 ToBSHE ©b Fobd S 5;26@;50%’0 = 21 BEADY)

wzz—n=2nl=2nf
T T

%

oo fodm PsDH0 odmr 1 EDH DD (Fhereo Jogy

DS S8 ASrol@8 ¥ Lr0)B - Arerd wond

ASeo[@8 48R eSS ¥ KrBB - exSOed)

&68&35(3 Bo& zeen 1) 2.2 2350086 2) &.2. 25866

A.C. 25865, D.C. 25065% 8m° : o0 %08 Ieodt XS (Baeseed SoEb.

A.C. e Alternating current 25088 K5&

eQ0Ho&H 8366355 Baess B85 (Phase) SBnE0enod. &8 DS 8366355 DPoLeod Bod /D
BorHed éﬁiﬁa% DRBOBH FEREorT Een)zod.

235888 P58 DTS (®8es QoH0P TREHE O ?:%_ano&. EQ0H0% (DTS geree.
1) HBHTT ©0IT0d (?336 Slovtplelt é@éo EE)

2) égﬁ@é@‘@’é@ éﬁiﬁ)% (@8&1‘55) 30 882 Jdrodbore HOEEDN0b.

3) Both S Borben ad SKHeS PEEM™ wdal totron.

4) 3o 96&5 @Ren (3D JD dorbedH se8ad Gothy I ©d 8)(5)55263 (38> e0m)

23008 Kot 6T)56 wehed FEeR8 womorr e i eB)it JKHE, echIed g
(B8 BFH 0PI (08 KRS = 0 (FOBHEI™ warse Hrdy) sokld sPad)

@8&1‘55 90° 80 &BASHH Ad K8%0 oI € e ﬁBXgﬁ)

@3&55 180° &0 8BASHEH AP=05H5 £=0

)56 270" 80 BBASHD AP KBFO . & Erme K0S B3S° Koo

@3&55 360° &0 SBASHH AGP=0 - £=0

)
270°
e

1
I 90° 180°

LS %ok K % % % %

%

% o% % % %

90° e @?.5)&{55 Y ([580ea0 BoBBen here € is maximum

180° e &8)i56 Y2 [5oeeo BobSexy here & is zero

270° e @3&55 Y4 [@0ea0 BodDey here € is maximum in opposite direction

3600" @3 «0)iS6 F°8 [@emo Bobsey heree =0

BeP @3&55 @), (58 o8 (@028 DS (Barese BF Sty Hg &3 A.C DERE 0P,
98 A.C. DigS% Fixed IPsd50 es0ewod.

&% dore A.C. 5888 508 &&8 @(%Jeg DS FoE) 3‘26359)265?533 $08050 e.m.f o0 SBA
@?3&55 Nlelnld) éﬁiﬁ)@ Sogyg (n) @3&&55 30850 &K Seegsn (A) @9?3&:55 8871 S50 e 2.8
EHEK T e Dogy (f) 8o @3&55& BDIHT° AT)ED 3% Slevtvplelit é{gﬁ (&8s (B)
D WREHERD.

% % % % %

LS

FeE r?@zﬁ»
150



# D.C. 25865 : 30 &rme A.C. 235065 5089 grmred SO 1%26&{30)65 (3 QB0 D 3?026@&3%)
20028@0938 50¢o half slip Borbes (92.63353605) QT)ED D2L0%E @ éﬁiﬁ)% So¥) VBB
BT SHTE 2,88 T Jol YERE B BIS® Sty Sorith. Doy &8 &I DuRE
[Baeero esthidn. BAJ Direct Current 88 D850 DS @B

% 6 D.C. Bd3™ 090808.

% D.C. 233 3080 dfgemyol @0 Sree 235065 05O (HgPdE 0T RD EPEHR.

# D.C. 2253656% Joxo0bodS 8)85:235 :
AN TN T
i
I

' 14 12 34 o

(Feo |ghbwo (gm0 @5oe0

% V4, Vs (@m0 (65)SE) BobH (08 S 2.8 IS KoHo Yh Hory [@mo BokSHi
(@08 DS = 0
% A.C. 225066% %0200 DS (Do, Qéagasbeé 2erod rms o8t BenHzro. (rms @b

root mean square)

|
Irms = f’zAmp I0 is the maximum in the circuit.

# 3D P00 JEEEH Ho0HONK LrEDH

BT DBADIN0S (Bes ~ wHGToeD :

* DS 688, DS BFoeed® & JohHErer oSS eHIPNHETow. o8 JSore oS,
D5E Frer)s® oKy (@86, ¥goho (@86, EPQFHE Soth Eree DB INS (8es
Qossmen GHBTATO.

% aé &30t 9IO @dﬁ)@*’&oé é@é L EORG (ﬁgﬁéom) 28 @90‘3}3*’2706 TG SE
$5BT8oHer FEH TeeEos® FBore 220DaHE08.

*(EPQFGY) oS & Do S ShotHersH TR, 39 BoH Seen 1) © & ohHend

LS.

2) HA BNoHLE .

503 Bons EDB0S® RIS (M8 Fo@0GoNd BT :

# 1) Soroasres, 888 Soagdd HETed® doven T B8oh TrTee
2) 8% 85°80R, SRS 05°Q0f HHBAD HBETHED
3) 6% $&1 PHBVIH @rhe
4) 508
Irerdy KoK (D88 DRSS HBT80D IHED Howd. HIY @okd. ®okHd. s Edokw
o360 @8&‘55 BOR S50 (e IA8) eetirdarsod® eotod.

B B0 Boggorr @SBID.

#

L

F°8E TR
. 151



OFEE DOIPBHHD
1. ©0hIR0E @daet8 (Hiremo ... (écgééé's)

1) 38 2) 3285 [ 0.D?  3) 8P 4) ™R
2. I8 9IH ..... o“acgééé‘s ©CHI0S WHTEIS (Hireao

1) C.GS 2) ST 3) 1 805 2 4) 2ID =H
3. ©oHIOE WP FPoEEH drEo = ...

1)B=‘f 2)B=% 3) I=Blvsin 0 4) Hb=sd
4. ©CHIOE ©TPE Po(EE (B0 ...

1) 38 2) 328 [ 0.D?  3) BY 4) ™R
5. ©0hI08 ©PTo oS (B0 ...

1) Jb 2) 36 / 20.&*  3) B 4) 2 o 3
F8E 550

152



elpen, PO, VD
Exercise — |

1. edren o) D8 der Gotron
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1) %D 2) 50D 3) 80w 4) 8o
6. porod® HHdS Krds @wE) Sord
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2) & D & )

3) N S & &

4) & ) &) D
8. & ([0 JBOEYD A0 DOBorHE LeBN0. @)t T PH Dend od?
D9 2) 6 3) 7 4) 5

9. a8 (K0 HADS &% fg¥la> 83"&%3%5 SL5RBBYD SRy A0 LoD
B FodB IrByobd. @ [@HBo BV 89 G0tnod.
1) KCI 2) NaCl 3) HCI 4) LiCl

10. A&S® 86N goreH ger HenFd
1) ééog@m‘ésao 2) ged(aesdeso 3) emedeo 4) @o&gﬁ

153



11. & (808 TS o8 w8 Hored Pt oD BIo
1) SB&cdo Cﬁ(ﬁ?%éojég, é@q)g RSN
2) 3(&° 565 wiyo $dcsn Adaho REEE
3) 868, w8jmS o)
4) J@s°50, BEHo TGS s2EN3E
12) PH =1 Ko 3rE°8°6E wiyo, FEYBE PH SrAEE DBYBD Sord

1) 8o 2) & 3) H:0) 4) 5D
13) & (Bob TAS° O Hoothd wdgds SHERATD.
1) Srofo@r8S  2) drdRE 3) aSro& Y8 4)airotrRE

14) & Bobas® éa%ééea BB p)Bore $PH0B6
1) sipo + gpdo —>  &- 58 (Bdee0
2) 80 + Flo—>  ©dwo + A
3) 850 + gde—>  R&cdHo §BE + IrE S
4) ®3p0 + o —»  BR(@eNw0
15. a°0h e EIPahD &&é@
1) NaHCO3 2) NapxCOz 3) NaxCOs. 7H20 4) NaxCOs. 10H20
16) 2380h ey B8 &
1) SSeotrdE 2) 5056033@30) B’ngo 3) oﬁﬁoéﬁ?o?gg 4) ‘;’.325(‘5&
17) NaCl ao(mrsdeods s é)fééeao 22025 EE Sl JenS8 050D

1) Cl 2) NaOH 3) Ha 4) CO;
18) ?50565263360 Qo) PH

1) 7 2) 9 3) 5.6 4) 7.4
19) 2.8 om0 @wE) PH = 4 ool ool Sgrdo

1) gpdo 2) sxno 3) ééeaéo 4) 0536265&?260
20) ABS* &5y &B)E Jegrso

1) espo 2) gpdo 3) éééaéo 4) 26 B 5o
21) (8o &S D 6y ¥ o

1) SO, 2) COy 3) CaO 4) N2Os
22) BEE HBEHS® &6

1) NaxCOs3 2) NaHCOs3; 3) CaOCl; 4) CaSO4

23) NaHCOj; % S&30rr 886
1) NaOH 2) NaxCOs 3) CO 4) 25

154



24) ey S5m0 @ Heego

1) NaxCOg3 2) NaOH 3) &) 4) DBoesSsrgo
25) 58 & PH Qe

1) 7 2) 5.5 3) 7.4 4) 10
26) QDAE wKpkw ) @"363&@

1) HCI 2) HyCO3 3) HCOOH 4) CHsCOOH

27) 3 DI B8 GEEe
1) Doaedd $edBen  2) Sirer SedBen  3) Ho3ud IrdSen  4) PEYES Kred
28) 2o @0 KB OIS FBEHH0 $Hod VT obe woEreso PH

1) 7 2) 3 3)8 4) 10

29) @S (560880 BIDHE éfb&@’éo

1) NaCl 2) NaOH 3) NayCO3 4) NaHCOs3
30) 2288 808 sod 850

1) H2SOq4 2) CH3;COOH 3) HCl 4) Nap CO3

SXPe), S0P, NP
Exercise — I

1. (808 A w0trdE =8
1) Al(OH)s 2) Mg(OH), 3) KOH 4) NaHCO3
2) Fendord Eﬁ:aégp:éa Yeso HCl & zﬁéeg 23025 SSRTEND)
1) Ho 2) Oz 3) Cl, 4) COq
3) DBAS DB ©BB0HLEH Bged G Hago
1) CaOCl, 2) NaHCOs3 3) CaS04. Y2 H2O 4) CO2
4) HFEroy Kol Jggreo 6655263093‘8 RS PE SrodS BPaHD B’Jwgo
1) @%326?3 odwo  2) Séoaézﬁwgo 3) B8oh e 4) 7300 oo
5) Bod &S Db $TX aegagsed
1) B80f e EJpaHS evo: FB&SHo @@5&5 96%23365
2) 88 T FEREE B e HodD Do rgo B
3) &*oeEy Bcir8&® ol Vbwedd arieedy
4) BS [@rdee0 (NaCles. ()0 @&é&ﬁoﬁe@o 22025 oS*& écg 3.?@8&5 SISV AGIS))
6) 2.8 (0 HADS &8 ﬁ)é(g B’Jéwwés 3585 22039 8)&3365@&33?3 TP D

Bed FodB Bgre LrE)D. & ([@He0 BAY DA Goenod.

1) HCl 2) NaCl 3) LiCl 4) KCl

155



7) 2580h e @"6)‘%@

1) NaxCOs 2) NaxCOs. 10H0 3) NaHCO3; 4) NaOH
8) &G OB SofoherdH TG EFRCHK0

1) NaxCOs3 2) NaCl 3) NaHCOs3 4) CaOCl,
9) 2oHI @0 O OIS Flo Dok NEE oo PH Dend
1) 0 2) <7 3) >7 4) 7

10) &78)5 eiyo @) IUPAC B

1) 853 onE EXle) 2) MESFams Ehie!

3) (©F5S o0k espo 4) 88 eipo

11) ®05Q8eroihen @ JrdEd 6ORrAod 85y, SPTeekd HOIR.
1) S0 2) 00 wBE  3) S wBod  4) Iy ARNT)
12) Bob aB8° DB DSy [BHRO0BEK

1) Hodwed (Tedeeo 2) 73056626 200

3) Jesw HCI (@90 4) e85 (TPsies0

13) 8od 8S° d6 @@&@ 5%

1) NaOH 2) KOH 3) Mg(OH). 4) Be(OH),
14) (808 B DB @S Jigs DI
1) NaOH 2) CH3COOH 3) HCI 4) NaCl eso(mrsieso

15) Na:S04 936 38H0 DB

1) 20 o BN 205P% gdo 2) 205rS 50 0L OIS grdo

3) 20drd o HBaM 2o 8o 4) PP o HOH OIS F¥o

16) PH= 13 @onds® REy8E $rds [@edeo0 85203 Sorh

1) 5  2) wBoE  3) Sewxd  4) oD

17) &) w5 Diose Ews) P

1) 7.4 2) 10.6 3) 6.6 4) 7

18) A,B,C,D 03 4 8570 ([edereid ArEy8s (rdss® Hogosr HEm PH e
4,1,11 $B800 7 e $3H BoH85D. wand &St O [@ehmo peFd
M) 652;%0 &OLIND.

1) D 2) C 3)B 4) A
19) ar BIeS RoE), EPOHS <§°63&e7°
1) CaSOq4 2) CuS04.5H,0 3) NapCO310H20 4) CaS04. ¥2 HoO

20) % NaCl & & H,S04 & 385 228 JenHtd T
1) Cl, 2) H, 3) HCI 4) NH;

156



Previous Exam Bits

Polycet — 2022
1) Bod AS° O &°%dw NaOHE® S8 Fob TrE°as ardndn e B

1) Zn 2) Ca 3) Mg 4) Na
2) 8o a%bd 56565 N a’amgo X P EHREA0SSLw.
o0 + X — odwo + COy + A

1) 65‘35?@@5&5 ?82)3(‘5 2) @@98@)35@
3) 1 80 2 4) S5 TrEg )G
3) SozroD 00 Dorrd £r8 3 EOA Goenod.

1) 59 0%0 TEB)E 2) 52900 RS

3) 90 &B)E 4) P Ao SPENIE

4) pedrs @00 0B O P80 Hod ('Déo)cﬁa 0360 230(TPIE0 cBwégT PH
DN D0 GO,

1) 3 2) 9 3) 7 4) 5

5) a8 [de0 @) uly Bw°) 58 Sgrard) Ko (Bobd 8E® BIV
SITBPAFED.

1) dHd8 2) 03S wBod  3) JPEYE KD 4) 25

Polycet — 2021
1) eipen DD Dyt & Corhd ErEy

1) % $08& deo 2) B o0& HH
3) o0 o8& %D 4) Hoo H08 50D

02. (80d oS & oferR) &8 FE0 rDES® GHAPAFLD?

1) ot K8 2) 0K 3) & 4) 2D .
03. NazCO3 e5p&ns® S8 2303 (Bod TS O oD IewHrd.
1) H 2) Na 3) O2 4) CO2
04. OrotrdE 0Hdd
1) ode0 2) eho 3) grdo 4) 590 (BSoe) gedo

05. &9 ¥8)& @ Heasdnd EOANoLN0H?
1) esspo 2) gedo 3) éééaéo 4) 590 (Soe) gedo

157



Polycet — 2020

B80R e Bae) Sotr e @oE) ERADD T&K

1) B&cHho 98@)3&5 2) =29 o%o ?_P@S&S 9833&5

3) s*9cho 9882)35 4) B&Ho 3_5"@5&5 9883)35

T8 [Seros® DS wbof SrdE o) Sorb.

1) s80& 2) $09 3) QKD 4) Heo

& (8ob TS & 0t wdBor SHREATL?

1) SroBadrdE  2) JRE 3) OSrotrRE 4) crodRg8
a8 BT Gl 2308 608 A wmde Kogy

1) 3o 2) J5dm 3) st 4) 2,88

Polycet — 2019

HC1 6° 2086 w80 (©658)0H Sorb

1) Kered) (208) 2) BoiH Go&n 3) HH 4) oo
L0 o5 POR TnE) ERAHS o

1) 290 $B)5 IS ZrES 2) S°Y3H0 S
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5. NaCl + HoO + CO2 + NHz — X + NaHCOs3, Xis
3) NH4Cl

a

(1) ()

(2 ()

3) (v

(4) (v
1) NHsHCO3
(1)3 (2)2 (3) 1
(11)2 (12)4  (13) 4
21)3 (22)2 (23) 1
(1)3 (2)4 (3)3
(11)4 (12)3  (13)4

Polycet — 2022

(1)1

(2) 4

Polycet - 2021

(1) 3

(2) 2

Polycet — 2020

(1) 4
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(1) 1
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b c
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(3) 1

(5) 4

(6) 1

(7) 3

(28) 3 (29) 1 (30) 3

(8) 1

(9) 4 (10) 2
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(4) 2
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Be 4 4 4 | 1s%2¢? [He] 2s? 2,2
B 5 5 5 |1s22s%2p' [He] 2s% 2p’ 2,3
C 6 6 6 | 1s22s% 2p? [He] 25? 2p? 2,4
N 7 7 7 | 1s®2s%2p° [He] 252 2p° 2,5
0 8 8 8 |1s®2s?2p* [He] 252 2p* 2,6
F 9 9 9 |1s?2s%2p° [He] 2s% 2p° 2,7
Ne 10 10 10 | 1s?2s% 2p° [Ne] 2,8
Na 11 11 11 | 1s® 2s? 2p° 3s' [Ne] 3s' 2,81
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Mg 12 12 12 | 1s?2s? 2p° 3s° [Ne] 3s° 2,8,2

Al 13 13 13 | 1s?2s? 2p° 352 3p' [Ne] 3s% 3p' 28,3
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Cu 29 29 29 | 1s?2s?2p®3s?3p°4s’ 3d" [Ar] 4s' 3d"®  2,8,18,1
Zn 30 30 30 | 1s®2s%2p°3s°3p°4s® 3d™° [Ar]4s?3d"°  2.8,18,2
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) n=2 1 m=-1 ms =-% 4)n=2 10 m=0 ms =-%

3385 n & A 1 Denden :
1) 0 o0& (n-1) S8 2) 0 208 n B
3) 15008 n SBBH 4) 1 2008 (n-1) HBB
HESPeS $%088 ©8)erE) S8 VTS O 809 (o
1. @95-g° Ao 2. TPOBLS dahivo
3. $0o& Jadhoo 4. 3208 drpodo
FOHDES - 2018
IO 5% Sl 52060 dogy 1 ™™ Ko 60“33503368 &o&ie @962)&?5@ Loy
1) 1+1 2) 41+2 3) (21+1) 4) 1(1+1)

Srowed Heo [Hsedo & Bod DBLren B8)erd) 388 B w8%res (S0
(87 (B%00)

1) 3p<3d<4s<4p 2) 3p<4s<3d<4p

3) 3d>3p<4s<4p 4) 3p<3d<4p<5s
Cﬁaﬁfzﬁéyoé’é e‘ééo?@géo D dende g5 0.

1) 100nm - 300nm 2) 400nm - 700nm

3) 700nm - 900nm 4) 800nm - 1000nm
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Exercise - 1

1)1 2)2 3)4 41 52 61 7)4 8)4

11)1 12)2 13)3 14)4 15)1 16)3 17)3 18)2

21)2 22)4 23)1 24)425)4 26)2 27)2 28)3

Exercise - 2

1)1 2)2 3)3 44 54 63 7)1 82
11)2 12)4 13)1 14)3 15)3 16)317)2 18)2

Polycet- 2022

)2  2)4 3)3 43 52

Polycet- 2021

)2 2)1 3)3 44 51

Polycet- 2020

)2  2)1 3)2

Polycet- 2019

1) 3 2)3 3)2 491 53

Polycet- 2018

)3  2)2 3)2
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9) 3

19) 3

29) 3

9) 1

19) 1

10) 4

20) 1

30) 3

10) 4

20) 3
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o 2bb BEST grTre errdore 88 B8RP oo Qe Soreseeb
Kdoseore @dod. B mablE (Bsren wotrt.

o ab5 (HEIFHONN (BBoS® HrgHreso HESmeREo FBd HBAD Ko
Sarosre HESPEErTry $STRH08 Hirbo. B weabds (B8 Rposio ©otrs.
& 1. Li, Na, K; 8&cho H8Loe gr8o = 7+39/2 = 46/2 = 23

2. Ca, Sr, Ba
3.CL Br, I
4.5, Se, Te
5. Mn, Cr, Fe

® Srgerof) oE dupodo
Srosreh 8 S85rm oo et Ehos® ohdRdn 8 o et
26?32663065 K@éovéaééaé)@w. 58 FwEd Koo WSS Sreos® 650130263 )
ot0od. BT Kmserol @Ry Ao wotrs.
Kmserof) HEY 56 rosee SrEiD SODEHIG.
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6o 25 H06HE Li Be B C N O F (a8 Srosen) Soe (9§ saroseen)
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® okdp 8585 a’:@éz 30 HBSre0erB0 sErdorre Srdrodotadod. “Smresee
TS DS 6502@3 8 HBSren grTre  8H58S @330550@” BT 200895
GBS AAHH0 BOLPS.

® DoxdH egs HBED $odh wHTS HBY wotrd. B 8 (e Kb 7
2OHEBD. Jend KEHD IPHer wotrs. ot $EkeH HBAHE) wotrs.

® 00KdH B (B8 Sroseo )
dz S8 - Ao (Se)
5 BErHACHO - AADo (Ga)
I HOTE - FGRAbo (Ge)

® Be, In, ﬁ‘seg S08 Luresee HESPe groren ¥doSadE.
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$BHEre0grso = Heggrdo X ol
Be $85e0er80 138.5 50880 & ééa@?geréo 4.5 L0805 30(‘5(3 3 3@5&(\)263 2
D800 TP DBe0 8,5°U°3& O K)gowowéa.
Be $8Srengrdo = degrdo X Jo)
Be d8reangrdo = 4.5%X2 = 9
DosdS ER]ety ég’é S ren: 2068 HESregrSo SoE SEa DB grdo Ko
foroso enptoon. 8T eorE soten Tor alil sobe wotrd.
&> 1) Te, I 2) Ar, K 3) Th, Pa 4) Co, Ni
2. PBHS B Lroseodn 0D Gowio
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IR 858D S Boe) Peorrd 58S RIS
* 08 N8I é@é BB Jogge Wgrsorre 506&07533&26&.
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8583 Ao otrdd.
BENE 65T AAHB0:Hrese FE HOM BIaDS Foen 8 HBkren Hoggen
@) dolgS dTegre $HBS (Baoasren.
LICTAVIEN o é@éé’s Qensd) ﬁ%i}?éa (Ss)en OoErdd. & 18 ((Srsden o).
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(50 Srosee Siénoaren (Bwe) @g&béw 085D,
(e IUPAC $886° 1 %08 18 ©0808° Srddd.
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1 (Ia) 588 en Li |Fr |ns! 1 1
2 (L) | g8sip888%sten Be |Ra [ns? 2 2
13 (Ily) | &oeS Hemowo B |TI ns2np! 3 3
14 (IVy) |8 Senowo C |Fl ns2np?2 4 4
15 (Va) | 3E°S aegod N |Bi |ns2np3 5 3
16 (V) | o8)@S Jed S O |Lv |ns2np?
&) 6 2
17 (VILy) | &%) F |At |ns2nps
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3 %0& 12 #5° (10 (#$°:)) (Ils,- ViIs, VI (3) Is, Ils oo d-ap§8° esoomth.
HOOHE) : - ot HBeDH HOHE) woertd. BAS 7 HOKHE) L.

%806)5‘3 00@5@) QoG &% gyoren | Soresee Sogy 58058 %
15 58098 1s 9 08 8 Hoahh
25 $H00%8 2s,2p 8 8 HOHE

(&g soroseen)
3% 58658 3s,3p 8 B HBAHE
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4% $8HE 4s, 3d, 4p 18 Dot HOHE
5% 56058 5s, 4d, 5p 18 o> HODE
65 H0HE 6s, 4f, 5d, 6p 32 08508 FOrH HOKHE
7% 58068 7s, 5, 5d, 7p -- 05038 BAHE

a8 Swroso @) er, HOWE, (TrHod =8 QO[S TR0 28 HOF.

sy ; PEH0T oS U0 &HBEBo
50058 : Soredo Gwg) e @;o:a Sejlele
(8525 : g 88)806° Ko Jod) QO(FReD
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2. S°8)°loﬁao DBSre0) a8 @%Q&Séézﬁmazﬁ)é‘s dodrrio Fod Cal o
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Va 008 VI, 588 8-S K)ogpegé) Fe) ( 8- @) Hdwdo.

— a8 (PSR o) fresro Jod) a8 DForr sod. 8w S WXP?SQ(SOJJ
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Na, Mg2* ©¢® Mg2 @csrs e SEsd soea0 Mg oSS Bos o880 DN,
S2 Clled® s2 ew KO, °8ea0 S2 & 16 S8erSen, 18 00@5@3 0. 88
So(¢s8 w8l S2 VAP’ BEYIT oK.
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C4 F1 o8 C+oosrs EO. 0 C+ OIS 6 [@EerQen, 10 dolFoen So).
Soli% w8des Jod) QOTROD CH VAP’ BEYIT 0.

P Qe{ggﬁ)g BB (0RF Qv[’_&;ﬁ)g BB): B éosp?geﬁs Qo[FSen Ko wairSe 3dd
PSP @OLSC‘;SE B wotr. Natl, Mg, Als+ Si+ C4 N3 02, F>(@§O&oé363‘310 @e;Ls;Se» o)
3. 009 E8e¥d (LE) (o) 0chdEsem 880 (LP)

555 @ds=d8tn 4§ (1LE): oo J8E° &) wotd S S8rm) Hod o8
DO FoN0DHHDH STY)S B 48D ©ahdEsn 9§ wotrd.

Mo(w)‘l'I.El — M+(E§°)+ Ie (M = éé«)é K)éEﬁP&@DE@)
LE, =3n%58 e0hdssen 48

M*l g + LE; = M* o+ LE; (M* =085P(8 $°388 @00ses
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rSPeSest OES Y e‘é‘é Bo Cl >F>Br >1

SN a©@£5 NS Ko Swredo &8 (Cl), P QG@;S ADAB Denden
LN, B QG@SS ADAB Denden hBoT Godd.

e DETHEE (OETRAEIS) :
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Na, Mg oy 8i38en, Al Si en @é@sgﬁw (Dotoeran)) P,S,Cl en e&85en

14 (IVy) (s Soroseen ()R Henono) C, Si, Ge, Sn, Pb odt
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DB 2.8 (S 28 ©&%Sten, (808 &%5ten sotrom. @b &8 (DSt D Sod
o8 HBSH SYA &’ Sgaedo ([Eoore SA e eerdo (Bdore DB, s8e0
AN @é)émé%é 8.
©B8S Fomen a8 HOADE, (e’ dov $rdy) Dok,

5 o @SS 80 | ([’ D $0d BodH | a8 HOHES® AE
(HOSPERS) Ko 988 B0 HEY

1. 3@@\) o 1 o0& 4% 00 Soxs
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Exercise - 1

1. (8od A° D6 wabE B85 .
1. Li, Na, K 2) S, Se, Te 3) O, S, Se 4) Mn, Cr, Fe
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1) 7 HB6HE), 7 (Fesden 2) 7 HBAHE), 18 (irsden

3) 7 $HB0H), 8 (iirsden 4) 18 $BAHE), 7 ((rsden
6) Js° SoeS s
1) b‘zo&ciﬁao 2) Soes 3) mdHo 4) @8&&)0&)0

7) 8od A D6 088 So@ogo

1) $85regrdo = HegErdo X Io)
2) HBLrenRer = HegErso X 3@5&(\)
3) Heggrdo = HEEregrEo X Hod)

4)

8) I5° wenghcHo wHHES® wenghdcho Fod)
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9) Dz JOTS VBB §BE Frtyer
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12) éééoé $EEreanH St @‘38133 0 SPO0HS e
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13) 101 H8500e0 K)ng§ Ko Srodo HS
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14) 8860 Kogy ©F GrOID HSPHoDKE
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20) H8Srevdongy 17 Ko Sredo  HOAHE HOKW D ok,

1) 2,12 2) 6,16 3) 3, 17 4) 6, 17
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25) 0830 BIE® @B ES

1) s-er§ 2) p-er8 3) d-gr§ 4) @Zﬁﬁ)&
26) B&a%o S8 3@“5(3

1)1 2) 2 3) 3 4) 4
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4) (Bod &S® BI8 0 HESmen e Bk,

1) Na* 2) 02 3) Al3+ 4) S2
5) (8o &S 8B [F8AFKreLo
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1) éé@)&émcﬁwaj)w 2) gyé:ﬁbe)gé SEBen 3) '§5°@8&5Q 4) 0836936{53@
20) [8od A DD w8 (®¥o.
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1) beraso 2) %88 3) 208 4) B&ao
2. (8od QS Sarosee HELT grE0 HOKHIS’E HER Lirese Eéééésao 6?
1) weab H5 (&% RdTpodo 2) &rgerof) e dabivo
3) 20080 e58D HES 4) 6508 BIBS HYY
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4. VII, [(7re) Sorosee Bns) Hen0e0 20E?
1) 888 &%hen 2) 5p8 SFen
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1. Bod Q&b BAE® H8He Qdogge o885 (Eod® Sureseekd ehd )0 20N,
1) oeab H5 (&% RdTrodo 2) Smgerol ohE Ao
3) 8508 BIB HEY 4) oEdH e58S DS

2. 8o AS* O 506 Jop, WFHIE WHBD HEE g (P08 (Bokd BehEd
8 DBHHE.

1) oS s%080 éoaa?g 2) s8do% @556?33& 500 ‘éoapé
3) @oﬁaiﬁgoéé s200 Koz 4) ?00)5 500 Kogy
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5. &508 8588 é@é@% Va 1509 &80 Soredo SwE) 3@?3)“) Q0&?
1) 35 2) 3 3) 7 4) 1

O 2020
1. ©®cHo LB FrerRohow g HELren grTeen ST 7 HOcH 39 oSSt
88 drrodo (Herdo AFEEho ¥ HBLred grEo od?
1) 22 2) 11 3) 46 4) 23
2. & (Eob SrosroB PRSI awes ABREEHES Jenden (B0

1) C<N<F<O 2) C<O<N<F
3) C<N<O<F 4) N<C<O<F
3. I8 BB HEE 438 HOHES &) Suresre Sogyg
1) 2 2) 8 3) 18 4) 32

4. IVa (55 Bo) 963)5 eénoeos sod edtdro
1) C 2) Sn 3) Pb 4) Ge
5. arStes dwrosod® & Sresdndd 0&HE @@@35 DAY Botn?

1) Cl 2) F 3) Br 41
PODE - 2019
1. BSS FOOR (H5°C0 OIS awe DETEEES Densen B egrdomr 88)oisetn.

1) scH 880 38 2) QOES IS

3) (1) & (2) 4) 208 dEen
2. O SYErSIH SUSNSUVIIOW PEEI0 BN

1) s 2) P 3)d 4 £
3. oKdP wBS HGE T errtorr S6ird BahadIe?

1) HEL5e0 @525?3@"8 2) HBIrean HBNPE0

3) HBESea éosp?g 4) HB5me0 S HBXPes0
4. Srgerol eS8 éegéé‘s 606G HPOSPe Hogg
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FODE - 2018
1. &5 (Bod 7% DD TrddE (BEH0K “rdohi.

1) Li, Na, K 2) Na, K, Al
3) C,O, F 4) He, H, C

2. X oI I () Soredsn Ho0%m Y o3 VI (K8 Sredsve 36
thSo)é éﬁa&%‘éo S8 &&é@
1. XY 2) XY3 3) XoY 4) XY>
3. & [(Ir) Swreseodd w@g@;w QOES DIFR0 ns2 np3 e GoEnod.
1) Va 2) IVa 3) Ila 4) 1la
4. & (8od U BI8 @ HBSmen e Sotod.
1) Be 2) Mg 3) Ca 4) Ba
5. 88 (Bod Suroseen pBHd @chIEsn $Eho [E0km.
1) F<C<O 2) F<O<C
3) O<F<C 4) C<O<F
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4. Siciv WOW0

Swogrgomeen:
o 05 B (VIL) 185 (o5 S aardin sreseen ke smreseod®

NP SEN: z‘,ﬁctg%oéézéa EOAK0EToW.
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o Bo& & & HELrenHO &g 00@35@ 2EPON0R) NN béo)é 0GP >
2080 OEPR.

o OPAE DOTER) ?86 8)653?35 2080 Sae ao@éfmoéﬁ 2080 8 Ere ©otrdd
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0¢%5 DB

© OUFRE worrd) Y Q8 wogo Soe 00@23005 2050 @ ErPTe @otrE.

o B0 0BPE0)O 0L 20D Sjcﬁaéwé&ééé’s B 1.9 So 008508 QBN &8
P 200 VY.

o 0P8 équoé sorsedeeen NaCl, MgCla, Nas0,AlCl;s ete

¢ BoH DBEFeaIL S 00@85@ BEQB0 Sy HoH 85%5%0 T 336055;5
lela ] D@ ah 2080 ®otrd. ad o8ty HEErH 5/3)(5?3 2360563363.

¢ Boh HBEPDL DG 28 aotscgﬁ 2208 H0HESe T0° ¥ 2050, Bok aetscgﬁ
206en HoHsSEo To° BRR0G0 QB YEEPQD. D 30@55 2308260 égb%)lm
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o 3H5HBredodH wogred amestseey Ha, Fa, Cla, Oa, Na, CHs, NHa, H,0, HCI

o 2.8 &)g@ ©3%0 Ko wairS zﬁaéw; &0 éé@éé &BE0 KO 9T 260313?3263
SISO éosp?g ©0EPH.

o B&aho EBES® edirie DN Sogg 6 KO 6

o B&cho EBE Hop SolEE HBE Jo%yea0 S D8 Bol$s Qo%ea0 BOA G0e008.

e 28 BESS HEHeeansde Al 33650)&5 $HBresdod Q0GP @Cﬁaé S5 Bresdad
Q080 ®otrY Grrsrdeeen Ha, Fo, Clz, Oz, No

o 3% & HBBrenH® 263&5?3 336‘))63 $HIBresdoD 205 cse)é $5o@Bredoh oo
©0erE &tesedesen NHs, HoO, HCI

o HBXEH© @623@.\70%9 OFPO300E STV AN ‘z”om&aaotﬁo, Lo“aégwém SIV ARSI
2050 AEYETew.

o M) DOFED P DOFKD B0 DO

e 1A%=101m= 0.1nm (1lnm= 10-°m)

o OURRE Horres QBE o Hrroren, HBS® dorbaran S0 &Y (5SS
ng@éa EDAY0LTom.

» VSEPR grozedy ?oéé)g LB P3SN WY ©E)B0 BN 20885
DHB0EEeR8 (HBFPLoTL

e VSEPR (50850 QG e300 g Sé%&a aeren (8o DPore Hosron.2.0erd
aogcgg 2208 — 2,068 aotscgg 208 >2,0808 &)@@5;5 208—- 2008 36@35 208 >
208 aeLsch 208 - 208 cDQJL_S;S 2308

o a8 HESPeHETD HSE8sHE ©8)erHy) 288" 2,88 8O BEmS Dogys®
B8 oQErgh)SH T GAFKErR) $o80E8mo FRBRERS) wotrt. HAV BT
POoR o3 PRI (HAFOOTTE.

o %08688e00 BoB HESTERH® zﬁe‘éaéaég)dﬁa QTRET %0605 109'.28” 208
&0 EOA Gotrom
SeSten OB weHS® O Ko8bESmo sp3 ) @ée)é’é BBhdn 5605w
208 S0 104.5° 898 so880 2,088 ae@ss a0t0 il DB B0

B ileve ©:5058% N $0888880 sp3 wend) ©%)8 1EDLES HBAW 208
&0 107 48 B8 50880 2,060 @0@85 2208 BB 208 @@@;5 23080 ¢S
DG go
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o sp2 H0E0EBE0 BB HELTEMHE DB (HWAH QT%EaeR)) LB 120"

208 S%0 8OA Hotrow smesedeeen BFs, CoHg, SO3

o sp 5088880 BoG HBFTEDDED THD QTEs))  S0OA 180° 208 %0
BOA Hotron errsrdeeeny BeCly, CoHa,COo
EEE odirs (SPHAPY)) HEKErIS odhire vode:
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DKy HOKTEIIN
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4 Shabo S 104°.31”
3 . 3_
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BSTERY D
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“ RN o AleIAL(D) .
(033&%426&633 22060 03y 5 oz
S0z
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2) %88 (CL)/ 8808 (F2) |1 6 1 0
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4) S (No) 3 2 1 2
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8) Bb&cho §BE (BeCly)

9) oS |BEFBE (BF3)

10) 2895 (268) (C2Ha)

ol O w| o

ol O o O

w| O w| D
=

11)0288F (C2Ho) (or)
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1) $8Page® e0i ang ISRV
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2) 33065 %EE)OQ) Lé:ﬁ;&éw Clz > Bry >Fy > Iy

8) ES ¥pEesS® woi B8 (Edw HF < HCI < HBr < HI
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633&%4262633 269 seadd oS Doy a@@j o)
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4) ©orgdAcHo §EBE(ALFs) | St Qogden Al &o& §883% | Al =3 F =3
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2.8 & Qoo T8 HSrdEw

1) 10", 2) 102, 3) 108, 4) 107,
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20T°0 éosp?g
1) 65 1
2) 8 2
3) &% 3
4) 358 2
28. GEs ¥50Br o oBsn B WD)
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I A OO R Q.B.No.
3 A

POLYCET-202

Hall Ticket Signature of
No. The Candidate
Time : 2 Hrs. Full Marks : 120
Note : Before answering the questions, read carefully the instructions given on the
OMR sheet.
(5805 esarenen EPofnesd 50008 OMR esaren SBHns® angds Srrvde erfidn HeHos.
SECTION—I : MATHEMATICS
1. After how many decimal places, the decimal expansion of the rational number
22—><5 will terminate?
23
m 0930 eE8RAD 50&)5 o‘:‘méb nidet:s &')gde'a o)g)ol &SB°0B @@w"o BB 90SHMON?
(1) 1 (2) 2
3) 3 (4) 4
2. The sum of the exponents of the prime factors in the prime factorization of 156 is
156 Bu¥); P57 S0 DS’ HIT 050 DBo
(1) 2 (2) 3
3) 4 4) 6
3. For any natural number n, 9" cannot end with which one of the following digits?
AP Ve Dog)g 1 K, 9" devd e 1808 D ©c3E” eoBo 5?2
(1) 1 (2) 2
(3) 9 (4) None of these
ADD )
4. If the LCM of 12 and 42 is 10m + 4, then the value of m is

12 508050 42 Jog)ge S0, 10m + 4 00D, M 0D
1) = o)
1) 3 2 3
(3) S (4) 8

/3-A

SPACE FOR ROUGH WORK /9508 e300

(1] [P.T.O.



1 1 1

+ + i
5. The value of log; 60 log, 60 logs 60 '°
LS SR
log3 60 log, 60 logs 60 035 De3
(1) o (2) 1
8 s (4) 60

6. Which of the following collections is not a set?

&2 1808 T°S° & KATAN0 28 B 5°E0?

(1) The collection of natural numbers between 2 and 20
2 08ain 20 B¢ Ko e J0950 FI0weao

(2) The collection of numbers which satisfy the equation x2-5x+6=0
XP-5Xx+6=0 & D5208erR) HHNI6D S0P FHNTADO

(3) The collection of prime numbers between 1 and 100
1 508050 100 3065 o (570 Sog)ge Hdwwao

(4) The collection of all brilliant students in a class

2.8 BEHBS"D ©0stH BTN DT DHTT0

7. If P={3m:meN} and Q:{3m:meN} are two sets, then

P={3m:meN} 28000 Q ={3™ :m e N} e03ock 9008585
(1) PcQ (2) OcP
3) P=0Q (4) PUQ=N

8. If A and B are disjoint sets and n(A)=4,n(AuB)=7, then the value of n(B) is

A 08030 B @0 o0 ddodoen 08d5w n(A)=4,n(AuB)=7 9008, n(B) He0H
(1) 7 (2) 4
(3) 3 (4) 11

9. If the sum and product of the zeroes of a quadratic polynomial are 3 and -10
respectively, then the polynomial is

a8 ég DTIHE ABE); ér"mege) 0B DoBosw og:ﬁooe)o DB 3 208050 —10 90008, €3 205008
(1) x?-3x-10 (2) x%>+3x-10
(3) x?>+3x+10 (4) x*-3x+10

SPACE FOR ROUGH WORK /08308 36550
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10. If x - 2 is a factor of the polynomial x2 —6x? +ax -8, then the value of a is

X5 —6X2 +ax—8 & pTVI68 x — 2 2.8 SSETOERNB, a BE); DEVD
(1) 10 (2) 12
(3) 14 (4) 18

11. If o, B and y are the zeroes of the cubic polynomial 2x3 +x? -13x+6, then the
value of afyy is

2% + X2 ~13x+6 &S 50 2TVSB B, BN o, B, Y 0 @B, ofy B¥), devd
(1) 3 (2) -3
1 13

@ -5 @ -5

12. The number of zeroes of the polynomial shown in the graph is
TRS® BrDGD 2TVIB B, BT S0y
y

A

\/

Y
(1) O (2) 1

(3) 2 (4) None of these
A0 579

13. The pair of linear equations x+2y—-5=0 and 3x+12y-10=0 has

X+2y—-5=0 58a50 3x+12y—10 =0 & BOPoDH doE8ere 2shd

(1) no solution (2) two solutions
5D B BOC SO0 GOLTPON

(3) wunique solution (4) infinitely many solutions
IBE A5 008 @H0B FPEHRD GOLTON

SPACE FOR ROUGH WORK /9508 e300
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14. In a competitive examination, 1 mark is awarded for each correct answer while

5 mark is deducted for each wrong answer. If a student answered 120 questions and

got 90 marks, then the number of questions that the student answered correctly is
1
28 953 DBES®, (58 BBER FATETDE 1 5°50), AR, WA (FO By AT GRS 7 380, B,

a8 ;’)w:sg 120 L;’o@eéo IR [P 90 e é&l)ée&)oooé es g)w&g QB DITeeRren
CRSMINEIDRSR

(1) 90 (2) 100
(3) 110 (4) None of these
DD o)

15. Which of the following is not a quadratic equation?

&3 1808 TRS” B HY HEGEN0 5°0?
(1) (x+1P=x3-2 (2)  (x+1)° =3(x-2)

(3) (x+2P+3=x-1 (4)  (e+2)(x=1)=(x+1)(x-3)

16. If one root of the quadratic equation a(b—c)x2 +b(c—a)x+cla-b)=0 is 1, then the

other root is

a(b-c)x® +blc—a)x+cla-b)=0 ed HE LT 1 2.8 e, H08°E 0rresw

b(c-a) ab-c)
(1) a(b-c) (2) cla-b)
a(b-c) cla—Db)
3) bc-a) ) apb-o)

17. If the sum and product of the roots of the quadratic equation kx? +6x+4k =0 are
equal, then the value of k is

kx? +6x+4k =0 B HY IAFTe30 Q08); Trere B0, HTrere eerds DITHB, k ed

SPACE FOR ROUGH WORK /9308 360550
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18. If the numbers n - 3, 4n — 2 and 5n + 1 are in arithmetic progression, then the
value of n is

n-3,4n— 2 508 5n + 1 Jogsen 0SRES® G083, n Jend
(1) 1 (2) 2
3) 3 4) 4

19. In an arithmetic progression, 25th term is 70 more than the 15th term, then the
common difference is

28 WOSBES’ 25 B $5¢8H00, 15 D 553500 E083 70 5D 9000w, Ry B
(1) 5 (2) 6
3) 7 (4) 8

20. Which term of the geometric progression 2,2:/2,4,..... is 128?

2,242,4,..... % (HeEGS® 128 iy 55507

(1) 11th (2) 12th
(3) 13th (4) 14th
. . 2 2 2 )
21. If the geometric progressions 162, 54, 18, ..... and 8127797 have their nth
term equal, then the value of n is
2 2 2
162, 54, 18, ... 508080 o7 os g e MOEEEIO N DH FTPO0 DDTHID, N Hed
(1) 3 (2) 4
(3) 5 (4) 6

22. The points A(-5,0), B(5,0) and C(0,4) are the vertices of which triangle?

A(-5,0), B(5,0) 38050 C(0,4) ®osoes forenr Ko (@4Hessn DB?

(1) A right-angled triangle (2) An equilateral triangle
2.8 0028 |H8HEHL 2,8 0530252 (9802850

(3) An isosceles triangle (4) A scalene triangle
28 Q0BT (BgHasd0 28 DA D230

SPACE FOR ROUGH WORK /9508 e300

/3-A [5] [P.T.O.



23.

24.

25.

26.

27.

The X-axis divides the line joining the points A(2,-3) and B(5,6) in the ratio of
A(2,-3) 208a5n B(5,6) Docen 509 Bargoaed) X-e50 98580 dyd

(1) 1:2 (2) 2:1
(3) 3:5 (4) 2:3

If four vertices of a parallelogram are (-3,-1),(a,b),(3,3) and (4,3) taken in order,
then the ratio of a and b is

(-3,-1),(a, b),(3,3) 208050 (4,3) e B EX0S" BoLy) a8 SHroB DEOYe30 G0, TPROIDH TS,
a 508050 b © DY

(1) 4:1 2) 1:2
(3) 1:3 4) 3:1

1 1
If the points (a,0),(0,b) and (1,1) are collinear, then E‘*‘—:

b
(@,0),(0,b) 508050 (1,1) &9 DotoPHeo SEHATS, é+% =
(1) -1 (2) 0
(3 1 (4) 2

If the centroid of the triangle formed by the points (3,-5),(-7,4) and (10,-k) is at the
point (k, —1), then the value of k is

(3,-5),(~7,4) 08050 (10,—k) &9 Doto)o8’® A8E |eheso B, KHtbdg Soso, (k, —1) Dok
DY &e00B k de0D

Q ™
(1) 1 (2) 2
3) 3 (4) 4
If AM and PN are the altitudes of two similar triangles AABC and APQR respectively
and (AB)? : (PQ)?> = 4:9, then AM : PN =
AM 508050 PN &0 3ot 8778 |880e385 AABC 08a50 APQR© &)®oen S8 o8dsw
(AB)? : (PQ)? = 4 : 9 eo0®, AM : PN =
(1) 3:2 (2) 16:81
(3) 4:9 4) 2:3

/3-A
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28. In the given AABC, if DE || BC, AE = a units, EC = b units, DE = x units and
BC = y units, then which of the following is true?

QY0 $005°0 AABC &', DE | | BC, AE = a d0~dew), EC = b dumde), DE = x 0505°06 508050
BC = y 06y @008, Se 808 TS 8 S85007?

A
D E
B c
(1) x=—7 2) y=—
a+b a+b
_a+b x _a
6 *="oy O

29. If the lengths of the diagonals of a rhombus are 24 cm and 10 cm, then each side of
the rhombus is

28 oroR (D DB0BYes0) BooY); o DeHeo 24 Ro. . HBakn 10 Do. . e 90008, D (9

£025500 DCED)
(1) 12 cm (2) 14 cm
12 o. do. 14 o. 2.
(3) 15 cm (4) 13 cm
15 o. . 13 o. 2.

30. In the given figure, PA is the tangent drawn from an external point P to the circle with
center O. If the radius of the circle is 3 cm and PA = 4 cm, then the length of PB is

20 508°, PA &8 erirg 20t P 0oé O oo Ko Hed8 Rabedd )5de. 88 oo
3 0. §0. 508050 PA = 4 0. 0. ©@ond PB Bk, D)

A
3 cm 4 cm
(@) B P
(1) 3 cm (2) 4 cm
3 o. d. 4 o. .
(3) Scm (4) 2cm
5 o. . 2 o. .

SPACE FOR ROUGH WORK /9508 e300
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31.

32.

33.

In two concentric circles, a chord of length 24 cm of larger circle becomes a tangent
to the smaller circle whose radius is 5 cm. Then the radius of the larger circle is

B0l bééo@ Eﬁg@"’e)ess, 24 0. 0. D) Ko D& Zée)ééoo B, &g, 5 o. . 3)"’5@1365;5&) Ko DY é&@”ﬁ)g
—o Q ) () -0
BB 0B, e BB Bk, TGO

O
5cm
A 24 cm B
(1) 8 cm (2) 10 cm
8 o. . 10 o. .
(3) 12 cm (4) 13 cm
12 o. %o. 13 o. %o.

The area of the circle that can be inscribed in a square of side 10 cm is

10 0. 0. ghHasore Ko HESRHH0S® eﬂoééggﬁoba)&é 2)Bo B, PBPegH0

(1) 40m cm? (2) 30m cm?
40m ¥.20.20. 307 ¥.20.20.

(3) 100m cm? (4) 251 cm?
1007 ¥.%0.20. 251 ¥.20.20.

If the height of a conical tent is 3 m and the radius of its base is 4 m, then the
slant height of the tent is

2.8 B0gLY) &5°8 K80 BE); HB) 3 . H0BAsL TR e W?S@vgéoo 4 3. @008, &3 S0 By,

TR0 DB

(1) 3m (2) 4m
3 . 4 2.

(3) Sm 4) 7m
5 . 7 .

/3-A
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[8]



34. If the radius of the base of a right-circular cylinder is halved, keeping the height
same, then the ratio of the volume of the cylinder thus obtained to the volume of
original cylinder is

28 (550 9)B75e8 B GBo%); 800 R 0D, T°D &I° TGRGR0R B8 BRoY éegooo@, e3 Dsome
DED By 20800 @den BESHne HOIBITET DS
(1) 1:4 2) 2:1
3) 1:2 4) 4:1

35. If tan6 = \/5, then the value of sec6 is
tan® = /3 @and, sec 0 EBooE); dewd

(1) (2)

(3) (4)

2
V3
2 3

36. A chord of a circle of radius 6 cm is making an angle 60° at the centre. Then the

length of the chord is
6 0. . TR0 EORD 9)B0S® 2.8 a5 Boo D 60° © §%30 BRYOB. OB 5 ey FD

(1) 3 cm (2) 6 cm
3 o. . 6 o. .
(3) 12 cm (4) 3v3 cm
12 o. do. 343 %o. .

37. The value of tanl0° tan15° tan75° tan80° is
tan10° tan15° tan75° tan80° 3Bo0E); DD

(1) -1 (2) O
(3) 1 (4) None of these
ADD )

38. If tan®+cotd =5, then the value of tan?0 +cot?0 is

tan® + cot® = 5 esond, tan20 + cot2 0 BooE); eV
(1) 1 (2) 7
(3) 23 (4) 25
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39.

40.

41.

42,

c0s 36°cos 54°-sin36°sin54°=

cos 36°cos 54°—-sin36°sin54°=
(1) 1 2) O

1
@ -1 4 5

If two towers of heights h, and h, subtend angles of 60° and 30° respectively at the
mid-point of line segment joining their feet, then the ratio of their heights h, : h2 is

h, %8050 h, d8oe EORS Boch RPDTeen 763 oo $92% Bar oo @Bk, 0855 VoY Mo
Dt &s8sE esen SO 60° 2080k 30° @B T3 dBe dYB h, : h, =

(1) 1:2 2) 2:1

3) 1:3 4) 3:1

The angles of elevation and depression of the top and bottom of a lighthouse from

the top of a 60 m high building are 30° and 60° respectively. Then the difference
between the heights of the lighthouse and building is

2
Q-

30° $:8a5 60° ésgs 508050 D3y §%e BikYe00B, B Fogo BA 590 G0, JBL BesH0

60 0. & Ko 28 PIdo P od 28 8% C‘rgoa’éo BooE); P D BB 9K ey SB[

(1) 20m (2) 80m
20 &v. 80 %v.
(3) 60m (4) 40m
60 %o. 40 .

Which of the following cannot be the probability of an event?

&5 808 TOS® .8 0ead Boog); Sogrdgd OB 8?2
1) 0 2 2
(1) (2) 3

5
@ 7 () 1

/3-A
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43.

44.

45.

46.

If one card is drawn at random from a well-shuffled deck of 52 playing cards, then
the probability of getting a non-face card is

2T E00EN 52 0¥ Sg),e0 Ko 2.8 8y 20o0d OISy RSO 2.8 5P e@?\)éé&)oooé, & 5°8) S0 57
558908 Ko Rogrng®

3 10
1) 13 (2) 13

7 4
(3) 13 (4) 13

A lot consists of 144 ball pens of which 20 are defective and the others are good.
Rafia will buy a pen if it is good but will not buy if it is defective. The shopkeeper
draws one pen at random and gives it to her. The probability that she will buy that
pen is

28 oSS’ 144 ard DYoL o). TBS® 20 S50 N, DRADD 20D, EPAIT® 00D DIYR
DR 5706008, STHHEI0NHAD DY ETHED. LISEmRdE CIE)DEONT 8 DY B e
AR T &) §TR0R"L DALERS Ko Sogrdgd

) = n 20
(1) 36 (2) 36

31 31
B 36 ) T4

A bag contains 3 red balls and 5 black balls. If a ball is drawn at random from the
bag, then the probability of getting a red ball is

28 $00S° 3 Y woBoen BBAN 5 Hen woBey KoY. & 0D Wod ADIEGIET &8 20

BAVIE 98 DY 208 1L Ko HogrHgd
(1) (2)

(3) (4)

©|ul N+~
w|lw ~|w

If the mean of the following frequency distribution is 15, then the value of y is

e (808 D93y DeresoH B, B 15 od, y deosd

x[5]10]15[20]25
fle|8 |6y |5
(1) 8 2) 7
(3) 10 4) 9

/3-A

SPACE FOR ROUGH WORK /9508 e300

[11] [P.T.O.



47. If the difference between mode and mean of a data is k times the difference

between median and mean, then the value of k is

2.8 (BP0 BB00E); 2TVTEI 08050 e908 :ﬁoégﬁo‘cﬁwo :63&623 23650, T éxé?sﬁééao 208050 e90¥ mcsagéo:me)

Be8 ke Bex 00D, k 0D
(1) 2 (2) 3
(3) 1 (4) Cannot be determined

E208%),8%0

48. The median of the first 10 prime numbers is
2006863 10 (557 Sog)se D0esse dewd
(1) 11 (2) 12
(3) 13 (4) 14

49. For the given data with 50 observations ‘the less than ogive’ and ‘the more than
ogive’ intersect at the point (15-5, 20). The median of the data is

28 &T07°08 38°es HBAL eNG e L8500 50 ©oFeR now. © (155, 20) & ot 9
POGOWIKIOLTHON. ©00LB $T°080 BY); S0¢5B0

(1) 155 (2) 20
(3) 145 (4) 15

50. The modal class for the following frequency distribution is

&4 1808 DPREYg Dge00 Q) ePTOTE BSHSD

x | Less than Less than | Less than | Less than [ Less than | Less than
10 20 30 40 50 60
10 s 8%, 20 smyoxys | 30 smpoxys | 40 sy ess | S0 sayexs | 60 s 8509
f |3 12 27 57 75 80
(1) 30-40 20 - 30
(3) 10-20 50 - 60

/3-A
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SECTION—II : PHYSICS

51. The value of —-10 °C temperature in Kelvin scale is
3950 H°90S° ~10 °C &pis dend
(1) 283K (2) 263K
(3) 273 K (4) OK

52. According to the principle of method of mixtures, if A and B are the net heat lost
and net heat gain respectively, then

0[S0 TS BIBO (55750, A 58050 B 00 S50 BE559e) %0009 o 98050 390 SHeo

(52003 €50 ond
(1) A>B (2) A<B
(3) A=B (4) None of these

A0 379

53. When wet cloths dry, water in it disappears. This is due to

B 280 G WOVBHED, 9080 D ST DB, 52530

(1) freezing (2) condensation
S0DesdH0 088880

(3) melting (4) evaporation
B5DED0 RNARES

54. The relationship between average kinetic energy (E) of water molecules and its
absolute temperature (T) is given by

D D8ITe0DO BT HBestE (E) 508050 o0 380 &i1® (T') © Jogy Sowogso

1 1
E o« — E < —
(1) T (2) N2
(3) E«xT (4) E is independent of T
T E 358566880
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55.

56.

57.

58.

59.

Pick the false statement on specific heat.

808 T3S° DIPHH0P BYP TEI IB?

(1) Its value is same for all the substances
B2 devd o) Sloys SECRMMAY

(2) Its S.I. unit is J/kg-K
82 S.I. Sdoesso J/kg-K

(3) Its value is high when the rate of rise (or fall) of temperature is low
BD o0 I DB &S DEOINS (B BIE) Bew Qo

(4) Its value for water is 1 cal/g-°C

2e38 o0 Qe0H 1 cal/g-°C

Freezing of water takes place at a temperature and atmospheric pressure of
D FoREHH0 Do &S SoBA TTHSe DETR HEBIT

(1) 100 °C, 1 atm (2) 1°C, 100 atm

(3) 0°C, 100 atm (4) 0°C, 1 atm

Refraction does not take place when the angle between the incident light ray and
normal to the interface is

38 5708 88e708 0B ©02rdE Bodsy 9 §%a0 5 51885950 BN

(1) o° (2) 22-5°

(3) 45° (4) 60°

The refractive index of a medium is 2. The speed of light in that medium is

2.8 Q880 Bo0E); é@eﬁzﬁé Ko8950 2. €3 ASIPHEOS’ SPoBHKKW

(1) 6x10% m/s (2) 10®°m/s

(3) 5x10% m/s (4) 1-5x10% m/s

Which among the following are used in transport communication signals through
light pipes?

BHTTY 08T (980 BAHTERE T°eh ST0SReren

(1) Plane mirrors (2) Concave lenses
QDO B58ye5°e0 DTS Eeaseen

(3) Prisms (4) Optical fibers
BERSEN &8s pabdey

/3-A

SPACE FOR ROUGH WORK /08308 36550

[14]



60. Which among the following statements on mirage is false?
DOEHTHOL 00PN (808 TRS® By TEFW
(1) It is an optical illusion
8 CSQ)E (85530
(2) It is the real image of the sky

78 85730 ABWE); &3 (DD0VH0
(3) It appears on the distant road

B Er8Y 5% E1D08
(4) It appears during hot summer day

B3 00K V0N

61. If v, and v, are the speeds of light in the two media of refractive indices n, and n,

respectively, then

n, 08ako n, 518859 18250 denHen EORD Bok) AIrHSTeS® SPodd e HEHM v, B0 v, 9000

vl_nl vl_nQ
1) 5 " @) o Ty
2 2 2 1
v _ M b N2
) L, "\n 4 . "\n
2 2 2 1

62. Which of the following rays undergoes deviation by a lens?
1808 T7BS° Ko Do VD0 ot SPod E8eren
(1) Ray passing along the principal axis
D50 Ko ) 8o
(2) Ray passing through the optic centre
&8 Boo rowe 8 Sderen
(3) Ray passing parallel to the principal axis

PERRE dATroBSoT DY) SSeTeen
(4) None of the above

A0 579
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63. Pick the correct answer from the following two statements :
1808 Bockd TEGHNO 00 BBAH IHTGH0 J0DE BWE0G
(@) Virtual image can be seen with the eyes.
DG (B0 Eoe38 E25:008.
(b) Virtual image can be captured on the screen.

T (IDD0LRY BED DO

(1) Only (a)is true (2) Only (b) is true
(a) S0 Deso (b) S°BR0 De8H0

(3) Both (a) and (b) are true (4) Both (a) and (b) are false
(@) 508050 (b) Bokre desd (@) 28050 (b) Bosre HIPS

64. The lens bounded by two spherical surfaces curved inwards is

B0t DI Aes°8 &:38Berot) SHTPHE HoR &) Ser¥o

(1) biconvex (2) biconcave
850858 B)erses

(3) plano-convex (4) plano-concave
DB KH087°5°8 DBO J)eIrseY

65. If the object and image distances due to a convex lens are x each, then its focal
length is

2.8 50857578 £e050 ABE); HA) 8w (B0 SeTren zu§°b§be3 X 90008 mwéoééo
(1) 2x (2) x/2
(3) 2x/3 (4) 4x
66. Irrespective of the position of the object on the principal axis, a concave lens
always forms an image of nature

(DGE0 D 5‘@0@ a@v:soﬁs 0200850 BEIOT®, 2.8 HeTrseE eso Qgg@)dﬁ? bq)ém ESLELVIIARSINALVIVON

(1) real, invert (2) real, erect
ez, Boooenne Q3 DYDY

(3) wvirtual, erect (4) Does not form any image
20T, DV 98D0810 ELBDED
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67. Usually Doctors, after testing for defects of vision, prescribe the corrective lens
indicating their

RGBT G583, B R SBG0DD HETH, LS00 e 503577 (808 T3 ErH0S” R AR

(1) radius of curvature (2) refractive index
DS TN 518859 Koeaso

(3) mass (4) power
(8550°3 0850

68. Farsightedness is called
&I°8) IO Jgdor DIeEROR, SR8 SudHery I8 JDIESEDED) cse)g’.bxﬁsaéw

(1) hypermetropia (2) myopia
aqg S ENN Y

(3) presbyopia (4) cataract
S lNel ERepS

69. Relationship among the speed of light wave (v), wavelength (A) and frequency (f) is
given by

208 BBoK Do (V) BSoK fo.;géo (A) SoBas» o850 (f) © Dogsy dowodso
(1) f=vA (2) v=ra

B8) A=fv 4) r=fv

70. Which of the following statements on red colour light is true?
1808 773S° IKHBK 520D H020HoD JeBD TGO
(1) It has low refractive index and suffers high deviation
8 ee) :5@255;6 K050 EOR, 9% V00 DooEos
(2) It has low refractive index and suffers low deviation
08 00y 85 Heago ¥R, wey DN DoEHB0E

(3) It has high refractive index and suffers high deviation

&8 98 :5@25:6:6 K0e350 EOR, 9BE D050 DoLEOS
(4) It has high refractive index and suffers low deviation

08 e8E H8DD Heago EOR, Moy DBV 0B
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71. Blue colour of the sky is due to the scattering of light by the molecules of
5708 (808 HEHTENNOE” HBEIE0 DOGEO HOD &850 VOO EIEBI0S

(1) H, (2) H,O
(3) CO, (4) N,and O,
N, %8050 O,

72. If i, and i, are the angle of incidence and angle of emergence due to a prism
respectively, then at the angle of minimum deviation

2.5 380 B, 58 §%30 0800 W0 §eTen HHI i 2B 7, & o Y DVOD §%0 H¢

BB

(1) =14, (2) >4,

(3) ¢ < i2 (4) None of these
ADD 5°D)

73. The minimum focal length of the eye-lens of a healthy human being is

856K§ S0BGD HIPIYD B, Foed-5eos SIUSEORAL(CLIINY

(1) 25 cm (2) 2:5cm
25 o. . 2:5 o. .

(3) 227 cm (4) 1lcm
2:27 o. . 1 o. .

74. Volt per ampere is called
S°G / 302008 B8 Sdrwo

(1) watt (2) ohm
e 8.0

(3) coulomb (4) joule
Ereood &S

75. The device which maintains a constant potential difference between its ends is called

HD BoL DHBew 985 @ne?;gosoé BEe0 EeORDo% oo

(1) Dbattery (2) multimeter
2508 20920608

(3) ammeter (4) electric bulb
2606 DS wew)
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76. Two resistors of 04 Q and 0:6 Q are connected in parallel combination. Their
equivalent resistance is

04 Q $08050 06 Q Jenden Ko Botd I8 PO HAT°0HE0 Ho*H0 Daded. $O8 96%50 e
(1) 1Q (2) 05Q
(3) 024 Q (4) 01Q

77. The junction law proposed by Kirchhoff is based on
80,9 (PAFBODD H0H DAN0 B BPVHEBS

(1) conservation of mass (2) conservation of momentum
(B550°3 DBBS e B0 Ld:béfm DB QB30

(3) conservation of energy (4) conservation of charge
38 DBgB Dot o DT DBBS Bor o

78. The materials which have large number of free electrons and offer low resistance
are called

¥ éogpéeS’s ?oogag OO SR &0d 90050 SR ok SErgren

(1) semiconductors (2) conductors
eagmt’m?oo EUSISEN)

(3) insulators (4) None of these
20855000 ADD 5°9)

79. A fuse is made up of

DB HAsB8 Tk S
(1) thin wire of high melting point

Sy &0&, 9B¥ 59835 %0:60 EOR &odicio

(2) thin wire of low melting point

DY &0k, ) B3I %@éo EOR &odicio
(3) thick wire of high melting point

JooGore 6ok, Q8 1$DEHD %v?éo EOR &0csen0
(4) thick wire of low melting point

SooKore &od, o) SIS %v;éo EOR &odico
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80. If the specific resistance of a wire of length 2 m and area of cross-section 1 mm? is

1078 Q-m, then calculate the resistance.

2 m 2res) 08050 1 mm” $o¢555)e Prrego SORS 2.8 &K 933 98%50 107° Q-m eand e &K 26°50

el
(1) 1072Q 2) 2Q
(3) 2x107°Q (4) 2x1072Q

81. An evidence for the motion of charge in the atmosphere is provided by

TTHEE0S” eI HOTRY) BOAHBA &TETSEd

(1) rainbow (2) mirage
QOGO DOEEDICO0

(3) thunder (4) lightening
68000 WY

82. The electric energy (in kWh) consumed in operating a bulb of 60 W for 10 hours a
day is

60 W o850 o wey) 2.8 8”10 Howeo PGB DABIHo g538 (kWh of® )
(1) 06 (2) 6
(3) 36 (4) 12

83. The scientific demonstration of H.C. Oersted is related to the study of

H.C. es0008 R& wrnahon Seddad (36@rKo

(1) electric discharge through air
N 3)650?35 &&Bo

(2) relationship between voltage and current
S'Be98, DesogS (S8 Bogg Bowocso

(3) magnetic effect of current
DS (S0 HY 0,08 (9gTD0

(4) refraction of light

P08 91845990
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84. Pick the correct answer from the following two statements :

85.

86.

1808 Both TEFHNO0E HBAPR ISTTRHO JodE DOHoS :

(@) Within a bar magnet, magnetic field lines travel from south pole to north pole.
$S0GaH?) 080 S, £90503r),0% 200V K885 @ydo H00é &BBE)H0 PHB [Hosreedaron.
(b) Outside bar magnet, magnetic field lines travel from north pole to south pole.
50G°05HR°); 08B0 VIO, 90 2000 &8Y $ydo 20od dé\e’acﬁe):so YY) (Hosreedaron.
(1) Both (a) and (b) are true
(@) 208050 (b) Bokr® Ded
(2) Both (a) and (b) are false
(@) 508050 (b)Bor B3PS
(3) Only (a) is true
(@) ST°BI DD
(4) Only (b) is true

(b) 5585 Desdo

Weber is the S.I. unit of

D20 @008 B8 S.I. [P0

(1) magnetic pole strength (2) magnetic moment
eaoi)@vboé qﬁq)é:()éogéoo eaoi)@vboé (87°080

(3) magnetic flux (4) magnetic flux density
9A0V?),;08 9PI°I°0 9A0V7;08 9PT°IT° 0[S

The magnetic force acting on a straight wire of length [ carrying a current I which
is placed perpendicular to the uniform magnetic field B is

[ 2res) B0BA50 T 055 (W0 SOR i) 2.8 SR JEBY e9d$HI),08 B0 B K> 000N &0DNHE), €
SR 3 DA 9w 08 o

(1) 1IIB (2) I/BI

(3) B/II (4) I°Bl

/3-A
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87. Mechanical energy is converted into electrical energy in

ASTO|BE $8D DEgS BEM® HIEY) AGHHN

(1) motors (2) electric geysers
doed D5 RSB

(3) generators (4) televisions
2350608 B99z:S

88. The device which contains slip rings to reverse the direction of current through
coil is called

HI0QS® DEgH (T B8 HIBBE BB HI°8)50S” &DBIHHE YD BorHORO EOR &0k SHHN

(1) resistor (2) Dbattery
D8°50 egeaB

(3) electric motor (4) solenoid
DB DIerd dron&

89. An increase in magnetic flux through a coil of 500 turns in 0-1 s is 0-:001 Wb. The
maximum induced EMF generated in the coil is

500 %06 SORD 2.8 @Kiﬁoéégé‘s 0'1s & 8BRY dHA,08 wPaTro NG 0:001 Wh. eoid®
DGHED HBY (288 dEgHTOE 2B

(1) S0V (2) 10V
(3) 05V (4) SV

90. If € and At are the induced EMF and time respectively, then the change in magnetic
flux is given by

£ 08050 At &0 SEIT (D8 ado?sega‘be)g 200 805 5700 WoVBD 9CA0O);08 ©9PT°I0 DI°EY)

n 2) eat
G) (4)  Jeat
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91.

92.

93.

94,

95.

SECTION—III : CHEMISTRY

CHSCOOH solution turns red litmus into
CHSCOOH (PHEI0E 3& e%)&f) 5@3):6?{))633

(1) blue (2) Remains red
DOB0MHE HoeBH JEIYHBOKITD &GoEORL

(3) colourless (4) None of these
égdirééomm D 379

Identify the hardest substance in the body.
#B80S° e300 KBRIH ergo B

(1) Calcium sulphate (2) Calcium chloride
QA0 SBed 52dao §0&
o o\ [l
(3) Calcium phosphate (4) Magnesium sulphate
52900 Fraed oRaDHo Byed

2HCl + Zn ———

(1) ZnCl, (2) ZnCl, + Cl,
(3) H, (4) ZnCl, + H,
Methyl orange shows colour in acidic solution.

52 ([TPHER00E) DPS e380F EAIIHE O B0l BIHOBIR

(1) yellow (2) red
I Nleti)!

(3) green (4) blue
55039 deo

Which of the following is not correct?

1808 °0S° Dzs0 528

(1) 2p° (2) 3s!
(3) 4f (4) 2d°

/3-A
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96. Quantum numbers of a subshell are n = 2 and [ = 1. Identify the subshell.
n=2 8050 [ = 1 55080 J0500 [0 &S50 I
(1) 2s (2) 1s
(3) 2p (4) 2d

97. [ values of subshells d, s, f, p are respectively
d, s, f, p &358)0°0 [ de0Hen HSOJ

(1) 1,2,0,3 (2) 3,2,1,0
3 0,1,2,3 (4) 2,0,3,1

98. In visible light, red colour possesses
&y855°0RS"D JEOYB0H
(1) high wavelength and high frequency
¥ BEoK @qgééw 0800 ¥ iﬁ?és?fg):ézso EOR &0t
(2) high wavelength and low frequency
Q8 HSoN Qggcﬁoo D0Bow B @0?63@:650 AR &0
(3) low wavelength
B0 BTN fo.;gééoo AR &0
(4) All of the above
DO SH)

99. Identify the degenerated orbitals.
808 TRS® 5088 Mo ebyerd)d HBood
(1) 2px 2py 2pz (2) 2s, 3s, 4s
(3) 3p, Spy 3pZ (4) Both (1) and (3)
(1) So8asn (3) Bocsse

100. Elements having 5, 6, 7 valency electrons are
5,6,7 éoa)éeS’s J0d) OO o DTesTe
(1) P, S, Cl (2) P, Cl, Na
(3) P,Cl S (4) P, S, Na
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101. Electronic configurations of Mg+2 ion and Cl ion are
Mg"? a0 $:800 Cl~ @die Jogs drmgosnes

(1) 2,8and?2, 8,8 (2) 2,8,2and?2,8,8
2, 8 %08aiw 2, 8, 8 2,8, 2 %08a» 2, 8, 8

(3) 2,8,8and?2,8 (4) 2,8,2and?2,8,7
2, 8, 8 $08a» 2, 8 2,8, 2 %08a» 2, 8, 7

102. Coordination number of Na® in NaCl crystal is
NaCl 5)e3506° Na" GBoog), $5:50350% Soas

(1) 1 (2) 6
(3) 2 (4) 8
103. Bonds present in Nitrogen molecule are
DSBS WEVHSD WS _ &)d.
(1) 3o (2) loand 2rn
1o 0803w 27
(3) 3m (4) 2mand 20
21 080 20
104. 132, 232, 2p6, 332, 3p6 configuration is related to
152, 2s%, 2p°, 352, 3p° dOES DTG % 3oBI8.
(1) p3 (2) CI’
(3) s (4) All of these
a0
105. The number of electrons gained by non-metal element is equal to its
28 ST BoTreEan 08D Q@Ls;éoo nvaogp?s oD 8 35000%0.
(1) wvalency (2) group number
38)&){\) ™) éo&)zg
(3) bond length (4) All of these
2083 Qgém ea?()&oin
106. Corrosion of copper produces
oR EO0H00 FoBIPE _ ByeoR.
(1) copper oxide (2) copper carbonate
556 e53 6 538 5°55y%e5
(3) copper sulphate (4) pure copper
5295 38ye5 R5ND o°R
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107. 22-carat Gold contains
22 B85y womsan _ HoBao %0 8OR éocorn.
(1) 22 parts of Gold + 2 parts of Nickel
22 g7 oSN + 2 grreen 93¢
(2) 22 parts of Gold + 2 parts of Copper
22 gPree 22080 + 2 grerren o°R
(3) 22 parts of Gold + 22 parts of Silver
22 23 0omE0 + 22 gereen dod

(4) 22 parts of Gold + 2 parts of Chromium
22 gre 20mS + 2 e (50000

108. Formula of Rust is

BO) A8, FeERe”
(1) Fe,O; x H,O (2) Fe,0, x H,O
(3) Fe(OH), (4) Fe(OH),
109. Chemical used to remove impurities from ore is called

TN BT SOR0HIL 6 SRy 906378,
(1) gangue (2) mineral

™on DL
(3) flux (4) slag

1$555°8 S*R000

110. By moving top to bottom in group, valency will
TPHS® R D008 (808 Hy S8, Tl

(1) increase (2) decrease
DEHHB0E BHBY

(3) No change (4) increase and decrease
DIPEE0 DEHN B BKH0

111. Atomic number of the element of VA group, coming after nitrogen is
VA £ 3085 J|e5°aS 0758, & (IS 93y 0ol 565570 D09
(1) 7 (2) 15
(3) 14 (4) 17
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112. Identify the element that belongs to 2nd group and 3rd period.

B (P S08050 3 D DBAHE £ DoBD H0°eE0 I8
(1) Na (2) Al
(3) Mg (4) Cl

113. Identify the correct statement.

28 €900 RE530065 ([IeH) X0 0BG

(1) All s block elements are metals

S &P5 resel) St
(2) All p block elements are metals
P 2 Soresceld) Saten
(3) All s block elements are non-metals

S 2P5 DICOSOR) 9S50

(4) All p block elements are non-metals

P e Doresceld) e Sten

114. VIA group elements are called

VIA /07 00°05°00 _ 90838.

(1) chalcogens (2) oxygen family
TS B9) e58)230 0000

(3) halogens (4) Both (1) and (2)
S ey (1) So8o%w (2) Bocsse

115. Identify the structure of propyne.
808 TRS” [P Y DTYEIO B
(1) HC =CH (2) H,C—C==CH

(3) H,C=CH— CH, (4) H,C=CH,

SPACE FOR ROUGH WORK /9508 e300
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116.

117.

118.

119.

120.

R

C = O functional group indicates
R/
R
C = O 53005 55007570 DS 0
R/
(1) aldehyde (2) ester
esdrs A8
G o (5]
(3) alcohol (4) ketone
&30S 8e5°S
Ethyl alcohol upon oxidation produces
23S @30, esdyisero Dobd 20 BB,
(1) ester (2) aldehyde
NS sdirs
(3) ether (4) alkane
S8 eﬁébs
Ethene and ethyne differ in

Be8S 208050 2D 0D @ozeen

(1) number of carbons (2) number of bonds
5°8)00 Doy 200 5oy

(3) number of hydrogens (4) Both (2) and (3)
& S Soy (2) So8asn (3) Bockre

Which of the following are called paraffins?
1Bo8 T°0S° De3D FTDY) @0eTEd?

(1) Alkanes (2) Alkenes
es&) oeo e39); 080
(3) Alkynes (4) Alkyls
e383); 00 8),00e0

Cough Syrup contains
&%) erREOS D B Ve[

(1) ethanol (2) ethanoic acid
3ES'S S s eso

(3) ethanal (4) ethyl acetate
ag>S 39S DVES

/3-A
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